LAMP

HANDLES,
PULLS

&

KNOBS

Handles, pulls & knobs are a kind of
hardware used as handgrip when
opening/closing doors or lids.

In recent years, for handles which
affect the appearance of the device,
high requirements are imposed in
terms of not only functionality and
operability, but also appearance
design.

Sugatsune has developed a wide
range of products, such as those with
delicate appearance and those made
of SUS316, carbon fibre, titanium and
PVC, suitable for various applications
and environments.

SUGATSUNE




MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

[Handle Type]
Large Handles ............ [TAP462  Handles (Back Screw Mount) ... [J1P.479  Pulls & Knobs ............ [ P523
Handles (Front Screw Mount) ... [J1P472  Recessed Pulls........... [AP505 Latch Handles ............ M P531

X
>
P4
(=]
-
m
»
)
c
-
r
(2]
Q0

[Search by Series]
. Design Handle Series M P460~

Large Handle

LARGE MDH MTH SSH SOR

HANDLES

HANDLES
(FRONT
SCREW
MOUNT)

HANDLES
(BACK
SCREW
MOUNT)

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

TBH SBH MSH AGH-L/AGH-T
< .
71
S

Handle (Front / Back Screw Mount) Recessed Pull Latch Handle |

KMH ZL-2001 XLA-HHA MDHL LY |
% ] 3
- oo LY

- 2
- . LS 1 i
! * i =
- L= -

. Aluminium Frame Support System AS Series [T1P483-488 . SEMI Standard-Compliant Series M P472~
m Innovative system for installing various functional parts to aluminium MG MH-P HH-P

frame by post-installation. Besides, parts for connecting aluminium

frame also available. o s

\}3 Handle H-42-C S h
A /

P f
- HH HH-KL160 HH-KP150
Bracket AS-H30 .
=3 |1 :i /‘

2

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

[Search by Type]

. Large Handles M P42~ . Handles (Back Screw Mount) M P479~
DESIGN DOOR HANDLE EXTRUDED ALUMINIUM HANDLE HANDLE
- MDH | ' HANDLE ﬂ MJH SGH-200
J ALH p
- M P462 M P469 ﬂ M P479 M P490
=™  ALUMINIUM PIPE , ALUMINIUM DOOR HANDLE STAINLESS STEEL
- HANDLE p HANDLE CJH - HANDLE
0 MTH SYH HGH
N M P463 \ M P469 M P480 M P490
ALUMINIUM PIPE ALUMINIUM DOOR HANDLE 4+ STAINLESS STEEL
HANDLE A HANDLE SJH # * HANDLE
® ® APH ) SOR 1 ZL-2001
M P463 / M P470 M P48t fh M P491
MACHINERY HANDLE ALUMINIUM DOOR WIRE PULL 7 STAINLESS STEEL
TBH . HANDLE SWP + . HANDLE
) — EP-330 (/‘ 1 ZL-2002
| M P464 M P470 M P4s2 fe M P49t
=  MACHINERY HANDLE STAINLESS STEEL WIRE PULL v BRACKET FOR STAINLESS
SBH DOOR HANDLE SWF % STEEL HANDLE
SSH ( J ZL-2301
- M P465 M P471 M P4s2 M P492
/f  MACHINERY HANDLE y STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL
/ MSH DOOR HANDLE HANDLE HANDLE
| RH-760 r 2 H-42-C I XL-JS
i\ M P466 M P471 . M P483 § M P492
(f  ALUMINIUM GRIP STAINLESS STEEL ~_ STAINLESS STEEL _ | STAINLESS STEEL
: HANDLE DOOR HANDLE . HANDLE y - & HANDLE
4 [ AGH-L/AGH-T MP # H-42-F14 4 r 1 XL-JSR
\
L M P467 MPa72 M P84 it M P.492
.~ ALUMINIUM GRIP STAINLESS STEEL STAINLESS STEEL
HANDLE y ' HANDLE HANDLE
AGH-F MG KC-S
B M P468 M P484 M P493
A HANDLE STAINLESS STEEL
= s _  T.100-8 HANDLE
Bl Handles (Front Screw Mount) Mpar2~ 4 kcR
i
STAINLESS STEEL STAINLESS STEEL - M P4s4 M P493
. . HANDLE . HANDLE STAINLESS STEEL STAINLESS STEEL
',( MG \l ' FT HANDLE . HANDLE
M P42 M P476 S~ HT75BL100 EK-S
STAINLESS STEEL STAINLESS STEEL M P4s4 M P493
_—— & HANDLE k= HANDLE STAINLESS STEEL STAINLESS STEEL
®_—& FTR g" FT £ [ 7 HANDLE HANDLE
w
Mra473 MP476 P o L2 EK-R
_—, STAINLESS STEEL STAINLESS STEEL M P485 M P494
& %= HANDLE 1= HANDLE STAINLESS STEEL F STAINLESS STEEL
& = FTT g FT-100-6.4 {0 L HANDLE o HANDLE
— MP473 MPpP477 . H75C ' - H35
STAINLESS STEEL STAINLESS STEEL M P486 M P494
s s HANDLE #= HANDLE STAINLESS STEEL iy STAINLESS STEEL
g FT-S280 & FT-110S { I . HANDLE : HANDLE
3 = e
M P474 M P477 y # H-42-8 ~ s . H-29
STAINLESS STEEL . STAINLESS STEEL "a Mepas7 | M P494
e *r HANDLE 4 HANDLE _» TITANIUM HANDLE STAINLESS STEEL
1 * FT N . us | Haz2eT HANDLE
¥ M paza A M P47 82 SERIES
HANDLE (STAINLESS, HANDLE M P87 M P495
f»’b TITANIUM) . = KMH _ TITANIUM HANDLE STAINLESS STEEL
J/h aLC Ve N HazcT HANDLE
MP474 MP478 ‘ = 1333
) STAINLESS STEEL HANDLE M Pag7 M P495
g-:.‘- HANDLE ﬂ MJH BRACKET FOR HANDLE STAINLESS STEEL
ol 4Lc ﬂ AS-H30 * HANDLE
g - - - -
MP475 ﬂ M P479 o o " g r » 11020
STAINLESS STEEL HANDLE M P4ss M P496
ﬂ HANDLE CJH BRACKET FOR STAINLESS STAINLESS STEEL
i 3LC @ STEEL HANDLE HANDLE
=¥
MP47s M P480 g H-42-Z DIH
STAINLESS STEEL HANDLE M P4ss M P496
-} HANDLE SJH ALUMINIUM HANDLE STAINLESS STEEL
[ EC-Y (‘ AM - HANDLE
el MPpazs M P48t " 11014
STAINLESS STEEL HANDLE M P4s9 M P496
<. HANDLE MH-P PLASTIC HANDLE STAINLESS STEEL
i EC-H PC HANDLE
d MP476 MP4s2 - 1100
M P489 M P497

w

z
>
z
=]
-
m

&
T
c
-
-
»
2

LARGE
HANDLES

HANDLES

(FRONT
SCREW
MOUNT)

HANDLES

(BACK
SCREW
MOUNT)

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

SUGHTSUNE



X
>
P4
(=]
-
m
»
)
c
-
r
(2]
Q0

LARGE
HANDLES

HANDLES

(FRONT
SCREW

MOUNT)

HANDLES
(BACK
SCREW

MOUNT)

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

. Handles (Back Screw Mount) M P497-~
STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL
_ HANDLE —~ 1 HANDLE = RECESSEDPULL TRUNK HANDLE
" ” 40 SERIES t} DS L= HH HCT-150
M P497 M P501 Mmrs12 Mrs518
STAINLESS STEEL 4 STAINLESS STEEL STAINLESS STEEL TRUNK HANDLE
~ HANDLE <~ HANDLE > RECESSED PULL MUD-140
w % DsI-110 ~ I \/ HH-AS2
Measo7 [0 M P501 MPsi2 mepsis
STAINLESS STEEL 3 STAINLESS STEEL RECESSED PULL TRUNK HANDLE
HANDLE HANDLE A HH-AS3 TMU-115
A ™ Dsi120 [ § o KB-SUS304 \f)
M P49s N M P502 MPrs512 MP519
STAINLESS STEEL §  STAINLESS STEEL RECESSED PULL TRUNK HANDLE
HANDLE HANDLE | HH-KL160 PT-148
" 63 ¢t ~} DS-SUS304 &
M P498 t M P502 MPs513 MPs519
STAINLESS STEEL STAINLESS STEEL RECESSED PULL STAINLESS STEEL RING
~ HANDLE HANDLE : ~ HH-KP150 PULL
" 30SERIES . 4 DL-SUS304 > ) 980843
[0 P49s L [ P502 MIP513 | Som— M P520
STAINLESS STEEL FOLDING HANDLE RECESSED PULL STAINLESS STEEL RING
! HANDLE HK  HH-AS2-TI =l e PULL
¢ XL-CU E é ) 1) 980641, 980642
M P499 s M P503 mesi3 | M P520
STAINLESS STEEL HANDLE RECESSED PULL - STAINLESS STEEL RING
4 HANDLE " SAZ-121CR g UTZ-130 PULL
é/ XL-CUR @ ). 980640
% ! .
MePage | M P503 MP514 P M P520
_ STAINLESS STEEL HANDLE RECESSED PULL . .  STAINLESS STEEL RING
4 HANDLE . SAZ-122 SD-160 PULL
- FB L J,: 26700
[ P499 = M P503 mMPs14 —_ M rs521
 STAINLESS STEEL HANDLE STAINLESS STEEL o = o STAINLESS STEEL RING
| HANDLE { 936 ~ RECESSED PULL \ PULL
KPH \ ﬁ HH-KS114 @ 26901
i Mmresoo | M P504 MPsi5 S M Ps521
__j STAINLESS STEEL HANDLE STAINLESS STEEL o _ o STAINLESS STEEL RING
rf HANDLE 4 937-102SCR RECESSED PULL J1° PULL
e 2 . ﬁ HH-DS114 9 26900
r M P500 M P504 Mesis | & @ MPs21
) STAINLESS STEEL HANDLE STAINLESS STEEL - STAINLESS STEEL
l-' HANDLE | AKH RECESSED PULL } HATCH PULL
*——1 EcH 5 é HH-K = . STOOSTHIS
Mesoo | M P504 MPs516 »"’" MPs22
. STAINLESS STEEL PULL STAINLESS STEEL 4 _ STAINLESS STEEL
1 HANDLE . AOT35 , RECESSED PULL - HATCH PULL
e r-\ KB . J HH-D " ST80, ST100
M P501 MP504 MPs16 W MP522
RECESSED PULL STAINLESS STEEL
‘ 5103 __ HATCHPULL
Recessed Pulls [ P505~ \ > &7 R
RECESSED PULL RECESSED PULL M P517 MPs23
' HH-JS HH-PS99 RECESSED PULL STAINLESS STEEL
"_ = HH-UD . HATCH PULL
M P505 M P508 ]] | 7 HRRS
RECESSED PULL RECESSED PULL WITH Mps17 M Ps523
’ HH-JW (&= VENTILATOR
- - o S UTAt0s
. [ P505 M P509
RECESSED PULL RECESSED PULL
HH-P . UP-600
L
M P506 Mmrs10
- RECESSED PULL RECESSED PULL
‘ AT-100 “ XLA-HHA
—
; -
M P507 MPs10
- RECESSED PULL RECESSED PULL
' AT-70 e | HH-M
: T
M P507 MP511
' RECESSED PULL RECESSED PULL
’ ATS-100 ES-611
M P508 P51

SUGHTSUNE




MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

B Puits & Knobs M P523-
KNOB STAINLESS STEEL KNOB
GD-20 CU-L-35
MPprs23 - Mps27

STAINLESS STEEL PULL
HS

STAINLESS STEEL PULL
RD

5

c® :
M P524 W M P527
STAINLESS STEEL KNOB PULL
‘_3 RS-38S & — ro
' »
‘ MP524 ® MPs527
KNOB PUSH KNOB
( J EXSEL ‘ : PKO4
Wiy
MP524 M P528
STAINLESS STEEL KNOB = STAINLESS STEEL
£y Rss “4) PUSHKNOB
- - . ZL-1908
- MPs25 M P529
KNOB KNOB (SMALL)
i ~ MRB 117
& ]
MPs25 - M P530
E KNOB KNOB (MEDIUM)
m GLA V 117
MPs25 M P530
KNOB KNOB (LARGE)
"'i-"’a."’-.  SGL 117
 d MPs26 MP530
STAINLESS STEEL PULL KNOB (MEDIUM)
) ) SD 117
- A 4
el il
M P526 M P530
KNOB
Mg
e
¥ N M Ps26

I
>
4
(=]
. Latch Handles MP531~ o
»
Picture Product Name Door Thickness g
=
- FLUSH SLAM LATCH UI-)
=y. P10-55H
o = ol
M P531
FLUSH SLAM LATCH
LJ-61
> = LARGE
: - HANDLES
M P531
FLUSH SLAM LATCH HANDLES
LC-65A (FRONT
2~3.2 SCREW
m MOUNT)
P532 P —
FLUSH SLAM LATCH :-IBPA’\(‘;?(LES
LC-48 SCREW
’ 1~2.3 MOUNT)
MP532
RECESSED
SNAP LOCK PULLS
SX-48
0.8~2.3
PULLS
MP533 &
PULL KNOBS
& & ATL-64
5 o 08-23 LATCH
M P533 HANDLES
PANEL LATCH
LC-PK32, LC-PL32
. v 1.2,1.5,1.6
M P534
LATCH HANDLE
LH-203
MPs535
L LATCH HANDLE
:] MDHL
" MP536

SUGHTSUNE



X
>
P4
(=]
-
m
»
)
c
-
r
(2]
Q0

LARGE
HANDLES

HANDLES

(FRONT
SCREW
MOUNT)

HANDLES

(BACK
SCREW
MOUNT)

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

MAREK Industrial a.s. ** marek.eu ** +420541420811**180227
[Search by Pitch]

Pitch Item Name  Material Installation Page
DS-30M
DS-30S
KB-30M M Pso1
o KB-30S Stainless
DS-30M-SUS304 | Steel
DS-30S8-5US304 P
51
KB-30M-SUS304
KB-30S-SUS304
ALH-50BL
30 ALH-50SL Aluminium M Pa69
ALH-50ST
a2 ZL-2001-32 Stainless M P491
XL-JSR40TT Steel | pack screw | HAP492
PC-45-B Mount
35 PoaBW Plastic M P489
40 H-42-B-9 M Pasg7
DS-50M
DS-50S
KB-50M M P501
KB-50S Stainless
45 Steel
DS-50M-SUS304
DS-50S-SUS304 0 P02
KB-50M-SUS304 ’
KB-50S-SUS304
AM-60B
50 AN-G0I Aluminium M P4s9
54 Us-70M Stainless| Front Screw MP477
US-70S Steel Mount ’
55 936-55-SCR Zinc Back Screw | oo
936-55-SNI Alloy Mount ’
57 FT-65 Stainless Steel | Front Screw Mount| [ P476
ALH-100BL
ALH-100SL Aluminium M P469
o |ALH-100ST Back Screw
H-42-C-8 Mount M P483
H-75-C-66 Stainless M P86
H-42-B-8 Steel M P87
2LC-80 M pPaza
2LC-80TI Titanium | Font Screw '
Mount I
4LC-82 MpPa7s
ZL-2001-64 M P49t
XL-JSR70TT MpPag2
64 H-29-64-SM —
H-29-64-SS ’
DL-70M
DL70S M Pso1
DL-70M-SUS304 P
51
DL-70S-SUS304
DS-70M Stainless
DS-70S Steel Back Screw
P Mount M P501
KB-70S
65
DS-70M-SUS304
DS-70S-SUS304 M Psoz
KB-70M-SUS304 ’
KB-70S-SUS304
H-42-C-1 M Pa4s3
68 MG-68 M P84
H-42-B-1 M Pa4g7

SUGHTSUNE

Pitch Item Name  Material Installation Page
PC-80-B
Plastic MPra4s9
68 PC-80-W
" Back Screw
AKH-76 Zinc Alloy MPso4
Mount L
7 AM-80I Aluminium M Pas9
XL-CURSOTT M P499
FT-80 Front Screw Mount| [ P476
XL-cugort | Stainless [ Pags
72 Steel r—
EC-80M
M P500
EC-80S
ALH-200BL
ALH-200SL Aluminium M P469
B 75  |ALH-200ST
ECH-75M
Mprso0
ECH-75S
76.2 |SWP-630/S MPas2
H-42-C-14 M Pa4s3
H-42-F14 M P4s4
80 H-75-C-86 MPrase
H-42-B-14 M P4s7
Back Screw |~ ...,
HK-80 Mount MPs03
82 FB-90 M P499
DL-90M
M Ps01
DL-90S
84
DL-90M-SUS304
M P502
DL-90S-SUS304
DS-90M
DS-90S
M Pso1
KB-90M
KB-90S Stainless
85 Steel
DS-90M-SUS304
DS-90S-SUS304
M P502
KB-90M-SUS304
KB-90S-SUS304
o8 FT-100 Front Screw | [P476
FT-100-6.4 Mount M P477
SWP-635/S M P4s2
EK-S635/M
EK-S635/S
KC-R635/M ——
889 [¢c-ress/s '
KC-S635/M
KC-S635/S
EK-R635/M Back Screw
Mount [ P494
EK-R635/S
MG-90 MPa4sa
90 AM-100S Aluminium M P489
XL-CUR100TT
M P499
XL-CU100TT _ | stainless
92  |EC-100M Steel
M P500
EC-100S
93 |MJH-93 Plastic | fort Sorewount, | ) pa7g
FT-T-120 Stainless Mp473
2LC-120 Steel
Front Screw MP474
2LC-120TI Titanium Mount
9% 4LC-114 MPa7s
SWP-696/S M P4s2
Stainless [ Moo
LF-12-96 Steel Back Screw M P48s5
ZL-2001-96 Mount
M P491
ZL-2002-96




MAREK Industrial a.s. ** marek.eu ** +420541420811**180227
[Search by Pitch]

Pitch Item Name  Material Installation Page
XL-JSR100TT M P42
H-29-96-SM
H-29-96-SS

M P494
H-35-96-SM
% H-35-96-SS Stainless
DIH-096 Steel M P496
DSI-110-96 Back Screw
Mount M P497
1100096
3096
MPags
DSI-120-96
ALH-150BL
ALH-150SL Aluminium M P469
ALH-150ST
KMH-100 Zinc Alloy | Front Screw | JAP478
MH-P120 Plastic Mount M P4s2
H-42-C-2 Stainless M p4s3
H-75-BL-100 Steel
T-100-8CR Brass M P484
m 100 |T-100-85
Stainless
H-75-C-108 Steel M P486
H-42-B-2
H-42-BT-2 M P4s7
Titanium
H-42-CT-2
ECH-100M me
i 500
ECH-100S Stainless
Steel I
HK-100 [ P503
AKH-108 ) Back Screw
936-100-DC Zine Mount M P504

100.5 Alloy
936-100-SNI

101.5 |SWF-640

1 P4s2

101.6 |SWP-640/S

101.6 |EK-S640/M

101.6 |EK-S640/S

101.6 |KC-R640/M

M P493

101.6 |KC-R640/S

101.6 |KC-Se4om | otainiess

Steel
101.6 |KC-S640/S
101.6 |EK-R640/M
M P494

101.6 |EK-R640/S
US-120M Front Screw | (o
US-1208 Mount
FB-110 [ P499

102 —
SAZ-121CR M Psos
i .5
SAZ-122 Zinc
Alloy r
937-102SCR Back Screw [ P504
DL-110M Mount
Mprso1
DL-110S
104
DL-110M-SUS304 me
i 502
DL-1105-5US304 | S2inless
Steel
105  |3LC-120 MP475
106 |FT-120 Front Sorew |y 176
Mount r——
FT-R-120 MP473
108 |PC-120-B
Plastic 1 Pa4s9
PC-120-W
TBH-400BL Back Screw
TBH-400SL Mount
Aluminium M P464
110 | TBH-600BL
TBH-600SL
FT-110S Stainless Steel | Front Screw Mount | (3 P477

Pitch Item Name  Material Installation Page
H-42-C-3 Stainless M P4s3
H-42-B-3 Steel M Pas7
AM-120B

110 |AM-1201 Aluminium M P4g9
AM-120S Back Screw
XL-CUR120TT | Stainess Steel Mount M P499
AKH-120 Zinc Alloy MPso4
XL-CU120TT M Pag9

112 EC-120M

M P00
EC-1208 Stainless
3LC-130 Steel | ntscrew | HAP475

115  |EC-H-135 Mount M P476

HGH-115SM Back Screw Mount| [T] P.490
: Front St Mount,

117 |CJH-117BL Plastic | ffori 3crew Viount | (] P.480
EC-Y-140 Stainless Steel | Front Screw | [ P475
KMH-120 Zinc Alloy Mount M P78

- | Front Screw Mount,
MJH-120 Plastic | ‘Hotk Sorow Mouni | A P479
H-42-C-4 M P83
H75-C-128 | Saniess M P4s6
Steel L -

120  |H-42-B-4

H-42-BT-4 M P47
Titanium

H-42-CT-4
FB-130 Stainless| Back Screw | T1P499
HK-120 Steel Mount M P503
AKH-130 Zinc Alloy 01 Ps04
DL-130M

M Ps501
DL-130S

124

DL-130M-SUS304
M P502
DL-130S-SUS304
3LC-145 Front Screw Mount| [ P.475
m 125 |ECH-125M
M Psoo
ECH-125S
SWF-650 Stainless M P4s2
EK-S650/M Steel
EK-S650/S
KC-R650/M M rass
127 |KC-R650/S Back Screw ’
Mount
KC-S650/M
KC-S650/S
EK-R650/M
M Pao4
EK-R650/S
SYH-128SL-M4
Aluminium M Pas9
SYH-128SL-M5
2LC-150 Stainless Steel me
474
2LC-150TI Titanium | Front Screw
Mount L
4LC-150 MpPa7s
LF-12-128 M Pass
ZL-2001-128
M P49t
ZL-2002-128

18 XL-JSR135TT MPag2
H-29-128-SM
H-29-128-SS Stainless

M Pao4
H-35-128-SM Steel Back Screw

Mount

H-35-128-SS
1333128 M Pags
DIH-128
11014128 M P496
11020128
40128 M Pag7

]

z
>
z
=]
-
m
&
T
c
-
-
»
2

LARGE
HANDLES

HANDLES

(FRONT
SCREW
MOUNT)

HANDLES

(BACK
SCREW
MOUNT)

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

SUGHTSUNE



MAREK Industrial a.s.

** marek.eu ** +420541420811**180227

I
>
=
S
‘rg Pitch Item Name  Material Installation Page
. DSI-110-128
= M P497
r 1100128 Stainless| Back Screw
[ 128 Steel M
7)) 3097 teel ount
-3 M P498
DSI-120-128
i~ | Front Screw Mount,
130 [SJH-130 Plastic | ok doow ot | A P481
132 FT-150 M P476
LARGE 135  |[FT-T-170 MP473
HANDLES EC-Y-160 Front Screw M Pa7s
Mount [ — -
US-160M
HANDLES 140 Mpa77
(FRONT US-160S
SCREW
MOUNT) XL-CUR150TT ———
HANDLES '
(BACK XL-CU150TT Stain Back Screw
SCREW 142 " ainless Mount
MOUNT) EC-150M Steel M Ps00
EC-150S
EEELESSSED FT-R-160 Front Screw Mount | [ P.473
DL-150M
M Pso1
PULLS 144 |DL-1508 Back Screw
& Mount
KNOBS DL-150M-SUS304 I P02
DL-150S-SUS304
LATCH 145  |EC-H-165 Front Screw Mount| [T P476
HANDLES
AGH-L150BL
M Pa67
AGH-L150SL
ALH-1000BL | Aluminium | D3CK Screw
Mount
ALH-1000SL M P469
ALH-1000ST
MG-150 Stainless Steel | Front Screw MPa72
KMH-150 Zinc Alloy Mount M P.478
MJH-150 Front Screw MPa7o
m 150 ) Mount, ———
CJH-150BL Plastic | gack Screw Mount | EH P480
MH-P170 Front Screw Mount| [ P.482
H-42-C-15 Stainless M P83
H-42-B-15 Steel
H-42-BT-15 Mpas7
Titanium
H-42-CT-15
HGH-150SM M P.490
ECH-150M M P500
EK-S660/M
EK-S660/S Back Screw
Mount
KC-R660/M
MPa93
152.4 |KC-R660/S
KC-S660/M Stainless
Steel
KC-S660/S
EK-R660/M
M Pag4
EK-R660/S
152.5 |SWF-660 M P4s2
2LC-180 Front Screw | HAP474
4LC-180 Mount MP475
SJH-160 Plastic | fortSorew Mount, | (T pag1
LF-12-160 M P485
ZL-2001-160
M P49t
ZL-2002-160
XL-JS165TT MpPag2
160 —
H-29-160-SM
H-29-160-SS Stainless | Back Screw
Steel Mount M P494
H-35-160-SM
H-35-160-SS
8261
M Pags
1333160
11020160 M P496

SUGHTSUNE

Pitch Item Name  Material Installation Page
40160
DSI-110-160 M r497
1100160
Stainless
160 3098 Steel Back Screw
DSI-120-160 Mount M P498
1163160
KPH-160 M P500
AOT35-180 Aluminium MPso4
170  |EC-Y-190 Front Screw Mount| [Q P475
XL-CU180TT M P499
172 EC-180M Stainless| Back Screw
Steel Mount M P500
EC-180S
| FT-200 Front Screw Mount| [ P474
75
SGH-200 Plastic | Back Screw Mount| [ P490
176  |FT-T-220 Front Screw Mount| [ P473
H-42-C-5 Stainless M Pass
Steel Back Screw
188  |H-42-B-5 M P487
Mount L —
AKH-200 Zinc Alloy M Ps504
190 MG-190 Stainless Steel | Front Screw Mount| [ P472
MDH-PC192 Plastic
M P462
MDH-PS192 Stainless Steel
SOR-200BL
Aluminium mra7o
SOR-200S
ZL-2001-192
M rP491
ZL-2002-192
H-29-192-SM
H-29-192-SS
M P494
H-35-192-SM
H-35-192-SS
8262
192 Back Screw M Pags
1333192 Mount
DIH-192
11014192 Stainless M P496
Steel
11020192
40192
DSI-110-192 M pPag7
1100192
3099
DSI-120-192 M P498
1163192
KPH-192 MPs04
196 |FT-S280 Front Screw Mount| [ P.474
AGH-L200BL
Aluminium M P467
AGH-L200SL
200 —
HGH-200SM M P4g0
ECH-200M M prsoo
XL-cuzzoTT | Stainless M P499
Steel L — -
212 |EC-220M
Back Screw M P500
EC-220S Mount
SYH-224SL-M4
Aluminium M P46
SYH-224SL-M5
224 L
8263 M P495
KPH-224 M Ps00
228.5 |SWF-690 M Pa4s2
230 |MG-230T Stainless | Front Screw Mount| [ P472
O L Steel | pack screw | MAP483
H-42-B-6 Mount M P4s7
250 MG-250 Front Screw Mount| [ P472
5
ECH-250M Back Screw Mount| [ P500




MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

Pitch Item Name  Material Installation Page
253  |FT-280 Front Screw Mount | 11 P474
254  |XL-JS260TT MPag2

ZL-2001-256
M P49t
256  |ZL-2002-256
KPH-256 M Prs00
H-42-C-7 Stainless Mp4s3
H-42-B-7 Steel Back Screw [ Pas7
Mount L
288  |H-35-288-SM
1 P494
H-35-288-SS
KPH-288 [ P500
1333292 1 P49s
292 L
XL-CU300TT MP4g9
APH-P300 Front Screw Mount
MTH-L300 MP463
MTH-T300 Aluminium | Back Screw
AGH-F300BL Mount
300 ——— [ P468
AGH-F300SL
MG-300T Stainless Steel | Front Screw Mount | 13 P.472
AM-310S Aluminium [ P489
ECH-300M Stainless M P00
305 |SWF-6120 Steel M P4s2
SBH-400BL
310 Aluminium Ml Pa46s
SBH-400SL
SSH-2540
316 MmPart
SSH-3240
2ZL-2002-320 M P4t
8264
MPags
1333320 Stainless
11020320 Steel [ P496
320 |DSI-110-320
M Pa4g7
1100320
DSI-120-320
M P4gs
1163320
AOT35-340 Back Screw |y pgoq
Mount = =
330 |EP-330
Aluminium
SOR-400BL Mpra70
335
SOR-400S
1333342 MPags
342 |DIH-342 Stainless
Steel M P496
11014342
MDH-PC350 Plastic
M P462
MDH-PS350 Stainless Steel
MSH-350BL
1 P466
MSH-350SL
350
AGH-L350BL
Aluminium
AGH-L350SL
M P67
AGH-T350BL
AGH-T350SL
352  |XL-JS360TT | Stainless Steel [ P4g2
APH-P400 Front Screw Mount | (11 P463
400 |AGH-F400BL | Aluminium P——
46
AGH-F400SL Back Screw
Mount L
416 |ZL-2002-416 | Stainless Steel M Paot
MTH-L450
450 Aluminium Back Screw M1 P463
MTH-T450 Mount
464 MP-500 Stainless Steel | Front Screw Mount| [ P472
480 |AOT35-500 Aluminium MPs04
DIH-492 Stainl Back Screw
tainless Mount
492 |11014492 Stes| M P4ge
11020492

Pitch Item Name  Material Installation Page
MDH-PC500 Plastic | Back Screw 0 Pas2
MDH-PS500 | Stairlss Steel Mount
APH-P500 Front Screw Mount| (1] P463
m 500 |AGH-L500BL
AGH-L500SL
M r467
AGH-T500BL | Aluminium
AGH-T500SL
SBH-600BL
510 1 Pa465
SBH-600SL
ZL-2002-512 M P4t
51 DSI-110-512 (0 P o7
Back Screw .
1100512 Stainless|  pount
DSI-120-512 Steel [T P498
SSH-2560
516 mMPart
SSH-3260
SOR-600BL
522 —— M P470
SOR-600S
Aluminium
MSH-550BL
550 M P466
MSH-550SL
592  |DIH-592 Stainless Steel M P496
APH-P600 Front Screw Mount
m 600 |MTH-L600 M P63
MTH-T600
SBH-800BL Aluminium
Back Screw M P46s5
SBH-800SL Mount
710
SOR-800BL
M rP470
SOR-800S
714 |MP-750 Front Screw Mount| [ P.472
SSH-2580 Stainless
716 Steel M P47
SSH-3280
750 |[MSHTSOBL | i mea
uminium 466
MSH-750SL Back Screw
Mount L
760 |RH-760 Stainless Steel mMPart
MDH-PC800 Plastic
800 800 M P4s2
MDH-PS800 | gtainless
964  |MP-1000 Steel | Front Screw Mount| [ P.472
SOR-1000BL
975 Aluminium M P470
SOR-10008 Back Screw
MDH-PC1200 | Plastic Mount
m 1200 M P4s62
MDH-PS1200 | Stainless Steel
Front Screw % Back Screw
Mount Mount

Ty

Quick Installation

O

z
>
z
=]
-
m

&
T
c
-
-
»
2

LARGE
HANDLES

HANDLES

(FRONT
SCREW
MOUNT)

HANDLES

(BACK
SCREW
MOUNT)

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

Toughness & Beautility

HANDLE

Sugatsune offers a wide range of handles

that combine rugged and durable construction
"toughness" for a range of operating environments
with functional beauty "beautility" that provides
optimum ease of use.

AGH-L

MSH TBH SBH AGH-T AGH-F SOR MDH MDHL
» P.466 » P.464 » P.465 » P.467 » P.468 » P.470 » P.462 » P.536
)
ya "
/ ] .
R l
1] |
4 {
\ & 7 | a
CJH SJH KMH SYH ALH HGH HH-UD
» P.480 » P.481 » P.478 » P.469 » P.469 » P.490 » P.517




MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

Concept

The "Toughness and Beautility"
range of functional handles from Sugatsune
Handles are the ultimate human-machine interface.

Toughness & Beautility handles redefine

the very concept of the handle. Beauty

Beautility

Utility

Toughness & Beautility

B) HANDLE

Sugatsune handles are designed and manufactured in accordance
with stringent load testing standards and production criteria that are
based on client requirements and specifications across a wide range
of industries.

Sugatsune produces handles that are stylish in their own right
while blending in beautifully with any environment, as well as
comfortable and easy to use.




MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

X
>
- DESIGN DOOR HANDLE MDH sus|
m
(7)) @ Brackets and pipes can be combined freely.
- ——
g [B @®Two types of brackets available: In-line type and offset type.
F @ Pipes are made of stainless steel or carbon fibre reinforced plastic, either has 5 lengths available. By
® TR cutting the pipe, the total length can be changed freely.
e HEREE ®Carbon fibre reinforced plastic pipes are subject to UV-cut treatment to prevent discoloration.
X Features of Carbon fibre reinforced plastic.
It is a light weight, high-strength materials also widely used for aircraft, etc., contributing to the
LARGE weight reduction of structure.
HANDLES Also, the delicate mesh pattern brings a unique texture and high-quality feeling.
HANDLES @Pipes may be sold separately.
(FRONT ®Latch handle MDHL [P of the same design used for sliding doors also available.
SCREW
MOUNT)
HANDLES [Applications]
(BACK : .
SCREW ®Machine tools and large doors, etc
MOUNT) [Remarks]
@Brackets and pipes have separate item numbers. Please order together by indicating each specification.
EEEESSSED @®Bracket is sold in pairs.
[How to Install]
PULLS 1, 3. Bracket
& A - . . .
ppropriate screw tightening torque: Bracket
KNOBS 12.5 N+ m (127 kgf - cm) MDH-BS
) i P !
LATCH Size 6 Size 4 ll\allrSﬂf%tF Bracket °
HANDLES Fixing parts Size 4 2t
Pipe Appropriate set screw tightening torque
XX Fixing parts 12.5 N-m (127 kgf - cm)
*Please use screw adhesive.
Insert the fixing parts (attached to the Insert one bracket into the pipe, and Install one bracket to the mounting
bracket) into both ends of the pipe tighten the set screws (attached to surface with M8 screws (not included).
until their flanges contact the pipe the bracket) with a hex key size 4 Install the other bracket in the same
ends, and then tighten the screws (notincluded). procedure after being preliminarily
with a hex key size 6 (not included). assembled.
[Installation of Bracket and Pipe]
[Bracket] [Fixing Parts] [Application Example] Bracket MDH-BS Bracket MDH-BF
. Attached to the bracket (Straight type) o (Offset type)
(]
- == i2><M8
<61 \Depth 15
- == ~—80.5—+
MDH-BS MDH-BF
(Straight type) (Offset type) «
T A= 4
-
= ) <
)} (it
C T et
K] 4
I £
£ g $32 iy
l g Pipe
N
-
5
[Bracket] — ]
[Bracket] No. Part Namg Material | Finish/Colour
— - ©) Bracket (Straight) Zinc Alloy Matte
RotS | CAD [ [E KoL LR [tem Name | Type Parts Weight | Box |Carion ) Bracket (Offset) (ZDe) Chrome
_ (9) |(sets)| (sets) 3 Fixing Parts Plain
[€d|EE| 100-022-158 | MDH-BS |Straight| ®@® (Each 2 pcs) | 1010 | 1 1 @ Cover POM Black
[ |E3| 100-022-159 | MDH-BF | Offset |@@@® (Each2pcs)| 1122 | 1 1 ® | Hexagon Socket Set Screw M8x 15 | Stainless Plai
ain
[Pipe] ® | Hexagon Socket Set Screw M8x8 |  Steel
oS | CAD Item Code Item Name | Material | Finish | Pipe LengthL| L1 L2 P | Pipe Thickness | Load capacity N | Load capacity kgf | Weight (g) | Box (pcs) | Carton (pcs)
i |EE| 100-022-161 | MDH-PS192 177 256| 226| 192 384 1 10
[cd|EE| 100-022-162 MDH-PS350 Stainless 335 414| 384| 350 727 1 10
[c1|EE| 100-022-163 MDH-PS500 Steel Satin 485 564| 534| 500 2 1050 1 10
[cd|EE| 100-022-164 | MDH-PS800 | (SUS304) 785 864| 834| 800 1700 1 10
€1 |EE| 100-022-165 MDH-PS1200 1185 1264|1234 | 1200 490 50 2570 1 7
[ed|EE| 100-022-166 | MDH-PC192 | Garbon 177 256| 226| 192 70 1 1
[cd|EE| 100-022-167 MDH-PC350 Fibre Paint/ 335 414| 384| 350 132 1 1
i |E3| 100-022-168 | MDH-PC500 |Reinforced CT:;r 485 | 564| 534] 500| 25 191 | 1 1
[cd|EE| 100-022-169 | MDH-PC800 | Polymer 785 864| 834| 800 309 1 1
[ed| B38| 100-022-170 MDH-PC1200 | (CFRP) 1185 1264|1234 | 1200 467 1 1

Refer to I : P536

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

>
ALUMINIUM PIPE HANDLE MTH LoAD _ [FRPNPY m >
(=]
jﬁ .
| ®Position of bracket (MTH-T) is higher than (7]
common handles, suitable for inset sliding g
. , door of machine tool. =
L wi i »
" 2xM8 Depth 23 ®MTH-L with the same height as common s
. handles for total coordination with handle of
machine tool.
@Pipe and bracket are connected with screws,
preventing pipe loosening and idling. LARGE
O¢Elliptical pipe shape allows for easy gripping  |J\BE=S]
and sliding.
HANDLES
(FRONT
I SCREW
[Applications] MOUNT)
' @Machine tools and large doors, etc. HANDLES
(BACK
MTH-T300 [Remar_ks] . SCREW
@For single-sided mount. Cannot be used for  MOUNT)
MTH-T450 double-sided mount.
RECESSED
MTH-T600 . [Recommended Screws] BULLS
®M8 screw
PULLS
No. Part Name Material Finish / Colour &
@ Bracket Glass Filled Polyamide Black KNOBS
43mm l 73mm @ Pipe Aluminium Alloy Anodised Silver
Vs i @ |Countersunk head tapping screw 5x 12 Steel Coloured Zinc Chromate (Trivalent) hﬁl%T_ES
MTH-L MTH-T @ Nut Brass Plain
E CAD Item Code Item Name | L1 L2 Ls P Hi | H2 | Hs |Load Capacity N| Load Capacity kgf | Weight (g) | Box (pcs)| Carton (pcs)
- B2 100-032-610 MTH-L300 | 360 | 352 | 320 | 300 360 1 15
- |3 100-032-611 MTH-L450 | 510 | 502 | 470 | 450 | 74 |56.5| 43 445 1 15
- B8 100-032-612 MTH-L600 | 660 | 652 | 620 | 600 500 51 530 1 15
- |EE| 100-032-613 MTH-T300 | 360 | 352 | 320 | 300 430 1 15
- | 100-032-614 MTH-T450 | 510 | 502 | 470 | 450 | 104 [ 86.5| 73 515 1 15
- B2 100-032-615 MTH-T600 | 660 | 652 | 620 | 600 600 1 15

ALUMINIUM PIPE HANDLE APH

@ Possible to fix with screws from the front.

©®4 lengths of pipes are available. By cutting the pipe, the handle length can be changed freely.

@®Other handle sizes are possible at surcharge. For lot quantity and available lengths, please
contact local representatives.

. ‘ @High precision assembly of pipe and bracket.
[Applications] [Recommended Screws]
®Machine tools and large doors, etc. @®Countersunk head screw M8
[Remarks]
587 @®Push the pipe in strongly when assembling to suppress looseness.
—32.7—| @For single-sided mount. Cannot be used for double-sided mount.
L. 2x8.4 (16 ©
<

@b Y, i 2 a(
S/ S

% Z =
@/ P

32— ~—32—

(7
&

N

p—
L

61

44
44

=78
"

L1

A-A Cutaway view

[Bracket] No. | Part Name Material Finish / Colour
_RoHS | CAD Item Code Item Name | Weight (g)| Box (pcs) | Carton (pcs) [©) Bracket PA Black
- |E&| 100-029-942 APH-B 34 150 600 @ Pipe Aluminium Alloy Anodised Silver
[Pipe]
oS | CAD Item Code Item Name L1 L2 P Weight (g) Box (pcs) Carton (pcs)
- |EE| 100-035-462 APH-P300 328.9 268 300 104.8 - 100
- |EEl| 100-035-463 APH-P400 428.9 368 400 119.3 - 100
- |EEl| 100-035-464 APH-P500 528.9 468 500 133.7 - 100
- |EE| 100-035-465 APH-P600 628.9 568 600 287.9 - 100

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

X
> .
z MACHINERY HANDLE TBH Sstraight Type
m
(7 ®Revolutionary design aesthetic combines purity of form with solidity
el " .
= [B of feell . .
F ©Consists of a triangle-shaped bar and a bracket in the centre.
(7] roughnen & Beastilty @Rich individuality and excellent overall coordination.
R HANDLE
[Applications]
®Main doors of machine tools, etc.
LARGE
HANDLES
HANDLES
(FRONT
SCREW
MOUNT)
HANDLES
ssBél:(ﬁ:éW ©
N
MOUNT) é’ I
R e - _ e1
RECESSED ' L’
PULLS ~—s= 30.5
PULLS
&
KNOBS
LATCH @ 2xM8 Depth 16
HANDLES
5
TBH-600SL
5 €2
l«—51—
103.5
No. Part Name Material Finish
. Matte Silver/Anodised (SL)
Bar Aluminium Allo )
@ y Matte Black/Anodised (BL)
@ Bracket Zinc Alloy (ZDC) Paint/Black
@ | Hexagon Socket Head Bolt M4x35 | Stainless steel —
E CAD Item Code Item Name Bar / Finish L Load Capacity N (kgf) | Weight (g) | Box (pcs) | Carton (pcs)
i |EE| 100-036-948 TBH-400SL Matte Silver/Anodised 400 1877 - -
i |EE| 100-036-949 | TBH-400BL Matte Black/Anodised - -
[ed|EE| 100-036-950 TBH-600SL Matte Silver/Anodised 600 0363 - —
©d|EE| 100-036-951 TBH-600BL Matte Black/Anodised - -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

(&)

MACHINERY HANDLE SBH offset Type

®A minimalist yet functional profile.

z
>
z
=]
-
m

&
T
c
-
-
»
2

[B = ®Square handle fits perfectly in the hand.
®The unique design creates the impression of a floating handle.
HANDLE
[Applications]
@®Main doors of machine tools, etc.
LARGE
HANDLES
HANDLES
(FRONT
SCREW
MOUNT)
HANDLES
(BACK
SCREW
T MOUNT)
N
3 ife RECESSED
@ 32.3 = PULLS
e
] PULLS
y &
i:ag — KNOBS
|
LATCH
‘ HANDLES
[ |
SBH-600SL [
g 853
o
I
R ==
{,:i:%
|
477 ] 2xM8 Depth 15
le——80——
No. Part Name Material Finish
" Matte Silver/Anodised (SL)
©) Bar Aluminium Allo )
Y| Matte Black/Anodised (BL)
@ Bracket Zinc Alloy (ZDC) Paint/Black
® |Hexagon Socket Head Bolt M4x35| Stainless steel -
E CAD Item Code Item Name Finish L1 L2 P Load Capacity N (kgf) | Weight (g) | Box (pcs) | Carton (pcs)
100-036-952 BH-400SL | Matte Silver/Anodi - -
i | EB 00-036-95: S S atte Silver/ nod.lsed 00 | 288 | 310 1079
EE| 100-036-953 SBH-400BL | Matte Black/Anodised - —
100-036-954 BH-600SL | Matte Silver/Anodised - -
[€d|EE| 100-036-95: SBH-600S atte Silver/Ano ised | oo | 48 | 510 B 1456
[cd|EE| 100-036-955 | SBH-600BL | Matte Black/Anodised - -
[cd|EE| 100-036-956 SBH-800SL | Matte Silver/Anodised - —
" 800 | 688 | 710 1833
[ed|EE| 100-036-957 | SBH-800BL | Matte Black/Anodised - -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

B

X
>
P4
(=]
-
m
»
)
c
-
r
(2]
Q0

LARGE
HANDLES

HANDLES
(FRONT
SCREW
MOUNT)

HANDLES

(BACK
SCREW
MOUNT)

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

Toughness & Beautility

HANDLE

<\

MSH-350SL

MSH-550SL

MSH-750SL

MSH-750BL

MACHINERY HANDLE MSH straight Type

@Flat surface creates a refined impression.
®A beautifully simple design with weight and size that provides a firm
and comfortable grip.

[Applications]
®Main doors of machine tools, etc.

,_T_\

<30 >

T
30 >

L2
P+os
L1

N——
2xM8 Depth 16
f«— 50 —»|
>80 80
SL

N —

Tl
THS CAD Item Code Item Name | Material Finish L1 | L2 P | Load Capacity N | Load Capacity kgf | Weight (g) | Box (pcs) | Carton (pcs)
G 100-036-942 MSH- L Matte Silver/Anodi - -
i |EE| 100-036-9 SH-3508 atte Silver/ nod!sed 400 |330.7| 350 850
i |EE| 100-036-943 MSH-350BL Matte Black/Anodised - -
[cd|EE| 100-036-944 MSH-550SL | Aluminium | Matte Silver/Anodised - -

600 [530.7 | 550 500 51 1256

IG1l=0) 100-036-945 MSH-550BL Alloy Matte Black/Anodised - -
cd|EE| 100-036-946 MSH-750SL Matte Silver/Anodised 800730.7| 750 1663 - -
d|EE| 100-036-947 | MSH-750BL Matte Black/Anodised ' - -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
. >
ALUMINIUM GRIP HANDLE AGH-L/AGH-T straight Type TEST z
ghtTyp METHOD 1 5
@Elliptical profile combines minimalist look with maximum grip. E/";
[B ®Choice of heights. g
s’ -
o
Toughness & Besutil Applications]
ity | [
HANDLE ®Handle for operation panel. s
I( -
| LARGE
N I HANDLES
/ < J
Y a8 ¢ B
/{J WI | SCREW
| w _MOWT)
T P2 { HANDLES
g . (BACK
2 13 SCREW
; = MOUNT)
+ P N
N % i ;
2xM8 RECESSED
Depth 16 PULLS
— 18
L2
AGH-L150SL P+os PULLS
L &
AGH-L200SL
AGH-L KNOBS
LATCH
HANDLES
AGH-T350SL
. C _ _ | { _ _ D I
N ) J
«©
AGH-T500SL
AGH-T500BL //777*\,\7,7,w
% NE
B D, ~
i v WEE W
s I 5 Y
/r N, 2xM8
_\\ Jf Depth 16 1
I L2
f P+os
‘ L1
AGH-L AGH-T AGH-T
Standard This
handle product
(flat ellipse) (tall ellipse)
RS | CAD | Lol Item Name | Material Finish L | L | p |Load Capacity Load Capacity| Weight| Box | Carton
= N kof (@ | (pcs) | (pes)
[cd|EE| 100-036-962 |AGH-L150SL Matte Silver/Anodised - -
" 1741126 | 150 191
[cd|EE| 100-036-963 | AGH-L150BL Matte Black/Anodised — -
EE| 100-036-964 |AGH-L200SL Matte Silver/Anodised — -
- " 2241176 | 200 240
[€d|EE| 100-036-965 |AGH-L200BL |Aluminium| Matte Black/Anodised 350 36 - -
EE| 100-036-966 |AGH-L350SL| Alloy Matte Silver/Anodised 374|326 | 350 387 - -
[cd|EE| 100-036-967 |AGH-L350BL Matte Black/Anodised - -
G 100-036-968 | AGH-L500SL Matte Silver/Anodised - -
i |EB - 524|476 | 500 536
[cd|EE| 100-036-969 | AGH-L500BL Matte Black/Anodised — -
aots | ¢AD B [t | Item Name | Material Finish L | Lo | |1 | p |03 Capacity| Load Capacity) Weight) Box | Carton
| N kgf (9) | (pcs) | (pcs)
100-036- AGH-T350SL Matte Silver/Anodised - -
[cd|EE| 100-036-958 | AGH-T350S N atte Silver/Anol ised |~ 306 | 62| 38 | 350 402
[cd|EE| 100-036-959 |AGH-T350BL |Aluminium| Matte Black/Anodised 350 36 — —
[Ed|EE| 100-036-960 |AGH-T500SL| Alloy Matte Silver/Anodised - -
" 524|476 |64 | 40 | 500 553
[€d|EE| 100-036-961 AGH-T500BL Matte Black/Anodised — —

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

ALUMINIUM GRIP HANDLE AGH-F Offset Type

®Handles that are delightful to hold.

@ [Applications]
-

Toughness & Beautiity @Handle for operation panel.
HANDLE

X
>
P4
(=]
-
m
»
)
c
-
r
(2]
Q0

HANDLES

HANDLES
(FRONT
SCREW
MOUNT)

HANDLES
(BACK
SCREW
MOUNT)

RECESSED
PULLS

3
b3
1%
56.3

LARGE /;-5
|
|
| |
|

PULLS {
& \
KNOBS ) -

AGH-F300SL % 2xM8
LATCH Depth 16

HANDLES
- :

AGH-F400SL

AGH-F400BL

90

ot [ cAD | [l | lem Name | Material Finish Li | Lo | p |Load Capacity | Load Capacity Weight| Box | Carton
| N kgf (@ |(pcs)| (pcs)
i |EE| 100-036-970 AGH-F300SL Matte Silver/Anodised - -
re4 L " 324|276 | 300 443

[d|EE| 100-036-971 AGH-F300BL | Aluminium | Matte Black/Anodised 500 51 - -
[&d|EE| 100-036-972 | AGH-F400SL Alloy Matte Silver/Anodised 424|376 400 540 - -
i |EE| 100-036-973 AGH-F400BL Matte Black/Anodised - -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

9
I
EXTRUDED ALUMINIUM HANDLE ALH =
S
®Stylish in form and function. ;1";
®Design innovations include anti-slip bump along the ]
[B - edges and angled surface to prevent dust accumlation. |g
Toughness & Beautility = 5
HANDLE [Applications] =
i @Control equipment, measuring equipment, drawers, etc.
SL BL ST 31—
L d F LARGE
ALH-50SL L ~ T HANDLES
ALH-100SL | il i F*“ ) & HANDLES
ALH-150SL i }LI ___ /: il 1 l ggggWT
ALH-200SL MOUNT)
NXM6 Depth 12 HANDLES
ALH-1000SL pos 6 A
L 12~ MOUNT)
_RoHS | CAD Item Code Item Name |Material Finish L P | N | Load Capacity N | Load Capacity kgf | Weight (g) | Box (pcs) | Carton (pcs) RECESSED
€1 |EE| 100-037-006 | ALH-50SL Matte Silver Anodised - - PULLS
[cd | ER 100-037-007 ALH-50BL Matte Black Anodised 50| 30 58 - -
B3| 100-037-008 | ALH-50ST Satin and Stainless Steel Anodised - - 2“'—'—3
[cd|EE| 100-037-009 ALH-100SL Matte Silver Anodised - - KNOBS
[cd |EB 100-037-010 ALH-100BL Matte Black Anodised 100| 60| 2 118 — —
e |EE| 100-037-011 ALH-100ST Satin and Stainless Steel Anodised - - LATCH
Gi|EE| 100-037-012 | ALH-150SL N Matte Silver Anodised - - HANDLES
Ed| 100-037-013 | ALH-150BL A'“A'\'I'I'"'”'" Matte Black Anodised 150100 500 51 178 | - -
[cd|EE| 100-037-014 | ALH-150ST o Satin and Stainless Steel Anodised - -
[cd|EE| 100-087-015 | ALH-200SL Matte Silver Anodised - -
[Gli=0] 100-037-016 ALH-200BL Matte Black Anodised 200| 75| 3 237 — —
[€d|EE| 100-037-017 | ALH-200ST Satin and Stainless Steel Anodised - -
EE| 100-037-018 ALH-1000SL Matte Silver Anodised - -
i | EB 100-037-019 ALH-1000BL Matte Black Anodised 1000|150 | 7 1191 - -
[cd|EE| 100-037-020 | ALH-1000ST Satin and Stainless Steel Anodised - -

ALUMINIUM DOOR HANDLE SYH m

@A flowing handle with a feature line down the centre.

@ Aluminium material and streamline shape create a soft impression.

[B Low profile design ensures that the handle will not noticeably protrude.
Toushron & Bentilty ®With anti-bacterial coating to reduce risk of infection.

HANDLE |
./‘ f [Applications]
y ®Medical and analytical equipment, etc.
=
o >
I
|
[
//@
[ -
2xM4/M5 Depth 8 r
SYH-128SL-M5 ‘ 17/20 g IT
p
L
SYH-224SL-M5
Y Item Code ltem Name | Material | Finish | L | P |Hi|Ho| w | m |L08d Capacity|Load Capacity| Weight | Box | Carton
| N kgf (9) | (pcs) | (pcs)
G 100-037-002 | SYH-128SL-M4 M4 - -
Glio . i . 1165|128 |30 | 21 | 17 —— 53
EE| 100-037-003 |SYH-128SL-M5 | Aluminium | Antibacterial M5 500 51 - -
G 100-037-004 |SYH-224SL-M4| Allo Paint/Silver M4 - -
(64| EM v 2642243222 | 20 —— 105
G 1l=0) 100-037-005 | SYH-224SL-M5 M5 - -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

®M6 screw, M8 screw

HANDLES

(W)

I
>
— ALUMINIUM DOOR HANDLE SOR
m
ow @Flowing cureves that adapt gracefully to any surface.
o - H : ; '
e [B (H1) (H) ©Other handle sizes are possible at surcharge
=
& 8 [Applications]
Toughess & Baautlty
& LD E | @ ®Machine tools and railway vehicles, etc.
5 ‘ [Remarks]
\\ = t ‘ @ For single-sided mount. Cannot be used for double-sided mount.
e 2xM6 Depth 8 a0 3 H % [Recommended Screws]
|
|

SOR-200
HANDLES @
(FRONT
SCREW v ! N
MOUNT) Y i
HANDLES 2xM Depth 8/
(BACK
SCREW
MOUNT) SOR-400, SOR-600 No.| Part Name Material
SOR-800, SOR-1000 @ Body Aluminium Alloy
EEEIFSSSED @ Insert Stainless Steel (SCS13)
® Screws Stainless Steel
PULLS %SCS13 is equivalent of SUS304.
& —
Load Load i
KNOBS s cap e iln | Item Name Finish Lo | Le | P | Hi | He | W | t | M |capacty|capaciy| WelOht| Box |Carton
| N kgt | (9) |(pcs)| (pcs)
LATCH [c1|EE| 100-028-297 SOR-200S Stainless Steel/Anodised | As As As As As As As As 208 10 | 50
HANDLES o5 [EE| 100-028-298 | SOR-200BL | Black/Anodised | Above | Above|Above | Above | Above | Above | Above | Above 10 | 50
G 100-010-961 SOR-400S Stainless Steel/Anodised 30 1
i |EB n MoC%e! 390 | 323 | 335 385
[ |E” 100-010-963 SOR-400BL Black/Anodised M6 30 1
[ci | ER 100-010-962 SOR-600S Stainless Steel/Anodised 600 | 502 500 60 | 42 a1 | 18 490 50 495 20 | -
<1 | EB 100-010-964 SOR-600BL Black/Anodised 20 -
[c1|EE| 100-010-960 | SOR-800S | Stainless Steel/Anodised 15 | —
. 816 | 686 710 605
1 | EB 100-010-965 SOR-800BL Black/Anodised M8 15 -
e | 100-028-299 SOR-1000S | Stainless Steel/Anodised 1090 | 930.8| 975 80 | 508 | 38 | 202 1647 = 4
[G]}=0] 100-028-300 SOR-1000BL Black/Anodised ' ’ ’ - 4

ALUMINIUM DOOR HANDLE EP-330

®Designs with smooth flowing curve that blend in perfectly.

[Recommended Screws]
om4

[Dimensions] [Application Example]

36.5

2xM4 Depth 5

| | Py
A ——
\ L ti
49—~
ECAD Item Code Item Name Material Finish Weight (g) Box (pcs) | Carton (pcs)
- | - — EP-330 Aluminium Alloy Grey Enamel Finish 240 - -

SUGHTSUNE




MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

—_—

STAINLESS STEEL DOOR HANDLE SSH

| ]
D1
[Applications]

4 ®Machine tools and large doors, etc.
2xM8 Depth 20

®Stainless steel handle with simple design.
©®Other handle sizes are possible at surcharge. For lot quantity
and available lengths, please contact local representatives.

$D2 <—>‘

z
>
z
=]
-
m

&
T
c
-
-
»
2

| [Remarks]
\ ©For single-sided mount. Cannot be used for double-sided mount. LARGE
‘ [Recommended Screws] HANDLES
' ®M8 screw
ioati HANDLES
| | [Application Example] (FRONT
SCREW
MOUNT)
HANDLES
VRN a L1 (BACK
[ [l SCREW
MOUNT)
e RECESSED
A PULLS
@ PULLS
‘ No. Part Name Material Finish &
! 10) Body KNOBS
@ Stem Stainless Steel
Satin LATCH
® Screws (SUS304) HANDLES
@ Cover
E CAD Item Code Item Name L P D1 D2 Weight (g) Box (pcs) | Carton (pcs)
G ]=0] 100-181-413 SSH-2540 400 316 665 10 -
< |3 100-181-414 SSH-2560 600 516 25 19 750 10 -
< | ER 100-181-415 SSH-2580 800 716 840 10 -
[l |3 100-181-416 SSH-3240 400 316 1175 5 -
Gll=0] 100-181-417 SSH-3260 600 516 32 25 1290 5 -
G i=0] 100-181-418 SSH-3280 800 716 1400 5 -

STAINLESS STEEL DOOR HANDLE RH-760

@ Stainless steel handle with small projection from mounting
) surface and simple design.

====—42xM5 Depth 10 ) ) .
rﬂ 305 @®Other handle sizes are possible at surcharge. For lot quantity
. and available lengths, please contact local representatives.

12

[Applications]

@FA equipment, OA equipment, and specially-equipped vehicles, etc.
[Remarks]

@ For single-sided mount. Cannot be used for double-sided mount.
[Recommended Screws]

©MS5 screw

. [Application Example]

786
(

)
760
(

]

25

No. Part Name Material Finish / Colour
® Pipe Stainless Steel
; @ Stem (§u3304) Satin
® End Cap Stainless Steel
(SUS303)

@ Spacer PP Natural
E CAD Item Code Item Name Weight (g) Box (pcs) Carton (pcs)
[€d|EE| 100-010-341 RH-760 340 - 20

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
>
4 STAINLESS STEEL DOOR HANDLE MP susais|
m
o @®Simple design and front screw mount.
g - ©®Other handle sizes are possible at surcharge. For lot
F D H quantity and available lengths, please contact local
(] representatives.
Qo
[Applications]
®Railway vehicles, specially-equipped vehicles, ships, large
LARGE 4x¢4.5 $9 doors, and auxiliary handrails, etc.
HANDLES , : | [Recommended Screws]
q @ q»i t /'rr ®Countersunk head screw M4
i L ‘ ok i 5  ®Countersunk head tapping screw 4
foﬂ‘is ead ®Countersunk head wood screw 4.1
HANDLES L] o054 [Application Example]
(BACK b0
SCREW
MOUNT)
r—— o — g
RECESSED %
PULLS

PULLS
&
KNOBS

D

LATCH
HANDLES

ot | CAD Item Code Item Name Material Finish L P Weight (g) | Box (pcs) Carton (pcs)
[cd | EB 100-010-500 MP-500 500 464 1000 2 20

e | 100-010-501 MP-750 Stainless Steel (SUS316) Polished 750 714 1300 2 16

(G0 100-010-502 MP-1000 1000 964 1600 2 12
STAINLESS STEEL HANDLE MG SEMI Compliance (sF]susats|

®Compliant with SEMI standard (SEMI S8-0701).

©®Passed 1960N (200kgf) load capacity test.

®Larger height and width allows for easy gripping with gloved hand.

@ For mounting screws, truss head can be used. (Screws not included)

[Applications]

® Semiconductor manufacturing equipment, special vehicles, large doors,
and transport equipment, etc.

[Recommended Screws]

®MG-150: Hexagon socket head cap screw M5

®MG-190, MG-250: Hexagon socket head cap screw M6

O®MG-230T, MG-300T: Hexagon socket head cap screw M8

@ —

E CAD Item Code Item Name Material Finish L H| P |D|W|h|S| C |d]| Weight(g) | Box (pcs) | Carton (pcs)
[cd |EB 100-010-483 MG-150 172.8 |56 |150| 16| 62| 40| 6 |R6.5| 6 295 10 40
a1 | EB 100-010-484 MG-190 . 216.7 |63 190 92 | 45 460 5 20
G |E2| 100-010-485 | MG-250 Stag‘f;’: 136tee' Polished| 2755 | 68|250| ° |145 BIR7S 7 ™ es 5 20
[cd |EE| 100-021-952 | MG-230T ( ) 260 | 12301129150 | oo | o 665 5 20
[ci | EB 100-021-953 MG-300T 330 300 199 820 5 20

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

w

STAINLESS STEEL HANDLE FT-R

®A rounded handle for a comfortable grip.
® Wide grip.

R ST11Nd ‘SITANVH

[Parts Included]
©FT-R-120: Raised countersunk head tapping screw 4 X 15 (SUS)
@©FT-R-160: Raised countersunk head tapping screw 5x 20 (SUS)

LARGE
HANDLES

HANDLES
(FRONT

} lm SCREW

MOUNT;

B - ) I HANDLES
ot - (BACK
: ‘ SCREW
s MOUNT)

d
. |\ RECESSED

PULLS

7N

L B2 PULLS
&
KNOBS

LATCH
HANDLES

B
ik
T

e H—

H

B

_Roli§ | CAD Item Code Item Name| Material Finish | L | Li | Bi1|B2| H | T | t | M| Pi| P2| di | d2 |Weight(g)|Box (pcs)| Carton (pcs)

i |EE| 100-034-130 FT-R-120 | Stainless Steel . 120(106| 36 | 12 | 27 |5 7 |12 |108| 24 | 45| 85| 140 - -
Polished
i |EE| 100-034-131 FT-R-160 (SCS13) 160(142| 48 | 16 | 36 | 6.5| 9 | 16 |144| 32 | 5.5|10.5| 285 - -

% SCS13 is equivalent of SUS304.

STAINLESS STEEL HANDLE FT-T m

®A shape with heavy feeling and rounded inside allows for easy gripping.
® Wide grip.

[Parts Included]

OFT-T-120: Raised countersunk head tapping screw 4 x 15 (SUS)
OFT-T-170: Raised countersunk head tapping screw 5x 20 (SUS)
OFT-T-220: Raised countersunk head tapping screw 6 X 25 (SUS)

D
.0

¢d2
P1
L1 B2
!
| ! 2
S
S el == l I
I ) ‘
Bs M|
L B1
ECAD Item Code Item Name | Material |Finish| L | L1 |[Bi| B2 | Bs | H | T| t M | P1 | P2 | di | d= |Weight(g)| Box (pcs)| Carton (pcs)
i |EE| 100-034-132 FT-T-120 | Stainless 120|105| 40 | 10 |15.1|28.5|5.5| 7.5 |19 96|24 |45| 85| 225 - -
i |EE| 100-034-133 FT-T-170 Steel | Polished | 170 | 150 | 54 | 12 |{18.7|38 |7 |10 05.5 135|32 |5.,5(10.5| 500 - -
i |EE| 100-034-134 FT-T-220 | (SCS14) 220(200| 70 | 15 |24.3|49.5|9 |13 " 1176| 41 |6.5]12.5| 1000 - -

%SCS14 is equivalent of SUS316.

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

iy
=
z STAINLESS STEEL HANDLE FT-S280 Large Type @ @
=
® 2 : [Parts Included]
bl #—'t'—¢ ®Binding head tapping screw 6 x 35 (SUS)
= % & ~lao 196
5 —— | 447
2o “f L 170 22
' [ =7 | ‘
: @ 3
- 4 — I '
- le—65—> 30
LARGE 280
HANDLES
HANDLES
(FRONT -
a%RlilV}l _Rols | CAD Item Code Item Name Material Finish Weight (g) Box (pcs) | Carton (pcs)
HADLE [ci | EB 100-010-071 FT-S280 Stainless Steel (SCS14) Polished 612 1 20
(BACK S ¥The item will be discontinued after current stock is sold out.  3xSCS14 is equivalent of SUS316.
SCREW
MOUNT)
o STAINLESS STEEL HANDLE FT Large Type (sF]susats|
PULLS
[Parts Included]
PULLS = ®Binding head tapping screw 6 X 35 (SUS)
& B -
KNOBS f o= “
S FT-280 )
LATCH N 2. B
HANDLES & = ‘
1 - g FT-200 4 T — p— |
\ 2 M i B
L
E CAD Item Code Item Name Material Finish | L | L1 [B|Bi|H| T |t |M| P: |Pz2|Weight(g)| Box(pcs) | Carton (pcs)
el | 100-010-069 FT-200 Stainless Steel . 200(170(70(22|50| 8 |10|25|175|45 586 1 20
Polished
1| EB 100-010-070 FT-280 (SCS14) 280(250|80|26|62| 10 | 12|27 |253|55 1088 1 10
% SCS14 is equivalent of SUS316.
HANDLE (STAINLESS, TITANIUM) 2LC @ m @
®Easy to grab.

®2 types of materials available: Light weight and strong titanium with
excellent corrosion resistance, and cast steel SCS14 equivalent to
stainless steel SUS316.

@Titanium handle hardly causes metal allergy. In addition, since it is
non-magnetic, suitable for medical devices such as MRI.

[Remarks]

®Screws are not included for titanium handles. Titanium screws are sold
separately.

®Recommended screws given in the table below not included.

[Parts Included]

@For only stainless handle: Pan head tapping screw (SUS)

2LC-150TI

2LC-150

2x¢d ok
[ B2
\ !
D@t 2]
il i
L1 H =3
P
- L
ot | CAD Item Code Item Name | Material | Finish | L | Li | P [Bi|[Bz2| H | h:i | h2| t |[d| di [Weight(g)|Screw|Recommended Screw | Box (pcs)| Carton (pcs)
- |EE| 100-010-355 | 2LC-80TlI 80| 32| 64|16 |14|35 4 |8 37 12 144
o Shot 5.5 5/ 95 M4
— |EE| 100-010-354 | 2LC-120TI | Titanium Blast 120| 64| 96|18 |16 |36 45 9 62 - 8 96
- |EE| 100-010-353 | 2LC-150TI 150 | 89(128|21|18|42 |6 110|611 96 M5 6 72
[cd|EE| 100-010-131 2LC-80 . 80| 32| 64|16 |14 |35 4 |8 70 | 4x% 12 144
Stainless 55 5| 95 M4
i |Ed|  100-010-132 2LC-120 Steel | Polished 120| 64| 96| 18| 16|36 45 9 106 |20 8 96
[cd|EE| 100-010-133 | 2LC-150 150 | 89 |128|21|18|42|6 | 172 | 5% 6 72
(SCS14) 10611 M5
[cd|EE| 100-010-134 | 2LC-180 180|118|160|23 |20 |45 |6.5|5 225 |30 3 36

SUGHTSUNE

¥SCS14 is equivalent of SUS316.



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

i Jsusaie

@Titanium handle is available as a
special order.

5

STAINLESS STEEL HANDLE 4LC

R ST11Nd ‘SITANVH

[Remarks]

®Recommended screws given in the table
below not included.

[Parts Included]

©®4LC-82, 4LC-114: Pan head tapping

LARGE
oz screw (SUS) 4x20 HANDLES
- V‘ ©®4LC-150, 4LC-180: Pan head tapping
4LC-150 L o screw (SUS) 5x 30 IS
p (FRONT
L SCREW
MOUNT
HANDLES
_ (BACK
_Rois | CAD | IET B Item Name | Material | Finish | L | L1 | P [B1|Bz2| H | hi| h2 | t |d| di | Weight(g) | Recommended Screw | Box (pcs)| Carton (pcs) a%Fl*JENV}I)
| EB 100-010-135 4L.C-82 . 82| 46| 64 36.5| 55| 4 8 110 8 96
Stainless 48 | 16 5| 95 M4
IGll=o) 100-010-136 4LC-114 ) 114| 78| 96 40 9 148 6 72 RECESSED
— Steel | Polished 6 |45 PULLS
©d|EE| 100-010-137 4L.C-150 150|106 | 128 18 |45 210 3 36
(SCS14) 50 10 (6|11 M5
G l=0] 100-010-138 4L.C-180 180|140 | 160 20|48 |6.5|5 270 2 24
¥ SCS14 is equivalent of SUS316. EULLS
KNOBS
STAINLESS STEEL HANDLE 3LC susais [
HANDLES
2x¢d [Applications]
Li ®Indoor and outdoor medium sized doors.
P
i
3
A e RO
§
T
| T
A
(L2) T
E CAD Item Code Item Name Material Finish L L | W | Hi |[H2 | Hs P d | Weight (g) | Box (pcs) | Carton (pcs)
el | ERB 100-019-846 3LC-120 . 120 | 29 |20 | 30| 6 | 5 | 105 90 100 -
— Stainless Steel ) 5.5
< |3 100-019-845 3LC-130 Polished | 130 | 30 | 22 | 33 115 120 - -
(SCS14) 716
G l=0] 100-019-747 3LC-145 145 | 35 | 25 | 34 125 | 6.5 155 150 -
XSCS14 is equivalent of SUS316.
: [Parts Included]
*@F-—-}—-—}@ ®Raised countersunk head tapping screw
— ' = 4%20 (SUS)
P 2x¢$5.5 $8.2
L1 14
| © s
‘ @ —
i1 | rT
® 28 20—~
L
W CAD Item Code Item Name Material Finish L L1 H P Weight (g) Box (pcs) Carton (pcs)
G ll=o) 100-012-831 EC-Y-140 X 140 100 38 120 142 5 100
— Stainless Steel )
< |E3 100-012-832 EC-Y-160 Polished 160 120 40 140 160 3 51
(SUS303)
G l=0] 100-012-833 EC-Y-190 190 150 42 170 185 2 50

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL HANDLE EC-H @

[Parts Included]
®Raised countersunk head tapping screw
4x20 (SUS)

©
o)
e

R STINd ‘S3TANVH

P 4x$5.5 $8.2

L1 14

LARGE
HANDLES

HANDLES _@, . ; .
(FRONT ‘

fh%ﬁﬂ © 20« le—50

HANDLES ‘ B

(BACK

SCREW

MOUNT)

RECESSED  ___

PULLS _RotS | CAD Item Code Item Name Material Finish L L1 H P Weight (g) Box (pcs) | Carton (pcs)
[Gi|EB| 100-010-056 | EC-H-135 | Stainless Steel Polished 135 | 120 | 40 | 115 191 5 50

EU'-'-S |8 100-010-057 | EC-H-165 (SUS303) 165 | 150 | 42 | 145 216 3 48

KNOBS

wen STAINLESS STEEL HANDLE FT Double-hole Type @ @

HANDLES

[Parts Included]
@j @®FT-120: Raised countersunk head wood
] o screw (SUS) 3.8 x 20

i
L I Ji | &
@ T 1] @©FT-150: Raised countersunk head wood
screw (SUS) 5.1 x25
b, <I 4xgch gdz (SUS)
— | L1 B2
=77 1
.Ga’ —
1 L ‘ ‘
! i [ ]

le—H—»!

Telle

-
=

<

ECAD Item Code Item Name Material Finish | L | L1 |B1|B2|H|T|t|M| P1 |P2|di| d2 |Weight (g)|Box (pcs) | Carton (pcs)
[G]i=0) 100-010-067 FT-120 |Stainless Steel i 120 (102 (36 |12 |27 | 5|7 |14 |106 |24 |41| 8 105 10 120
Polished
[cd|EE| 100-010-068 FT-150 (SCS13) 150 | 129 |45|15|33| 6|8 (18| 132|30|5.3| 10.4 191 5 40
XSCS13 is equivalent of SUS304.
STAINLESS STEEL HANDLE FT Single-hole Type (NSE) @
[Parts Included]

OFT-65, FT-80: Raised countersunk head
wood screw (SUS) 3.1x 16
2x¢d ddz @FT-100: Raised countersunk head wood
screw (SUS) 3.8 20

L1 B2
|
— 1
+ @ 5 1y
i ¥
M = B1
L
ECAD Item Code Item Name Material Finish L |Li|B1|B2|H|T| t|M]|P|di|dz2|Weight(g)| Box (pcs) | Carton (pcs)
IG1i=0 100-012-847 FT-65 . 65 |47|13| 7 |16|3.5|4 |13 |57 19 40 480
Stainless Steel i 3.3|6.4
[€d|Ed|  100-012-848 FT-80 (SCS13) Polished | 80 |61|14| 8|20|4 |4.5|14|72 32 30 360
G0 100-012-849 FT-100 100 |75|18 |10 |25|5 |5.5(/18|88|4.1|8 58 20 240

% SCS13 is equivalent of SUS304.

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

7
>
STAINLESS STEEL HANDLE FT-100-6.4 susfl 52
=
| ®Wider mounting hole relative to conventional {,",
@{————4———— FT handle. B
L7 : ~_ c
»J*a 3’L¢ 2x¢6.4 $8 uF)
\ 88 R
)
10
& f rp—
0 LARGE
"?i T ) HANDLES
4 U
HANDLES
(FRONT
=18 SCREW
MOUNT
HANDLES
(BACK
SCREW
MOUNT)
- RECESSED
[T item Code ltem Name Material Finish Weight (g) Box (pcs) Carton (pcs) PULLS
G l=0] 100-019-167 FT-100-6.4 Stainless Steel (SCS13) Polished 54 20 200
%SCS13 is equivalent of SUS304. EULLS
KNOBS
STAINLESS STEEL HANDLE FT-110S sus|e
HANDLES
[Recommended Screws]
@ , ®M4 screw
I %
80
T
l | | it
< e
(12.6) =~ 15
19.6
110
124
E CAD Item Code Item Name Material Finish Weight (g) Box (pcs) Carton (pcs)
G l=0] 100-019-029 FT-110S Stainless Steel (SCS13) Satin 60 50 200
% SCS13 is equivalent of SUS304.
STAINLESS STEEL HANDLE US (s )sus
{_@ : : @®Rubber grip allows for an easy and comfortable
- - 2x4d1 §de grip.
1 ‘ p ‘ @ Stainless steel (SUS304) is used for the
surface part of the handle.
2 ~\ ; i ®Knob type HS [P also available.
I
A0 T Wi
L ¥ (BJ [Parts Included]
L @ Raised countersunk head wood screw (SUS)

US-160M

No. | Part Name Material Finish / Colour
) Pad Elastomer (TPE) Black
@ Frame Stainless Steel (SUS304) | Satin and Polished Combination
E CAD Item Code Item Name| Finish | L | Li | P | B | H | h | t | di| d2| Weight(g) Screw Box (pcs) Carton (pcs)
i |EE| 100-012-243 US-70S Satin 20 200
70| 20 | 54|17 |28 5.5|3.3|6.6 20 3.1x16
G l=0] 100-012-240 US-70M Polished 21 20 200
G ]=0] 100-012-244 US-120S Satin 120 | 57 [ 102] 19 | 32 653876 45 3.5%20 20 200
<l |E3 100-012-241 US-120M | Polished ) ) ) ) 20 200
GilEE| 100-012-245 | US-160S | Satin_| oo | oo | 140l 0p | 37.5| 23 |7.5| 4.1 |81 70 41%25 10 100
i |EE| 100-012-242 US-160M | Polished ) Tl ) 10 100

Refer to I : P524

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

X
>
=] HANDLE KMH i1
m
w ®Cap hides screw heads for clean appearance (option). 4 colours
g IB | available.
= ©Stylish flat surface.
» Toughness & Beautlity = ©®Rounded inside allows for easy gripping.
] HANDLE _ g l . i i
= @®Caps are tightly fixed to prevent from falling off.
i ' ®Possible to customise cap colour from 10,000 pcs.
| { '_.;‘EC"-":'I
LARGE f [Remarks]
HANDLES } ) \' - e =y ®Truss head screws can not be used.
KMH-150 I 7 ®Caps are sold separately. Sold by piece. Please order together with handle.
HANDLES J
(FRONT | [ - "'l [Recommended Screws]
SCREW | - | Hexagon socket head cap screw M5 or Pan head screw M5
MOUNT ' L @Hexag P
HANDLES KMH-120 '
(BACK
SCREW
MOUNT) J
- KMH-100 [Installation]
RECESSED
PULLS % Caps are sold separately.
Caps] Option
PULLS [Caps] Op ‘
&
KNOBS Hexagon nut, Nut cover
LATCH Hexagon socket
HANDLES ‘head cap screw M5
¥ V. :
L = I
KMHC-WT KMHC-GR KMHC-BU KMHC-BL
[Without Cap]
Without cap Cap
/ (Option)
|
Sy
I
© \
(o] o
| (,)' ~—
A
222 f =
| * | |
T Yo}
2 |
20.7 bl oy ! ‘
| D s sy 5 1
Cap (Option) T o ‘
Qﬁb I I L © l
‘ |
'
$6.2 <16+
B 20
P
L
[Body]
ot | CAD Item Code Item Name | Material | Finish | L | A | B | P |Load Capacity N| Load Capacity kgf | Weight (g) | Box (pcs) | Carton (pcs)
1| B 100-024-063 KMH-100 . . 125|116| 85 |100 162 10 100
Zinc Alloy | Satin
[cd|EE| 100-024-064 | KMH-120 145|136 /105 | 120 500 51 180 10 60
(ZDC) | Chrome
G0 100-024-065 KMH-150 175|166 (135 | 150 206 10 60
[Caps] Option (Sold by piece)
_RoltS | CAD Item Code Item Name Material Colour Weight (g) Box (pcs) Carton (pcs)
ea| - 100-024-066 KMHC-WT White 100 2000
| - 100-024-067 KMHC-GR PET Grey 0.7 100 2000
| - 100-024-068 KMHC-BU Light Blue ’ 100 2000
| - 100-024-924 KMHC-BL Black 100 2000

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

HANDLE MJH

®Handle can be installed from both front and back. Cap hides screw

heads for clean appearance (option). 3 colours available.

®Rounded inside allows for easy gripping.

©Caps are tightly fixed to prevent from falling off.

®Possible to customise cap colour from 3,000 pcs.
a ®MJH-150 is compliant with SEMI standard (SEMI S8-0308).

)

R ST11Nd ‘SITANVH

MJH-150 [Remarks] LARGE

®Only hexagon socket head cap screws are applicable. HANDLES
@®Caps are sold separately. Sold by piece. Please order together with handle.
[Recommended Screws] (F::%[,)\}TE S
MJH-120 ®MJH-93 : Hexagon socket head cap screw M6 a%ﬂm’
®MJH-120, MJH-150 : Hexagon socket head cap screw M8
HANDLES
MJH-93 A

MOUNT;

X Caps are sold separately.

[Installation] RECESSED
[Caps] Option PULLS
Fix from surface
/ Cap (Option) PULLS
&
Hexagon nut, KNOBS
L1 Nut cover -
1 \ LATCH
} Hexagon socket
head cap screw HANDLES
M6, M8
MJHC-YE -GR -
Hexagon socket <
head cap screw
M6, M8
Fix from back side
Cap (Option)
j Cap
(Option)
Nut
Hexagon socket]
© Without cap head cap screw
e B»' M6, M8
- + ) W ..Scr.ews are app]icable from both
% i inside and outside.
21.5 B—| Cap
(Option)
I
! KWI AL A - lf |
% QB | Cutaway view !, i t T
| 58 2 Sy
= ) T
Cap (Option) L ’LJ‘(‘PD) ul W2 L
L+ ‘
TN
> -
=5

Cutaway view A-A

[Body]

Ao | a0 [k (0 [tem Name| Material |Colour| P | Li | Le | D | § |Hi| He | Wi | w, | 0% Capacity |Load Capacity| Weight| Box Carton

| N kaf (9) | (pcs) | (pes)

IGll=0) 100-026-534 MJH-93 Reinforced 93 |119| 67 (6.5/10.2|42|33.5(25 |21.3 41 100 —
1 I

G li=0] 100-026-535 MJH-120 Black {120 |146| 94 47138.5|26.5|22.4 450 46 48 50 —

— Nylon 8.5(13.2

©d|EE| 100-026-536 MJH-150 150 [176| 124 52(43.5|28 |225 58 | 50| -

[Caps] Option (Sold by piece)

oS | CAD Item Code Item Name Material Colour Weight (g) Box (pcs) Carton (pcs)

| BB 100-026-537 MJHC-BL Black 100 -

<d|EE| 100-026-538 MJHC-GR Reinforced Nylon Grey 1.4 100 -

G l=0] 100-026-539 MJHC-YE Yellow 100 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

HANDLE CJH

®Long colour cap facilitates intuitive operation.

@®The cover colours are used for indicating dangerous regions and
different work areas.

®Handle can be fixed from either the front or back with screws.

IE;

‘Toughness & Beautility

R STINd ‘S3TANVH

HANDLE
[Applications]
®Maintenance doors, etc.
LARGE
HANDLES
HANDLES
FRONT i
!SCREW To remove cap Cap (Option)
MOUNT: o |
HANDLES - 12 ‘ z i
(BACK LI Y /2 == : N — =
SCREW 6@ ‘ J %
MOUNT: ‘
RECESSED
PULLS P
2
PULLS P _
K o a o T
KNOBS [ A Lo i
21 A |
2 3y ‘
LATCH Wil 2
HANDLES ! 2X485 B
L2
P
L W2
CJH-117/CJHC-117GR
[Fix from surface] [Fix from back side]
Cap (Option) Cap (Option)
Hexagon top
bolt M8
BL GR YE YR RD BU
No.| Part Name Material
@ Body Reinforced nylon
[Body] @ Cap PA
a0 [ el ftem Name | Material | Lt | Lo |Wi| Wa | Hi | He | He | p | O8] Capacity | Load Capacity| Weight| Box |Carton
_ N kgf @ |(pes)| (pes)
e |3 100-036-974 |CJH-117BL| Reinforced | 157 | 93 22 |17 46 | 19.5| 24 | 117 67 - -
G’ ]i=o) 100-036-975 |CJH-150BL nylon 190|125.5| 24 | 185 | 52 | 21.4| 28 |150 91 - —
[Cap] Sold Separately
oS | CAD Item Code Item Name Material Colour Weight (g) Box (pcs) Carton (pcs)
d|EE| 100-036-976 CJHC-117BL Black - -
i |EE| 100-036-977 CJHC-117GR Grey - -
Gi=0] 100-036-978 CJHC-117YE Yellow 4 - -
©d|EE| 100-036-979 CJHC-117YR Orange - -
[l | ER 100-036-980 CJHC-117RD Red - -
i |EE| 100-036-981 CJHC-117BU PA Blue - -
[&d|EE| 100-036-982 CJHC-150BL Black - -
i |EE| 100-036-983 CJHC-150GR Grey - -
ed|EE| 100-036-984 CJHC-150YE Yellow 6 - -
G lizo) 100-036-985 CJHC-150YR Orange - -
i |EE| 100-036-986 CJHC-150RD Red - -
[&d|EE| 100-036-987 CJHC-150BU Blue - -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

1

HANDLE SJH

=

Toughness & Beautility

HANDLE

SJH-162/SJHC-162YR

®A rounded handle for a comfortable grip.

@®Handle can be fixed from either the front or back with screws.

[Applications]
®Maintenance doors, etc.

13.2

To remove cap

R ST11Nd ‘SITANVH

Cap (Option) LARGE
HANDLES

— 7
T\ fL_T ' HANDLES
[\ - - - - = (FRONT
§ SCREW

MOUNT;

HANDLES
(BACK
SCREW

W2

MOUNT;

RECESSED
PULLS

L2

Li

[Fix from surface]

PULLS
&
KNOBS

Wi

LATCH
HANDLES

[Fix from back side]

Cap (Option)

Hexagon top

Cap (Option)

bolt M8
BL GR YE YR RD BU

No.| Part Name Material

©) Body Reinforced nylon
[Body] @ Cap PA
s | 0 [k e -0 ltem Name | Material | Li | Lo | Wi | Wa | Hi | H | He | p | FO8d Capacity Load Capacity | Weight | Box | Carton
| N kgf (9) | (pcs) | (pes)
[d|EE| 100-036-988 | SJH-130 | Reinforced |168|110|26.5| 24 | 43 | 21 | 22 | 130 76 - -
[cd|EE| 100-036-989 SJH-160 nylon |198/140|28.5| 26 | 49 | 23 | 26 | 160 103 - -
[Cap] Sold Separately
_Roli§ | CAD Item Code Item Name Material Colour Weight (g) Box (pcs) Carton (pcs)
1 |EE| 100-036-990 SJHC-130BL Black - -
i |EE| 100-036-991 SJHC-130GR Grey - -
[ |E3| 100-036-992 SJHC-130YE Yellow 15 - -
[d|EE| 100-036-993 SJHC-130YR Orange ’ - -
1 |EE| 100-036-994 SJHC-130RD Red - -
[ed|EE| 100-036-995 SJHC-130BU PA Blue - -
EE| 100-036-996 SJHC-160BL Black - -
1 |EE| 100-036-997 SJHC-160GR Grey - -
[ed|EE| 100-036-998 SJHC-160YE Yellow 19 - -
[d|EE| 100-036-999 SJHC-160YR Orange ' - -
[ed|EE| 100-037-000 SJHC-160RD Red - -
EE| 100-037-001 SJHC-160BU Blue - -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
> .
z HANDLE MH-P SEMI Compliance
m
o @Clear body suitable for acrylic, etc.
g ®Allows for easy gripping with glove on (compliant with SEMI standard,
= SEMI S8-0308).
(7] - ®Made from weather-proof, chemical-resistance, lead-free PVC.
R0 -~
[Recommended Screws]
®M5 screw
5.2x7.2 Oval
LARGE - . 2x954 *
HANDLES MH-P170 it . (20.5)
100 g (&7 .~ 150 ST
HANDLES . MH-P120 (R10) — (R10)
(FRONT — —
SCREW & % o) I m/\ %
MOUNT L 22 P
HANDLES 8 120j ©g > cq
(BACK < 170 ¥
SCREW MH-P120 MH-P170
MOUNT
RECESSED ot | CAD Item Code Item Name Material | Colour | Load capacity N | Load capacity kgf | Weight (g) | Box (pcs) | Carton (pcs)
PULLS [Gli=0] 100-021-823 MH-P120 PVC Clear 200 20 34 64 —
PULLS i |EE| 100-019-999 MH-P170 262 27 56 48 -
&
KNOBS
s Jsusais|
HANDLES
®Ideal for harsh and high corrosion environments.
L | 08 [~
T
6.35
¢ Depth 7.9
RN iiem Code ltem Name L c H Material Finish | Weight (g) | Box (pcs) | Carton (pcs)
- | - 100-023-434 SWP-630/S 84.2 76.2 34 71 20 200
— | = | 100-023-435 SWP-635/S 96.9 88.9 34 Stainless Steel Satin 78 20 200
- | - 100-023-436 SWP-640/S 109.6 101.6 34 (SUS316) 85 20 200
- | - 100-023-437 SWP-696/S 104 96 34 91 20 200

WIRE PULL SWF @m

®Ideal for harsh and high corrosion environments.

= — % o8

&~ s || > | \

ot | CAD Item Code Item Name L C H Material Finish | Weight (g) | Box (pcs) | Carton (pcs)
- | = 100-023-438 SWF-640 111 101.5 35 90 20 200

| - 100-023-439 SWF-650 136.5 127 35 Stainless Steel . 110 20 200

| - 100-023-440 SWF-660 162 152.5 35 (SUS316) Satin 130 20 200
- | - 100-023-441 SWF-690 238 228.5 35 200 20 200

] - 100-023-442 SWF-6120 314.5 305 35 270 20 200

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227
STAINLESS STEEL HANDLE H-42-C @ @

®Optional bracket H-42-Z I is available.

OAS parts set for installing to aluminium frame also available. Content
of the parts set is as follows.

®Titanium handles [ of the same size as H-42-C-2, H-42-C-4 and
H-42-C-15 also available.(L and B dimensions are slightly different
from H-42-C-2)

3

R ST11Nd ‘SITANVH

LARGE
L B HANDLES
| | -
~ J[ ~ HANDLES
_ L (FRONT
/ ' i SCREW
I ;9 ‘ ‘ T
i 1
| -
RECESSED
2xd Depth S PULLS
[Handle] EUU—S
oS | CAD Item Code Item Name Material Finish L H | B P R d | S | Weight(g) | Box (pcs) | Carton (pcs) KNOBS
i |EE| 100-010-560 H-42-C-8 66 | 22 6 60 3 Mal 7 18 100 500
i |EE| 100-010-562 H-42-C-14 86 80 25 50 250 LATCH
G| 100010561 | H-42-C-1 75 |s0| 7] es| 35 [ 30 50 250 HANDLES
i |EE| 100-010-563 H-42-C-2 109 9| 100 | 45 8 65 50 150
100-010-564 H-42-C-3 tainl teel 120 110 100 50 150
E‘? EE Stainless Steel Polished 40 | 10 5 M6
i |EE| 100-010-565 H-42-C-4 (SUS304) 130 120 105 50 150
i |EE| 100-010-566 H-42-C-15 162 150 185 30 60
€ |EE| 100-010-567 H-42-C-5 200 188 220 30 60
— 50 | 12 6 M8 | 10
i |EE| 100-010-568 H-42-C-6 250 238 265 20 40
i |EE| 100-010-569 H-42-C-7 300 288 300 20 40
Refer to [P : P488, I : P.487
@@ Parts Set for Installing to Aluminium Frame piease refer to the series introduction page P for details about AS series.
[AS Parts Set] Parts set of brackets, screws and AS nuts used for installing to aluminium frame.
Aluminium Weight
Handle ﬁ CAD Item Code Item Name Frame Parts (@
Groove Handle H-42-C-1: 1pc
) Bracket for Handle AS-H30 : 2pcs
- 100-041-484 | AS-H-42-C-1-8 Width -
c t r'nm AS Nut AS-85: 2pcs
Screw M5x 10 Hexagon Socket Countersunk Head Screw : 4pcs
=y B AN Handle H-42-G-1 : Tpe
~ J Groove |Bracket for Handle AS-H30 : 2pcs
w h’ w El| - 100-041-485 | AS-H-42-C-1-10 Width ~ |AS Nut AS-10M5 : 2pcs -
Bracket for handle AS nut ED 10 mm | M5x 10 Hexagon Socket Countersunk Head Screw : 2pcs
2 2 M5 x 12 Hexagon Socket Countersunk Head Screw : 2pcs
[How to Install] Groove Handle H-42-C-2 : 1pc

Bracket for Handle AS-H30 : 2pcs

% - | 100-041-486 | AS-H-42-C-2-8 \év::: AS Not S5 2005 -
ng M5 x 10 Hexagon Socket Countersunk Head Screw : 4pcs

Handle H-42-C-2 : 1pc

Groove | Bracket for Handle AS-H30 : 2pcs
G| - 100-041-487 | AS-H-42-C-2-10 Width  |AS Nut AS-10M5 : 2pcs -
- /Q 10 mm | M5x 10 Hexagon Socket Countersunk Head Screw : 2pcs
M5 x 12 Hexagon Socket Countersunk Head Screw : 2pcs

AS nut

N /
NS

Refer to I : FRONT P20, I : P.48s, I : P.706

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
>
- STAINLESS STEEL HANDLE H-42-F14 sus3ts|
=
m
w
o 86
c
-
rr
(7))
Qo
|
\
LARGE
HANDLES i 80
HANDLES "
(FRONT
SCREW
MOUNT) ot | CAD Item Code Item Name Material Finish Weight (g) Box (pcs) Carton (pcs)
:*B‘)A’&LES E|EJ| 100-019-233 | H-42-F14 Stainless Steel (SUS316) Polished 25 50 250
SCREW
MOUNT
ey STAINLESS STEEL HANDLE MG sus|
PULLS
L ‘ ; ®Higher profile allows for easy gripping
PULLS =1 | ¢ , with glove on.
NOBS = 1/ ! —\ rF ®MG-68 is compliant with SEMI standard
7 s _ ! (SEMI S8-0307).
e . ©
LATCH
HANDLES . , ! | .
~ MG-90 4 I ‘ | ‘
© MG-68 \ 2xM5 Depth 8
Tt [ a0 TN T Item Name Material Finish L P | Weight (g)| Box (pcs) | Carton (pcs)
[ |E3| 100-010-488 MG-68 75 | 68 42 100 300
tainl toel 4 Polish
@i |E3| 100-010-073 MG-90 Stainless Steel (SUS304) olished 97 | 90 48 100 300
@Higher profile allows for easy gripping
with glove on.
[ 108
|
—
|
T-100-85 i ‘
100
) 1-100-8CR
E CAD Item Code Item Name Material Finish d D1 D2 | Weight (g) |Box (pcs) | Carton (pcs)
i |EB| 100-010-224 | T-100-8S Stainless Steel (SUS304) Polished M5 | 55 | 82 72 100 300
€ |EE| 100-019-855 | T-100-8CR Brass Chrome M4 | 45 | 8 78 50 -

STAINLESS STEEL HANDLE H-75-BL-100

i Jous

®Angled grip for a comfortable grip.

[Remarks]
®Please use washers for wood or melamine
resin. (Not included)

s | CAD
€ | E3

Item Code

100-010-604

Item Name

Material

Finish

Weight (g)

Box (pcs)

Carton (pcs)

H-75-BL-100

Stainless Steel (SUS304)

Polished

130

20

80

SUGHTSUNE



5

MAREK Industrial a.s. ** marek.eu ** +420541420811**180227
STAINLESS STEEL HANDLE LF-12
®Angled grip for a comfortable grip.

® & 12mm stable and strong handle.

@AS parts set for installing to aluminium frame also available. Content
of the parts set is as follows.

R ST11Nd ‘SITANVH

[Parts Included]

o | CAD

e -

Screw

L IED

Bracket for handle

ltem Code

100-041-492

BAAS
@ @&

[Application Example]
For double door

No worry of pinching your fingers by handles.

[AS Parts Set] Parts set of brackets, screws and AS nuts used for installing to aluminium frame.

@®Truss head screw M5 x 30
LARGE
LF-12-96 HANDLES
LF-12-128 < HANDLES
(FRONT
SCREW
[Handle]
oS | CAD Item Code Item Name Material Finish | L P |Load capacity N |Load capacity kgf| Weight (g) | Box (pcs) | Carton (pcs) RECESSED
i |EE| 100-010-520 LF-12-96 . 108 | 96 182 10 80 PULLS
Stainless Steel )
i |EE| 100-010-521 LF-12-128 Satin | 140 | 128 441 45 211 10 60
(SUS304) PULLS
i |EE| 100-010-522 | LF-12-160 172 | 160 236 10 60 A
KNOBS
l‘/}?\_’l@ Parts Set for Installing to Aluminium Frame Piease refer to the series introduction page WP for details about AS series. LATCH
HANDLES

Item Name

Aluminium Frame

Parts

Weight (g)

AS-LF-12-96-8

Groove Width 8 mm

Handle LF-12-96 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-8M5 : 2pcs

M5 x 10 Hexagon Socket Countersunk Head Screw :

4pcs

100-041-493

AS-LF-12-96-10

Groove Width 10 mm

Handle LF-12-96 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-10M5 : 2pcs

M5 x 10 Hexagon Socket Countersunk Head Screw :
M5 x 12 Hexagon Socket Countersunk Head Screw :

2pcs
2pcs

100-041-494

AS-LF-12-128-8

Groove Width 8 mm

Handle LF-12-128 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-8M5 : 2pcs

M5 x 10 Hexagon Socket Countersunk Head Screw :

4pcs

100-041-495

AS-LF-12-128-10

Groove Width 10 mm

Handle LF-12-128 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-10M5 : 2pcs

M5 x 10 Hexagon Socket Countersunk Head Screw :
M5 x 12 Hexagon Socket Countersunk Head Screw :

2pcs
2pcs

100-041-496

AS-LF-12-160-8

Groove Width 8 mm

Handle LF-12-160 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-8M5 : 2pcs

M5 x 10 Hexagon Socket Countersunk Head Screw :

4pcs

| -

100-041-497

AS-LF-12-160-10

Groove Width 10 mm

Handle LF-12-160 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-10M5 : 2pcs

M5 x 10 Hexagon Socket Countersunk Head Screw :
M5 x 12 Hexagon Socket Countersunk Head Screw :

2pcs
2pcs

Refer to I : FRONT P20, IE : P.48s, IEB : P.706

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL HANDLE H-75-C sus|

®Angled grip for a comfortable grip.

OAS parts set for installing to aluminium frame also available. Content of
the parts set is as follows.

H75-C-66 \

X
>
P4
(=]
-
m
»
)
c
-
r
(2]
Q0

,_
El

LARGE o T

HANDLES ‘

HANDLES J jpis-c1oe f P 9B
(FRONT 2xd Depth (S)

H75-C-128

ot | Item Code Old Item Code | Item Name Material Finish | L H [D|B| P | d|S |Weight(g)|Box (pcs)| Carton (pcs)
1 | EB 100-010-605 100-010-600 | H-75-C-66 . 66| 30 60 23 100 400
Stainless 16| 6 M4 | 7
RECEssED (@A |EEl|  100-010-606 | 100-010-601 | H-75-C-86 steel | Pojished |_281-31:5 80 28 100 400
PULLS [ |EE| 100-010-607 | 100-010-602 | H-75-C-108 108| 32 100 54 50 200
(SUS304) 18| 8 M5 (10
[ca | EB 100-010-608 100-010-603 | H-75-C-128 128| 40 120 70 50 200
PULLS . )
& ltem code has been revised.
KNOBS
LATCH l‘é%]@ Parts Set for Installing to Aluminium Frame Friease refer to the series introduction page I for details about AS series.
HANDLES

[How to Install]

Frame Installation Panel Installation

Screw

€=, BABN
@& &Y.

Bracket for handle

¥
\

-

[AS Parts Set] Parts set of brackets, screws and AS nuts used for installing to aluminium frame.

RoS | CAD Item Code Item Name Aluminium Frame Parts Weight (g)

Handle H-75-C-108 : 1pc

; Bracket for Handle AS-H30 : 2pcs

ed| - 100-041-488 | AS-H-75-C-108-8 G Width 8 -

S roove WIdI & MM 1 oS Nut AS-8M5 : 2pcs

M5 x 10 Hexagon Socket Countersunk Head Screw : 4pcs

Handle H-75-C-108 : 1pc

Bracket for Handle AS-H30 : 2pcs
el - 100-041-489 AS-H-75-C-108-10 Groove Width 10 mm  [AS Nut AS-10M5 : 2pcs -
M5 x 10 Hexagon Socket Countersunk Head Screw : 2pcs
M5 x 12 Hexagon Socket Countersunk Head Screw : 2pcs

Handle H-75-C-128 : 1pc
) Bracket for Handle AS-H30 : 2pcs
| - 100-041-490 AS-H-75-C-128-8 Groove Width 8 mm AS Nut AS-8MS : 2pcs -

M5 x 10 Hexagon Socket Countersunk Head Screw : 4pcs

Handle H-75-C-128 : 1pc

Bracket for Handle AS-H30 : 2pcs
| - 100-041-491 AS-H-75-C-128-10 Groove Width 10 mm  [AS Nut AS-10M5 : 2pcs -
M5 x 10 Hexagon Socket Countersunk Head Screw : 2pcs
M5 % 12 Hexagon Socket Countersunk Head Screw : 2pcs

Refer to I : FRONT P20, I3 : P.48s, I : P.706

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
STAINLESS STEEL HANDLE H-42-B susll 52
=)
m
®Bracket H-42-Z [P is included. Bracket can also be ordered separately. (7]
)
c
[Remarks] =
®Be sure to use supplied brackets for installation. [
[Parts Included] &
®Bracket H-42-Z I
© Spring washer
®Hexagon nut
LARGE
HANDLES
L | 8 HANDLES
R— (FRONT
fr T SCREW
]’ ISl |
No. Part Name Material Finish :|:N
O) Handle Polished i
Bracket H-42-Z i ‘ | \2xd
@ . Stainless Steel (SUS304) [-22rel Polished P RECESSED
[©) Spring Washer Plain PULLS
@ Hexagon Nut al
E CAD Item Code Item Name L H1 H2 B P R d | Weight (g) Bracket Box (pcs) | Carton (pcs) EULLS
€| B3| 100-019-765 H-42-B-9 46 25 8.5 40 15 50 500 KNOBS
30} 100-010-550 H-42-B-8 66 7 6 60 3 M4 20 H-42-Z-6 100 500
[€1|EE| 100-010-552 | H-42-B-14 86 10 80 27 50 250 LATCH
©d|E3| 100-010-551 | H-42-B-1 75 | 30 7 68 85 | e 40 H-42-2-7 50 250 HANDLES
Gl=0) 100-010-553 H-42-B-2 109 1 9 100 4.5 80 H-42-Z-9 50 150
100-010-554 | H-42-B- 12 11 12 1
G )=o) 00-010-55. 3 0 40 10 0 5 M6 0 H-49-2-10 50 50
30 100-010-555 H-42-B-4 130 120 125 50 150
[1|EE| 100-010-556 | H-42-B-15 | 162 150 235 30 60
G 100-010-557 | H-42-B-5 200 188 270 30 60
i |8 50 20 12 6 M8 H-42-Z2-12
[€i | EB 100-010-558 H-42-B-6 250 238 320 20 40
i |EB 100-010-559 H-42-B-7 300 288 365 20 40

Refer to P : P488

TITANIUM HANDLE H-42-BT

9B @Ideal for places with light weight and rust resistance
71 requirements.
T @Titanium handle hardly causes metal allergy.
i ®Since it is non-magnetic, suitable for medical
x devices such as MRI.
@Titanium brackets and mounting nuts also available.
[Recommended Screws] ® Stainless steel handle H-42-B I of the same shape
@®Hexagon nut (back screw mount) also available.

E CAD Item Code Item Name | Material Finish L H1 H2 B P R d | Weight (g) | Box (pcs) | Carton (pcs)
[cd |ER 100-010-350 H-42-BT-2 108 30 1 8 100 4.5 M5 40 20 80
Gl=0] 100-010-349 H-42-BT-4 Titanium | Polished 130 40 10 120 5 M6 63 20 80
G]j=0] 100-010-348 H-42-BT-15 162 50 | 20 | 12 150 6 M8 112 20 80

Refer to I : P487

TITANIUM HANDLE H-42-CT

|‘- ®ldeal for places with light weight and rust resistance
f,i,g‘p,i,ﬁ requirements.
M \ @Titanium handle hardly causes metal allergy.
i ®Since it is non-magnetic, suitable for medical
b devices such as MRI.
@Titanium mounting screws also available.
[Recommended Screws] ®Stainless steel handle H-42-C [P of the same
@®dx (Door thickness+5~S) shape also available.
E CAD Item Code Item Name | Material Finish L H B P R d S | Weight (g) | Box (pcs) | Carton (pcs)
Gll=0] 100-010-352 H-42-CT-2 108 30 8 100 4.5 M5 8 37 20 80
< | ER 100-010-351 H-42-CT-4 Titanium | Polished | 130 40 | 10 120 5 M6 59 20 80
i |EE| 100-010-549 | H-42-CT-15 162 | 50 | 12 | 150 6 M8 | 10 105 20 80

Refer to I : P483

SUGHTSUNE



R STINd ‘S3TANVH

LARGE
HANDLES

HANDLES

(FRONT
SCREW
MOUNT)

HANDLES
(BACK

MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

BRACKET FOR HANDLE AS-H30

aluminium frame.

®Use AS nuts [P for installation.
@®Nuts not included for installing to 6mm groove width aluminium

frame.

[Dimensions]

A Ssus

@®Used for installing back screw mount handle from the front side of

7N
N, S

1
@
T

120

&)
¥

SCREW [Application Example]
MOUNT ~g Hexagon socket
countersunk
RECESSED head screw M53%
PULLS AS-H30
PULLS
&
KNOBS
sold separatel
LATCH ( P y) __ __ - - __
HANDLES % Screws not included.
2x¢5.5 ¢11
<
[How to Install]
\§$’> 1. Fix bracket AS-H30 and back screw mount
handle (sold separately) with mounting screws.
AS nut

2. Lightly fix AS nut (sold separately) and bracket
with mounting screws.

3. Put AS nut (sold separately) into the groove of
aluminium frame, and fix it by tightening the
screw.

~N v
NS
RoH§ | CAD Item Code Item Name Material Finish Aluminium Frame | Weight (g) | Box (pcs) | Carton (pcs)
[c1|EE| 100-080-026 AS-H30 Stainless Steel (SUS304) | Barrel Polished | Groove Width 8, 10 13 100 1000

Refer to I : P.706

BRACKET FOR STAINLESS STEEL HANDLE H-42-Z

@ Bracket for wire pull.

Q : v‘ @ Suitable sizes of handle diameter and screw are as
I———.———— g‘v below.
1
\
~
le—d1—d
l———pdo—

CAD Item Code Item Name | Material | Finish | hi | h2 | di1| d2 |ds| C |Handle Diameter| Screw Size | Weight (g) | 1 pack | Box (packs) | Carton (packs)
[cd|EE| 100-010-570 | H-42-Z-6 1.5/2.5|45| 6.2 10 6 M4 1 200 2000
[Gli=0] 100-010-571 H-42-2-7 Stainless 7.2 1 7 0.9 200 2000

Barrel |1 |3 |5.2 M5
&1 |E8| 100-010-572 | H-42-Z-9 Steel ) 9.2(13 9 16 |2pcs| 200 2000
Polished
[cd|EE| 100-010-573 | H-42-Z-10 |(SUS304) 15 3.5(6.2/10.2|15 15 10 M6 2.7 200 2000
[Gli=0] 100-010-574 H-42-Z2-12 “l45(8.2[12.2|18| 12 M8 4.9 200 2000

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

9
I
ALUMINIUM HANDLE AM =
S
o
[Parts Included] “_U
© Truss head screw M4 x 28 IE
Black/Paint 5
R0
Ivory/Paint
. L N LARGE
HANDLES
S / | RN B |
| ‘ T  SCREW
__ Silver/Anodised ! i

| P |
2xM4 Depth 8
RECESSED
PULLS
PULLS
&
KNOBS
_ LATCH
oS | CAD Item Code Item Name Material Finish Colour L H P Weight (g) Box (pcs) | Carton (pcs) HANDLES
- |EE| 100-017-600 | AM-60I 60 50 15.8 30 -
- |EEl| 100-017-603 | AM-80I Ivory 80 70 19.8 30 -
- |EEl| 100-017-609 | AM-120I Paint 120 110 26.8 30 -
- |E&| 100-017-601 AM-60B - 60 | 29 50 15.8 30 -
Aluminium Alloy Black
- |EE| 100-017-610 | AM-120B 120 110 26.8 30 -
- |EE| 100-017-608 | AM-100S 100 90 23.4 30 600
- |E&|  100-017-611 AM-120S Anodised Silver - 120 110 26.8 30 -
- |EEl| 100-017-614 | AM-310S 310 | 38 | 300 67 10 -

PLASTIC HANDLE PC

®Plastic handle contributes to weight reduction of doors.

[Remarks]

@ Size and finish varies. Please check with actual item.
[Parts Included]

@ Truss head screw M4 x 28

Black

2xM4 Depth 8

P
oS | CAD Item Code Item Name Material Colour L H P B Weight (g) Box (pcs) Carton (pcs)
- |EE| 100-015-502 | PC-45-W 5 | L 35 | 10 7.5 60 -
- |EE| 100-015-503 PC-80-W White 80 68 12 14 60 -
- B8 100-015-504 PC-120-W PS 120 29 108 18.3 60 -
- |E 100-015-505 PC-45-B 45 o8 35 10 7.5 60 -
- |E3 100-015-506 PC-80-B Black 80 68 12 14 60 -
- B8 100-015-507 PC-120-B 120 29 108 18.3 60 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227
HANDLE SGH-200 Antistatic & Antibacterial Type

[Application Example]

@Elastomer coating provides static eliminating and antibacterial effect.

@ Designed to reduce discomfort caused by static when touching a metal handle.

@ Textured, soft handle surface improves grip in manufacturing environments where
lubricants are used.

R STINd ‘S3TANVH

[Specifications]

@ Operating temperature: -30°C ~80°C

[Applications]

®Wagon, medical equipment, pharmaceutical manufacturing equipment, semiconductor
manufacturing and measurement equipment, school facilities, and other facilities requiring
static elimination and antibacterial, etc.

[Remarks]

@Install to a conductive surface to eliminate static. Non-conductive surface has no static
eliminating effect. Discharge by grounding is required.

@ This product can reduce the pain feeling, but not eliminate it. The sense of pain varies for
different people.

[Parts Included]

LARGE
HANDLES

HANDLES
(FRONT

RECESSED

PULLS [Properties of Special Elastomer Coating] @Pan head screw with spring washer M6 x 20 (SUS)
A: Touching a standard metal handle B: Touching an insulated handle
PULLS o9 oo aninsu 200 25—t~
& 10 10 |
KNOBS
R X : B M
LATCH [\ JAAN e . NP
HANDLES / / ( \ | S
/ . ‘ g
5 5 N~
\\ 0 ‘ 1
\ P; |
\\ 175 - M6 Depth 25
0 0 10 15(sec) ° 0 10 15(sec)
E CAD Item Code Item Name Material Colour | Weight (g) Box (pcs) | Carton (pcs)
[c1|EE| 100-013-022 SGH-200 Base Material: PA, Coating: Elastomer Blue 250 1 20

STAINLESS STEEL HANDLE HGH @

@®Wider base for easy cleaning.
@ - ®Silicone rubber gasket is compliant with the Food Sanitation Act.
Wider base [Applicati 1
Toughnass & Beautil i ications
HANDLE for easier PP ! . .
cleaning ®Food processing and production machinery.
- Rubber gasket— °
The silicone rubber mount provides N _/T;
a snug fit between the handle and _ _ _ _ _ _ _ _ _ =
the mounting surface. k}____ Z
|
1 | \
4 |
| =) L
~ ‘ < T
~
HGH-110SM i . @
2/ |
2xM6 Depth 12
HGH-200SM L2
P |
The handle shape and the mirror L+
finish are designed to discourage
dust accumulation. This helps to
suppress bacterial propagation
and allows for faster and easier No. Part Name Material Finish/Colour
cleaning. [©) Body Stainless Steel (SUS304) Mirror
@ Gasket Silicone rubber (Q) Blue
RoHS | CAD Item Code Item Name L1 L2 w H1 P D Weight (g)
-| - 100-037-021 HGH-115SM 130 100 15 47 115 10 144
- | = 100-037-022 HGH-150SM 168 132 18 49 150 12 244
- | = 100-037-023 HGH-200SM 222.5 177.5 22,5 52 200 15 463

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

491

zweiL STAINLESS STEEL HANDLE ZL-2001 m

@ Superior “Zwei L Finish” .
Zwei L represents the very pinnacle of ultra-premium Japanese
hardware design. Contrasting bands of mirror finish and lustrous
satin on a faceted profile give jewel like highlights which flatter any
architectural space.

R ST11Nd ‘SITANVH

[Remarks]
®When installing to thin sheet metal or acrylic sheet, mounting surface may not | Apge
be horizontal and the sheet may warp. Please check with actual item. HANDLES
[Parts Included] _—
HANDLES
@ Truss head screw M4 x 30 (SUS) (FRONT

SCREW

ZL-2001-128

35

Z1.-2001-96 I |
l i w » l ; @% } % RECESSED
ZL-2001-64 i ! - PULLS
| !
u i P 2xM4 Depth 12 PULLS
ZL-2001-32 &
KNOBS
LATCH
HANDLES
T iiemicode Item Name Material Finish L P | Weight(g) | Box (pcs) |Carton (pcs)
| R 100-011-000 Z|-2001-32 38 32 34 20 -
el | EB 100-011-001 ZL-2001-64 70 64 46 12 -
< |E3 100-011-002 ZL-2001-96 102 96 59 12 -
< | ER 100-011-003 Z1-2001-128 Stainless Steel (SUS316) Zwei L Finish 134 128 72 10 -
- |EE| 100-011-087 | ZL-2001-160 166 160 86 10 -
- |EE| 100-011-038 | ZL-2001-192 198 192 100 6 -
- |EE| 100-011-039 | ZL-2001-256 262 256 125 6 -
ZweiL STAINLESS STEEL HANDLE ZL-2002 sUs31s|
@ Superior “Zwei L Finish” .
Zwei L represents the very pinnacle of ultra-premium Japanese
hardware design. Contrasting bands of mirror finish and lustrous
satin on a faceted profile give jewel like highlights which flatter any
architectural space.
[Remarks]
®when installing to thin sheet metal or acrylic sheet, mounting surface may not
be horizontal and the sheet may warp. Please check with actual item.
[Parts Included]
Z1-2002-320 ®Truss head screw M5 x 30 (SUS)
ZL-2002-256 (8] 16—~
| |
ZL-2002-192 : |
I
- 1
ZL-2002-160 _ \ ‘
’ 0
a e 1 <
ZL-2002-128 ‘ @ pis :
ZL-2002-96 - ; -
2xM5 Depth 12
P
E CAD Item Code Item Name Material Finish L P Weight (g) | Box (pcs) | Carton (pcs)
d|EE| 100-011-004 | ZL-2002-96 106 96 165 12 -
d|EE| 100-011-005 | ZL-2002-128 138 128 194 12 -
G li=0] 100-011-006 Z1.-2002-160 170 160 233 12 -
G 100-011-007 ZL-2002-192 202 192 265 6 -
G0 Stainless Steel (SUS316) Zwei L Finish
< | EB 100-011-008 Z|-2002-256 266 256 332 6 -
i |EE| 100-011-009 | ZL-2002-320 330 | 320 395 6 -
d|EE| 100-014-431 | ZL-2002-416 426 | 416 491 4 -
G l=0] 100-014-432 Z1-2002-512 522 512 587 4 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
> = /7
2 Zweil. BRACKET FOR STAINLESS STEEL HANDLE ZL-2301 For Handle ZL-2001 and 2L-2002 @ TEPEED LSS
=
® ‘7 -~ ®Bracket for installing handle ZL-2001 and ZL-2002 of Zwei L series on glass door.
g i > ® Superior “Zwei L Finish” .
F ' i Zwei L represents the very pinnacle of ultra-premium Japanese hardware design. Contrasting
® B ' bands of mirror finish and lustrous satin on a faceted profile give jewel like highlights which flatter
= / any architectural space.
) @For glass door of 4, 5 and 6mm thickness.
LARGE [Remarks]
HANDLES ~ Handles are sold separately. ® When installing to thin sheet metal or acrylic sheet, mounting surface may not be horizontal and the sheet may

warp. Please check with actual item.

HANDLES . '
(FRONT DZL glass mounting bracket $16 (®Gasket for ZL glass mounting bracket $14  (BZL countersunk head screw  (®ZL countersunk head screw
SCREW —_-_Line-surface satin (@Gasket for ZL glass mounting bracket §20 ~ M4x16 M5x16
MOUNT) }'( T
H «© .
B | @ .. © —ure @ o
SCREW ! 945 satin satin
MOUNT -3 10~ a 1.2 X
@2ZL glass mounting bracket ¢25 — o112 ol
RECESSED —-— Line-surface satin
PULLS 1 20(14)61(5) o© do
—  Hr s - (V% A w Al 2%
PULLS H < =‘=‘=':x )
& ¢ 05.5 Glass processing hole
KNOBS Figure above shows @. #5 (glass thickness 4, 5) Glass processing hole ¢ 6
_ =3 Dimensions in ( ) are for Q. #6 (glass thickness 6)
s [Bracket Set for ZL-2001 ¢ 16] w/Screw [Bracket Set for ZL-2002 ¢ 25] w/Screw
Parts set Parts set
No. Part Name Material Finish / Colour| Carton (pcs) No. Part Name Material Finish / Colour| Carton (pcs)
(D |Bracket (¢ 16) Stainless Steel (SUS316)| Zwei L Finish 2 () |Bracket (¢25) Stainless Steel (SUS316)| Zwei L Finish
@ | Gasket (¢ 14) Elastomer (TPE) Clear 4 @ |Gasket (¢14)
Elast TPE | 2
(5 | Truss Head Screw M4 x 16 Stainless Steel Zwei L Finish 2 @ |Gasket (¢20) astomer (TPE) Clear
® |Truss Head Screw M5x 16 Stainless Steel Zwei L Finish
RoHS | CAD Item Code Item Name | Weight (g) | Box (pcs) | Carton (pcs) RoHS | CAD Item Code Item Name | Weight (g) | Box (pcs) | Carton (pcs)
- B2 100-010-978 ZL-2301-2016 18 4 - - |E2 100-010-979 ZL-2301-2025 34 4 -
@Finish: Combination of polished and
e _,.] ) satin.
e Satin
> = = g | ! L [Parts Included]
— — * | ©®Truss head screw M4 X 25 (SUS)
r — = ' | © ‘ T
r — @
i" = P. FaiToIoe
L 2xM4 Depth 10
E CAD Item Code Item Name Material Finish L P H | Weight (g) | Box (pcs) | Carton (pcs)
[cd|EE| 100-012-792 XL-JS165TT _ . 166 | 160 | 30 81 15 150
. Polished and Satin
[e1|E3| 100-012-793 XL-JS260TT Stainless Steel (SUS316) o 260 | 254 | 33 122 10 100
Combination
[cd|EE| 100-012-794 XL-JS360TT 358 | 352 | 36 166 10 100
- Satin ®Finish: Combination of polished and
- satin.
1' [Parts Included]
o | ®Truss head screw M4 x 25 (SUS)
Vo
RN iiem Code Item Name Material Finish L | P | H |Weight(g)|Box (pcs)| Carton (pcs)
EE| 100-012-795 XL-JSR40TT 38 32 | 27 26 30 300
G 100-012-796 | XL-JSR70TT Polish i 70 64 35 20 200
(€1 E8 Stainless Steel (SUS316)| | Olened and Satin
[cd|EE| 100-012-797 XL-JSR100TT Combination 102 96 | 30 51 20 200
[cd|EE| 100-012-798 XL-JSR135TT 134 | 128 63 15 150

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

T
STAINLESS STEEL HANDLE KC-S @ m >
o
m
®Ideal for harsh and high corrosion environments. w
= 5
— g 12 4= Ig
— .
: k ! %
a ‘ 3
Mirror §—
LARGE
. ‘ c | \4.76 HANDLES
Satin Depth 9.5
- HANDLES
I ETNitemicode Item Name Material Finish [ Weight (g) Box (pcs) | Carton (pcs) gggg‘WT
-| -] 100-023-410 KC-S635/M Mirror 08.0 o 20 200 MOUNT)
-] -] 100-023-414 KC-S635/S Satin ' 20 200 HANDLES
- [ =] 100-023-411 | KcC-Se40M Mirror 016 5 20 200 A
_| - 100-023-415 KC-S640/S Stainless Steel Satin ' 20 200 MOUNT
-] -] 100-023-412 KC-S650/M (SUS316) Mirror 127 o 20 200 ECESSED
-| -] 100-023-416 KC-S650/S Satin 20 200 PULLS
-| -] 100-023-413 KC-S660/M Mirror 1524 o 20 200
-] -] 100-023-417 KC-S660/S Satin ' 20 200 PULLS
&
KNOBS
STAINLESS STEEL HANDLE KC-R (NSE) m o
HANDLES

®Ideal for harsh and high corrosion environments.

124=

— | f
Mirror
=~ ] b

Satin ‘ c | \ 4.76
Depth 9.5

W CAD Item Code Item Name Material Finish C Weight (g) Box (pcs) Carton (pcs)
- 100-023-418 KC-R635/M Mirror 20 200

- | - 100-023-422 KC-R635/S Satin 88.9 60 20 200

- | - 100-023-419 KC-R640/M Mirror 1016 67 20 200

—| = 100-023-423 KC-R640/S Stainless Steel Satin ’ 20 200

- | - 100-023-420 KC-R650/M (SUS316) Mirror 107 78 20 200

- | - 100-023-424 KC-R650/S Satin 20 200

- | - 100-023-421 KC-R660/M Mirror 150.4 a8 20 200

- | - 100-023-425 KC-R660/S Satin 20 200
STAINLESS STEEL HANDLE EK-S (k] susaie|

® Ideal for harsh and high corrosion environments.

L

< | D T

~ 3 ‘ &

{ —— ! %]

Mirror ‘ d) ‘ l

Satin 6.35
‘ ¢ " Depth9.5
ALY item Code ltem Name Material Finish c Weight(g) | Box(pcs) | Carton (pcs)
- | - 100-023-426 EK-S635/M Mirror 88.9 106 20 200
- | - 100-023-430 EK-S635/S Satin : 20 200
- | - 100-023-427 EK-S640/M Mirror 101.6 116 20 200
N 100-023-431 EK-S640/S Stainless Steel Satin ’ 20 200
- | - 100-023-428 EK-S650/M (SUS316) Mirror 127 134 20 200
- | - 100-023-432 EK-S650/S Satin 20 200
- | - 100-023-429 EK-S660/M Mirror 20 200
. 152.4 152

- | - 100-023-433 EK-S660/S Satin 20 200

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

O

STAINLESS STEEL HANDLE EK-R

@ Ideal for harsh and high corrosion environments.

R STINd ‘S3TANVH

irror N
M { e d)

LARGE

6.35
FADLES Satin c Depth 9.5
HANDLES
(FRONT —
SCREW ot | CAD Item Code Item Name Material Finish C Weight (g) Box (pcs) Carton (pcs)
MOUNT) <i| - | 100-010-460 EK-R635/M Mirror 20 200
fre| 1| - | 100010464 | EK-ResssS Satin 88.9 % 20 200
SCREW [l - 100-010-461 EK-R640/M Mirror 20 200
MOSINIY - ; 101.6 106
| - | 100-010-465 EK-R640/S Stainless Steel Satin 20 200
RECEssp (G| — | 100-010-462 EK-R650/M (SUS316) Mirror 127 123 20 200
PULLS | - 100-010-466 EK-R650/S Satin 20 200
| - 100-010-463 EK-R660/M Mirror 20 200
EU'-'-S €| - | 100-010-467 EK-R660/S Satin 1524 41 20 200
KNOBS
wen STAINLESS STEEL HANDLE H-35 @
HANDLES
wii : [Parts Included] L 110 =
o Mirror ®Truss head screw |
I
| V— M4 x 45 / i \ 9
I
Iﬁ.._‘____ P — L 9
N | |
L )
b | \2xM4 Depth 11
ot | CAD Item Code Item Name Material Finish L P Weight (g) Box (pcs) Carton (pcs)
- | - 100-036-723 H-35-96-SS Mirror 106 96 95 25 -
- | = 100-036-724 H-35-96-SM Satin 106 96 95 25 -
- | - 100-036-725 H-35-128-SS Mirror 138 128 113 25 -
-| - 100-036-726 H-35-128-SM Satin 138 128 113 25 -
-] = 100-036-727 H-35-160-SS Stainless Steel Mirror 170 160 133 25 -
- | - 100-036-728 H-35-160-SM (SUS304) Satin 170 160 133 25 -
- | = 100-036-729 H-35-192-SS Mirror 202 192 153 25 -
- | - 100-036-730 H-35-192-SM Satin 202 192 153 25 —
- | = 100-036-731 H-35-288-SS Mirror 298 288 208 25 -
- | - 100-036-732 H-35-288-SM Satin 298 288 208 25 -
STAINLESS STEEL HANDLE H-29 @
[Parts Included] L $8 =
B Satin @ Truss head screw
% & M4 x 45 \ T
S ————— N
— N
o L) ‘ ] | l
Q:__ 5, P 2xM4 Depth 11
E CAD Item Code ltem Name Material Finish L P Weight (g) Box (pcs) Carton (pcs)
- | - 100-036-733 H-29-64-SS Mirror 72 64 46 25 -
-| - 100-036-734 H-29-64-SM Satin 72 64 46 25 -
- | - 100-036-735 H-29-96-SS Mirror 104 96 58 25 -
- | - 100-036-736 H-29-96-SM Satin 104 96 58 25 —
- | - | 100-036-737 | H-29-128-SS Stainless Steel Mirror 136 128 - 25 -
- | - 100-036-738 H-29-128-SM (SUS304) Satin 136 128 - 25 —
-| - 100-036-739 H-29-160-SS Mirror 168 160 64 25 -
- | - 100-036-740 H-29-160-SM Satin 168 160 64 25 -
- | - 100-036-741 H-29-192-SS Mirror 200 192 98 25 —
- | = 100-036-742 H-29-192-SM Satin 200 192 98 25 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

5

STAINLESS STEEL HANDLE 82 SERIES @

R ST11Nd ‘SITANVH

LARGE

/_.____._\ HANDLES
— =\

HANDLES

(FRONT
SCREW
MOUNT)
] HANDLES
L - 2 (BACK
1 SCREW
/'\ MOUNT
eorzt RECESSED
T PULLS
I
> -
o PULLS
] &
KNOBS
M
C - LATCH
HANDLES
E CAD Item Code Item Name Material Finish L C H Weight (g) Box (pcs) Carton (pcs)
- | - 100-035-675 8261 182 160 166 25 250
- | - 100-035-676 8262 Stainless Steel Satin 214 192 » 179 25 250
- | - 100-035-677 8263 (SUS304) 246 224 192 25 250
- | - 100-035-678 8264 342 320 231 25 250

L
o2 T
<
@
! P !
E CAD ltem Code Item Name Material Finish L P Weight (g) Box (pcs) Carton (pcs)
- | - 100-023-456 1333128 150 128 203 25 150
- | - 100-023-457 1333160 182 160 228 25 100
- | - 100-023-458 1333192 214 192 253 10 40
Stainless Steel (SUS304) Satin
- | - 100-023-459 1333292 314 292 347 10 80
- | - 100-023-460 1333320 342 320 364 10 80
- | - 100-023-461 1333342 364 342 384 10 80

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
= STAINLESS STEEL HANDLE 11020 sus|
=
» L 012
5
= |
o l @ i
2 | Se el
D |
LARGE : / 10
HANDLES 'E)A:p’:hoiz P
HANDLES
(FRONT
SCREW
MOUNT)
HANDLES
A ] item Code Item Name Material Finish L P Weight (g) Box (pcs) Carton (pcs)
MOUNT, 100-012-961 11020128 150 128 159 25 -
- [E@| 100-012-962 11020160 182 160 85 25 -
EEEESSED —[Em| 100-012-963 11020192 Stainless Steel (SUS304) | Satn | 214 192 93 25 -
—[Ea] 100-012-964 11020320 342 320 128 25 -
PULLS - e8] 100-012-965 11020492 514 492 175 25 -
&
KNOBS
o STAINLESS STEEL HANDLE DIH @
HANDLES
14 4=
L
O 1B
I C 1
L
E CAD Item Code Item Name Material Finish L C H Weight (g) Box (pcs) Carton (pcs)
—[ -1 100-035-679 DIH-096 110 96 57 25 250
—[ =T 100-035-555 DIH-128 142 128 66 25 250
— [ =T 100-035-680 DIH-192 Stainless Steel | ¢ . 206 192 - 83 25 250
-~ =1 100-035-681 DIH-342 (SUS304) ain 356 342 123 25 250
—[ =T 100-035-682 DIH-492 506 492 163 25 250
— [ =T 100-035-683 DIH-592 606 592 189 25 250
STAINLESS STEEL HANDLE 11014 @

[Recommended Screw]
@®Truss head screw M4 X (Door thickness +5~10)

e L 14

i

f
—
OH
|
—_

p M4 x 0.7
Depth 10
E CAD Item Code Item Name Material Finish L P Weight (g) Box (pcs) Carton (pcs)
- |3 100-012-629 11014128 192 128 113 25 -
- |E8 100-012-628 11014192 256 192 136 25 -
Stainless Steel (SUS304 Satin

- |E] 100012627 | 11014342 ' ( ) ' 406 342 187 25 -
- |E3 100-012-626 11014492 556 492 216 25 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL HANDLE 1100

P

_Roli§ | CAD Item Code Item Name Material Finish P H Weight (g) Box (pcs) Carton (pcs)
- | - 100-023-468 1100096 96 40 155 5 -
-| - 100-023-469 1100128 128 40 137 5 -
- | - 100-023-470 1100160 160 40 153 5 -
Stainless Steel (SUS304) Satin
-| - 100-023-471 1100192 192 40 182 5 -
- | - 100-023-472 1100320 320 40 263 5 -
- | - 100-023-473 1100512 512 40 443 5 -
= -
- e :
- / H
I
' c ‘ D
L
ALY item Code Item Name Material Finish L c H D | Weight(g) | Box (pcs) | Carton (pcs)
- | - 100-035-656 40128 Stainl Steel 138 128 166 30 -
ainless Steel )
- | - 100-035-657 40160 (SUS304) Satin 170 160 35 40 198 30 =
- | - 100-035-658 40192 202 192 219 30 -
L
<
I )
| \
I
A
c |
E CAD Item Code Item Name Material Finish C L P Weight (g) Box (pcs) Carton (pcs)
- | - 100-035-659 DSI-110- 96 96 126 135 25 -
- | - 100-035-660 DSI-110-128 128 158 152 25 -
- | - 100-035-661 DSI-110-160 Stainless Steel Satin 160 190 30 190 25 -
- | - 100-035-662 DSI-110-192 (SUS304) 192 222 230 25 -
- | - 100-035-663 DSI-110-320 320 350 380 10 -
- | - 100-035-664 DSI-110-512 512 542 610 10 -

7

R ST11Nd ‘SITANVH

LARGE
HANDLES

HANDLES

(FRONT
SCREW
MOUNT)

HANDLES
(BACK
SCREW
MOUNT

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

SUGHTSUNE



R STINd ‘S3TANVH

MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL HANDLE DSI-120

L
\ ©,
L c 30
LARGE - ‘
HANDLES
HANDLES
(FRONT
SCREW
MOUNT)
AANDLES | [
g@%w (1] Item Code Item Name Material Finish L C Weight (g) | Box (pcs) | Carton (pcs)
MOUNT: -] -1 100-035-665 DSI-120- 96 102 9% 186 10 -
- =1 100-035-666 DSI-120-128 134 128 248 10 -
ﬁEELESSSED — =1 100-035-667 DSI-120-160 | Stainless Steel Satin 166 160 275 10 -
—- | =T 100-035-668 DSI-120-192 (SUS304) 196 192 375 10 -
PULLS - | =1 100-035-669 DSI-120-320 326 320 620 5 -
& - [ =T 100-035-670 DSI-120-512 518 512 992 5 -
KNOBS
us  STAINLESS STEEL HANDLE 1163 sus|
T
__._.___'______,.—-- ¢
o | | =
| |
E CAD Item Code Item Name Material Finish L C H Weight (g) Box (pcs) | Carton (pcs)
- [ =1 100-023-474 1163160 Stainless Stcol 200 160 35 228 25 100
—[ =T 100-023-475 1163192 a(g‘jsszo 4)ee Satin 244 192 35 262 25 100
— | =1 100-023-476 1163320 400 320 36 427 10

STAINLESS STEEL HANDLE 30 SERIES

“hots [ caD

RoHS Item Code Item Name Material Finish L C Weight (g) Box (pcs) | Carton (pcs)
- - 100-035-671 3096 118 96 72 25 200
- | - 100-035-672 3097 Stainless Steel Satin 151 128 90 25 200
- | - 100-035-673 3098 (SUS304) 189 160 108 25 200
- | - 100-035-674 3099 224 192 128 25 200

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL HANDLE XL-CU

Satin

o

2xM5 Depth 15

16 1

e Jsus

@Finish: Combination of polished and
satin.

[Parts Included]
@®Truss head screw M5 x 30 (SUS)

AT item Code ltem Name Material Finish L | H| P [weight(g)| Box (pcs) | Carton (pcs)
@d|E2| 100-010-470 | XL-CUSOTT 82 | 32| 72 112 10 100
@d|E=| 100-010-471 | XL-CU100TT 102 | 34| o2 136 10 100
@i B3| 100-010-472 | XL-CU120TT Stainless Stoal Polishod and S 122 | 36 | 112 163 10 100
ni n n
@i|E| 100-010-473 | XL-CU150TT ainiess stee olshed and Sall 152 | 38 | 142 200 8 80
(SUS303) Combination
©d|E3| 100-010-474 | XL-CU180TT 182 | 40 | 172 234 8 80
@d|E3| 100-010-475 | XL-CU220TT 222 | 42 | 212 282 8 40
@d|E2| 100-010-476 | XL-CU300TT 302 | 44 | 202 372 6 30
@Finish: Combination of polished and
satin.
Satin
L . [Parts Included]
[ ®Truss head screw M5 x 25 (SUS)
T
le1g]
2xM5 Depth 8
AR item Code Item Name Material Finish L | H]| P |Weight(g)|Box (pcs)| Carton (pcs)
- |E8] 100-012-825 | XL-CUR8OTT 80 | 30| 70 101 10 150
- |E| 100-012-826 | XL-CUR100TT Stainless Steel Polished and Satin | 100 | 32 | 90 125 10 150
— [E| 100-012-827 | XL-CUR120TT (SUS303) Combination 120 | 34 | 110 150 10 100
— || 100-012-828 | XL-CUR150TT 150 | 36 | 140 183 5 75

STAINLESS STEEL HANDLE FB

[Parts Included]
©®Pan head screw M5 x 25

9

R ST11Nd ‘SITANVH

LARGE
HANDLES

HANDLES

(FRONT
SCREW
MOUNT)

HANDLES
(BACK
SCREW
MOUNT

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

I
| @ | |
p 2xM5 Depth S
E CAD Item Code Item Name Material Finish L H B T P S | Weight (g) | Box (pcs) | Carton (pcs)
IG1l=0) 100-010-074 FB-90 . 90 26 105 |6 82 10 45 35 280
— Stainless Steel )
©d|EE| 100-010-075 FB-110 Polished | 110 | 28 | 125 |7 | 102 | 12 60 25 200
(8CS13)

< | ER 100-010-076 FB-130 130 32 145 | 8| 120 14 93 20 160

% SCS13 is equivalent of SUS304.

SUGHTSUNE



R STINd ‘S3TANVH

MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL HANDLE KPH

4

-To -

FL
o
- _i_
H

OLight handle with hollow body.

[Recommended Screws]
@d X (Door thickness +10~15)

LARGE
HANDLES
HANDLES
(FRONT No. Part Name Material Finish
O] Body Stainless Steel Satin
@ Nut (SUS304) Plain
CAD Item Code Item Name L H P d Weight (g) Box (pcs) Carton (pcs)
[c1|EE| 100-019-195 KPH-160 176 0 160 a 100 10 100
Recessep (e [EEl| 100-019-196 | KPH-192 208 192 115 10 100
PULLS 4 |EE8| 100-019-197 | KPH-224 240 224 130 10 100
[cd|E8| 100-019-198 | KPH-256 272 50 256 M5 143 10 100
EU'-'-S i|E3| 100-019-199 | KPH-288 304 288 160 10 100
KNOBS
s STAINLESS STEEL HANDLE EC @ @
HANDLES
L 144«
Satin finish [Parts Included]
®Truss head screw M5 x 28
e 3 | T
— Polished finish 4@1 \
s !
. 2xM5 Depth S
P
ot ca0 TN T Item Name Material Finish L [ H] P [ s [ weignht(g) | Box(pcs) | Carton (pcs)
100-017-232 EC-80 i 20 200
[cd |3 00-017-23; C-80S S.atln 80 | 30 75 84
i |EE| 100-017-226 EC-80M Polished 10 20 200
100-017-2 EC-10 ti 1 150
el | 00-017-233 C-100S s§ in 100 | 32 92 102 5 5
[cd|EE| 100-017-227 EC-100M Polished 15 150
100-017-234 EC-12 ti 1 1
[l |EB 00-017-23: C-120S . Sé in 120 | 3a | 112 120 5 50
[ |E8|  100-017-228 EC-120M Stainless Steel Polished 15 150
i |E8|  100-017-235 EC-150S (SUS304) Satin 10 100
- 150 | 36 | 142 148
[c1|EE| 100-017-229 EC-150M Polished 12 10 100
[cd|EE| 100-017-236 EC-180S Satin 10 100
: 180 | 37 | 172 174
4 |EE|  100-010-049 EC-180M Polished 10 100
100-017-237 EC-22 i
e | 00-017-23 C-220S S.atln 220 | 38 | 212 205 8 80
[ |E&| 100-010-050 EC-220M Polished 8 80
L { >—14—=
0 i [Parts Included]
Satin finish @®Truss head screw M5 X 28
I
it \
Polished finish i 6 _® i
2xM5 Depth 11
P
E CAD Item Code Item Name Material Finish L H P Weight (g) Box (pcs) |Carton (pcs)
4 |EE| 100-017-249 | ECH-75S Satin 83 75 115 10 100
i |EE| 100-017-241 | ECH-75M Polished 10 100
100-017-252 | ECH-1 ti 1 1
[ci | EB 00-017-25. CH-100S S? in 108 | 40 | 100 135 5 50
i |Ed| 100-017-242 | ECH-100M Polished 15 150
[e1|EE| 100-017-251 ECH-125S Stainless Steel Satin 133 125 153 10 100
[d|EE| 100-017-243 | ECH-125M (SUS303) 10 100
[cd|EE| 100-017-244 | ECH-150M 158 150 190 7 70
&1 |EE8| 100-017-245 | ECH-200M Polished 208 50 200 244 10 100
[cd|Ed| 100-017-246 | ECH-250M 258 250 280 5 50
— |EEl| 100-017-247 | ECH-300M 308 300 306 5 50

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL HANDLE KB

[Parts Included]
@ Truss head screw M3 x 28 (SUS)

30—

=

25—+ \2xM3 Depth 8

10

e Jsus

10—=

2xM3 Depth 10

KB-30 KB-50, KB-70, KB-90
E CAD Item Code Item Name Material Finish L H P Weight (g) | Box (pcs) | Carton (pcs)
i |EE| 100-011-094 KB-30S Satin 40 400
As Ab As Ab As Ab 18
@ B3| 100011093 | KB-30M Polished s Above | As fibove | As Above 40 400
[€d|EE| 100-011-096 KB-50S Satin 50 o0 45 6 30 300
i |EE| 100-011-095 KB-50M Stainless Steel Polished 30 300
i |EE| 100-011-098 KB-70S (SUS303) Satin 30 300
— - 70 225 65 33
i |EE| 100-011-097 KB-70M Polished 30 300
i |EE| 100-011-100 KB-90S Satin 20 200
- 90 23 85 40
i |EE| 100-011-099 KB-90M Polished 20 200
[Parts Included]
@ Truss head screw M3 x 28 (SUS)
30— 10 L 10 =
g

1
2xM3 Depth 10

DS-30 DS-50, DS-70, DS-90
RoS | CAD Item Code Item Name Material Finish L H P Weight (g) | Box (pcs) | Carton (pcs)
i |EE| 100-011-112 DS-30S Satin 40 400
As Ab As Ab As Ab 15
| R 100-011-111 DS-30M Polished s Above s Above s Above 40 400
G li=0] 100-011-114 DS-50S Satin 30 300
g . N 50 22 45 22
i |EE| 100-011-113 DS-50M Stainless Steel Polished 30 300
IG1l=o) 100-011-116 DS-70S (SUS303) Satin 30 300
— " 70 22.5 65 28
©d|EE|  100-011-115 DS-70M Polished 30 300
100-011-118 DS-90S Sati 20 200
Glleo) .a 0 90 23 85 35
G ]=0] 100-011-117 DS-90M Polished 20 200
[Parts Included]
. @ Truss head screw M4 x 28 (SUS)
Satin finish
Polished finish (
RoS | CAD Item Code Item Name Material Finish L H P Weight (g) Box (pcs) Carton (pcs)
< | ER 100-011-102 DL-70S Satin 20 200
. 70 23 64 44
i |EE| 100-011-101 DL-70M Polished 20 200
100-011-104 DL-90S Sati 20 200
Glloo) .a 0 90 235 84 55
G li=0] 100-011-103 DL-90M Polished 20 200
G’ 100-011-1 DL-11 i i 1 1
©d|EE| 100-011-106 0S Stainless Steel gatm 110 o4 104 o5 5 50
G 1l=o) 100-011-105 DL-110M (SUS303) Polished 15 150
G 100-011-1 DL-1 ti 1 1
i | BB 00-011-108 30S S? in 130 045 124 75 5 50
| EB 100-011-107 DL-130M Polished 15 150
G li=0] 100-011-110 DL-150S Satin 15 150
— - 150 25 144 86
< |EB 100-011-109 DL-150M Polished 15 150

1

R ST11Nd ‘SITANVH

LARGE
HANDLES

HANDLES

(FRONT
SCREW

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL HANDLE KB-SUS304 @

[Parts Included]

R STINd ‘S3TANVH

i @ Truss head screw M3x 28 (SUS)
30— 10 ; L 10—+
|
\ ‘T [
‘ i Q ! T
KB-70S-SUS304 ” @:" u | @:" ‘
KB-50M-SUS304 i
LARGE 25—+ \2xM3 Depth 8 | P 2xM3 Depth 10
HANDLES b
KB-30 KB-50, KB-70, KB-90
HANDLES
FRONT —
gCREW CAD Item Code Item Name Material Finish L H P Weight (g) | Box (pcs) | Carton (pcs)
MOUNT) &g [Em| 100-904-581 | KB-30S-SUS304 Satin 40 400
As Above | As Above | As Above 18
:*B‘)A’g(LES [ |E3| 100-904-580 | KB-30M-SUS304 Polished 40 400
SCREW e | 100-904-583 KB-50S-SUS304 Satin 30 300
MOUNT . - 50 22 45 26
[cd | EB 100-904-582 KB-50M-SUS304 | Stainless Steel Polished 30 300
mecessep (@i |EEl|  100-904-585 | KB-70S-SUS304 (SUS304) Satin -0 o5 o5 s 30 300
PULLS [cd| B3| 100-904-584 KB-70M-SUS304 Polished ’ 30 300
[Gli=0] 100-904-587 KB-90S-SUS304 Satin 20 200
PULLS : 90 23 85 40
& [Gli=0] 100-904-586 KB-90M-SUS304 Polished 20 200
KNOBS
o STAINLESS STEEL HANDLE DS-SUS304 sus|
HANDLES
[Parts Included]
\_ ®Truss head screw M3 x 28 (SUS)
- ‘ 10 L 10—+=—
Il
i |
.—ﬂ | ® |
- ‘ I\ 1 ‘ T
- 4
DS-70S-SUS304 o d
DS-50M-SUS304 ps || \2XM3 Depth 8 : "\ 2xMa Depth 10
DS-30 DS-50, DS-70, DS-90
E CAD Item Code Item Name Material Finish L H P Weight (g) | Box (pcs) | Carton (pcs)
[cd|EE| 100-904-573 DS-30S-SUS304 Satin 40 400
As Above | As Above | As Above 15
[ca | E” 100-904-572 DS-30M-SUS304 Polished 40 400
[Gli=0] 100-904-575 DS-50S-SUS304 Satin 50 o0 45 20 30 300
[cd |EB 100-904-574 DS-50M-SUS304 | Stainless Steel Polished 30 300
[ |EB 100-904-577 DS-70S-SUS304 (SUS304) Satin 70 205 65 28 30 300
€1 |EE| 100-904-576 DS-70M-SUS304 Polished ’ 30 300
[ca | EB 100-904-579 DS-90S-SUS304 Satin 90 23 85 35 20 200
el | 100-904-578 DS-90M-SUS304 Polished 20 200
- [Parts Included]
‘ @Truss head screw M4 x 28 (SUS)

t.. -\
- | | i
DL-130S-SUS304 t DL-70M-SUS304 ‘ @:Q | i
‘ ™\ 2xM4 Depth 10

P
_RoltS | CAD Item Code ltem Name Material Finish L H P Weight (g) Box (pcs) | Carton (pcs)
[cd|EE| 100-904-563 DL-70S-SUS304 Satin 70 o3 64 m 20 200
[cd|EE| 100-904-562 DL-70M-SUS304 Polished 20 200
[cd|EE| 100-904-565 DL-90S-SUS304 Satin 90 235 84 55 20 200
[cd|EE| 100-904-564 DL-90M-SUS304 Polished ) 20 200
[cd|EE| 100-904-567 DL-110S-SUS304 | Stainless Steel Satin 110 o4 104 65 15 150
[cd|EE| 100-904-566 DL-110M-SUS304 (SUS304) Polished 15 150
[cd|EE| 100-904-569 DL-130S-SUS304 S.atm 130 o045 | 124 75 15 150
[cd|EE| 100-904-568 DL-130M-SUS304 Polished 15 150
[cd|EE| 100-904-571 DL-150S-SUS304 Satin 15 150
- 150 25 144 86
[cd|EE| 100-904-570 DL-150M-SUS304 Polished 15 150

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
FOLDING HANDLE HK O FEEAEE
(=]
m
©®90-degree folding handle. »
@®Handle clicks into open and closed position. g
®Oval profile for optimum grip. F
| (7]
o — | = 2
A
L
O LARGE
HANDLES
. N o
[Applications] L © L I-II:AF\{I\CI)[’)\:.TES
© Storage handles for various kinds of equipment, etc. gCREW
[Parts Included] MOUNT)
® Toothed washer size 6 (SUS) HBP/\AI\CIJ%LES
®Hexagon nut for M6 (SUS) b $19 gCREW
J— MOUNT
Load Load i
RoHS | CAD Item Code Item Name| L | P |Capacity|Capacity B " —
| N kgf (9) |(pcs)| (pcs) No. | Part Name Material Finish RECESSED
d|EE| 100-010-011 HK-80 88| 80 125 | 10 | 100 @ Handle | Stainless Steel Polished PULLS
©d|E3| 100-010-012 | HK-100 [108[100| 490 50 136 | 10 | 100 @ Base (SUS304)
G |E3| 100-010-013 | HK-120 [128|120 146 | 10 | 100 QU'-'-S
KNOBS
HANDLE SAZ-121 CR LATCH
HANDLES
. i : f
- e e s s R
e :
2 121
i (119) ©
ol = Syl
| n «
> ‘ e
I
(17.5) 2xM6 Depth 7
102
E CAD Item Code Item Name Material Finish Weight (g) Box (pcs) Carton (pcs)
G ]=0] 100-010-105 SAZ-121CR Zinc Alloy (ZDC) Chrome 63 50 200
|
| I _ ! B 1 [
| | H I
S I =
= l]y’ 122
> i @ T
Jl | ﬁ A
I
102 2xM6 Depth 8
E CAD Item Code Item Name Material Finish Weight (g) Box (pcs) Carton (pcs)
i || 100-019-790 SAZ-122 Zinc Alloy (ZDC) Chrome 85 1 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

X
>
z HANDLE 936
=
‘rg } L : 9 [Remarks]
o o ; ®Screws are not included in nickel finish.
= ‘ (t, [Parts Included]
b ‘, %zj | ©936:55-SCR Truss head screw M4 x 25
[~ % ®936-100-DC  Truss head screw M4 x 28
< 10 s R
! P
I/ 2xM4 Depth S
LARGE
HANDLES J—
ot | CAD Item Code Item Name | Material Finish L P S | Weight (g) | Box (pcs) |Carton (pcs)
HANDLES  _ [EF| 100-010-101 | 936-55-SCR Satin Chrome 50 200
(FRONT . - 66.5 55 8 40
SCREW [c1|E3| 100-019-096 936-55-SNI Zinc Alloy Nickel 50 300
MOUND g |gE| 100-010-003 | 936-100-DC | (ZDC) | Dull Ghrome + Enamel Finish/Clear 12 | 1005 | 10 N 50 200
ioe| ©i[E3| 100-019-127 [ 936-100-5NI Nickel ' 50 200
SCREW
MOUNT:
-, HANDLE 937-102SCR
PULLS |
F———
PULLS : I I
2 » -
KNOBS |
: 112
LATCH | ¥
HANDLES - I ‘ T
| : Ii)?
102
o1~ \2xM5 Depth 10
E CAD Item Code Item Name Material Finish Weight (g) Box (pcs) Carton (pcs)
[cd|EE| 100-019-520 937-102SCR Zinc Alloy (ZDC) Satin Chrome 50 - 1
o m
EREENE.Se 1] ! ®Simple design allows for harmonising with
- L various kinds of equipment.
| y
o T
" /l‘b fam—— — 3 n T
= \ 3 i
i | m W
U ? P ™ 2xd Depth (S)
E CAD Item Code Item Name| Material | Finish L H B | T P d S Weight (g) Box (pcs) | Carton (pcs)
[cd|EE| 100-019-803 AKH-76 76 30 12 8 68 M5 55 30 300
[c1|E3| 100-019-799 AKH-108 Zinc Al Sati 108 14 100 8 80 10 240
©i|E3| 100-019-802 | AKH-120 I?ZCD C)"y Chf‘o':]e 120 |, 1o 0 10 e 130 1 -
[cd|EE| 100-019-801 | AKH-130 130 120 145 - 1
[e1|EE| 100-010-575 AKH-200 200 | 50 | 18 | 12 | 188 M8 | 10 250 10 -
@®Smooth and beautiful appearance.
i L
e 10 160 P1 P2 (10)
| y 1
e Fﬁ
NxM4 Depth 8 w235
l ‘
E CAD Item Code Item Name Material Finish L P4 P2 |N| Weight(g) Box (pcs) | Carton (pcs)
e |EE| 100-012-523 | AOT35-180 180 | - 2 129 100 -
[c1|EE| 100-012-524 AQOT35-340 Aluminium Alloy Anodised 340 160 3 243 50 -
[e1|EE| 100-012-525 AOT35-500 500 160 | 4 358 30 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
>
RECESSED PULL HH-JS Sscrew Mount z
=
[Parts Included] o
HH-JS140-BL ®Pan head screw M4 x 10 i
® Spring washer 4 lg
HH-JS110-BL »
R0
HH-JS90-IV D1 Ds
_ g HH-JS70-1IV 1
. [ 2 LARGE
L j I HANDLES
[
T
. - 2xM4 Depth 7. HANDLES
[How to Install] [Cut Out Dimensions] \ ! y, i l 1 xMa Depth 7.5 cponT
N ‘ il
& D2 6.5
Qﬁaﬂ head screw Mx10 MaX3HE We 0 HANDLES
Spring washer 4 6.5 1 f Wi = (BACK
Spacer B - LN SCREW
i J( C ©) MOUNT)
1 *
8 9.7
W53
P
Designed to install by pinching the - — PULLS
mounting panel with supplied spacers, No. | Part Name Material Finish / Colour ﬁNOBS
spring washers and screws. @ Body ABS + PC Black, Ivory
@ Spacer Steel Clear Zinc Chromate (Trivalent)
- LATCH
oS | CAD Item Code Item Name |Colour| Wi | W2 |Hi| H2 |Hs| D1 | D2 |Ds| P | Ws | Ha |Door Thickness | Weight (g) | Box (pcs) | Carton (pcs) HANDLES
G 100-024-573 HH-JS70-BL | Black 20 10 200
Ci|EB 70 | 43 (38|17 |19]10.5 9| 58| 48|25
i |EE| 100-024-574 HH-JS70-1V Ivory 3 20 10 200
€d|EE| 100-024-575 HH-JS90-BL | Black 25 10 200
— 90 | 63 |44 |21.5|22 78 | 68|31
i |EE| 100-024-576 | HH-JS90-IV Ivory " 0.5-3.2 25 10 200
i |EE| 100-024-577 HH-JS110-BL | Black 110 | 82 |50|24.4 |26 111 96| 90|36 o 38 10 200
i |EE| 100-024-578 HH-JS110-IV | Ivory ) a5 34 10 200
i |EE| 100-024-579 HH-JS140-BL | Black 140 | 109 |64]34 |33] 115 ' 126 1116 | 48 56 10 200
€d|EE| 100-024-580 HH-JS140-IV | Ivory ) 56 10 200

RECESSED PULL HH-JW Quick Installation

®Easy installation by snap-in.

HH-JW140-BL

HH-JW110-BL
D1 +15
HH-JW90-1V
g HH-JW70-IV [
T
\ | J !
I
[How to Install] [Cut Out Dimensions] W. Dorlle
Wi
Max. R6
e i N %
| - B | % [Hole Dimensions]
I £ H3
< A ¥
Wal*“ Item Name | W3 | Board Thickness | Board Thickness | Board Thickness | Board Thickness
° 08 1012 1520 23
- - HH-JW70 46 28.7 29 29.4 30.8
One-touch installation. HH-JW0 | 66| 347 35 35.4 36.8
HH-JW110 88 40.7 41 41.4 42.8
HH-JW140 | 114 54.7 55 55.4 56.8
E CAD Item Code Item Name Material Colour Wi | W2 |Hi| He D1 D2 | Weight (g) | Box (pcs) |Carton (pcs)
G 100-024-581 HH-JW70-BL Black 14 10 200
g 0] 70 43 | 38 | 18,5 | 10.5
i |EE| 100-024-582 | HH-JW70-IV Ivory 3 14 10 200
G li=0] 100-024-583 HH-JW90-BL Black 21 10 200
90 63 | 44 | 229 | 11
< |3 100-024-584 HH-JW90-1V ABS + PC Ivory 21 10 200
+
< | EB 100-024-585 HH-JW110-BL Black 35 10 200
110 83 | 50 | 26.8
i |EE| 100-024-586 | HH-JW110-IV Ivory 115 | as 35 10 200
< |E3 100-024-587 HH-JW140-BL Black 140 | 109 | 64 | 378 ' ’ 53 10 200
G l=0] 100-024-588 HH-JW140-IV Ivory ' 54 10 200

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

X
> .
z RECESSED PULL HH-P semi Compliance
=
m . N . .
w ®Rounded design allows for easy gripping and handling with gloved
g hand (compliant with SEMI standard, SEMI S8-0308).
F -~ B HH-P130 @Clear body suitable for transparent door such as acrylic.
(2 ” &) ®Lead-free PVC material with excellent weather and chemical
= P - resistance.
5 . J.»"f.
L [Applications]
LARGE 3 _,..—-"’ i ® Semiconductor manufacturing equipment and liquid crystal manufacturing
HANDLES < /,»"' A equipment, etc.
) \'\ P [Remarks]
GAF\{’\(‘)%FS % ’ HH-P118 ®Supplied screws are suitable for panel thickness 1~5mm.Other than that,
SCREW ‘\3 ¢ please prepare screws with threaded length above 10mm according to the
MOUNT) panel thickness.
HBP/\A’\CIJEIJ(LES ) . [Parts Included]
8K, [Cut Out Dimensions] @Fixing piece
MOUNT) o ®Truss head screw M4 x 20 (HH-P118)
@ Truss head screw M5 x 20 (HH-P130)
Ls
PULLS 4 h
&
KNOBS @
- | [Installation]
LATCH G:—f - D)8 8
HANDLES ﬁ
|
e ‘ ’
@
\gb.\.
Truss head screw
(Included) (Included)
L \ H ., 2xd Depth 17 P
L2 e 17 =
! (
| —-20.5 ke
T . P
I - GLvAd ——y
o - I 9 5 Y -
QT = P

% L‘

No. Part Name Material Colour

O] Body

B) Fixing Piece pve Clear
ECAD Item Code Item Name| L |[Li|L2| B |[Bi| B2 | H | P | d |t|Ls|Bs| Ba|BoardThickness | Load Capacity N | Load Capacity kgf:i | Weight (g) | Box (pcs) | Carton (pes)
[cd |EB 100-021-824 HH-P118 | 118|93|90| 58 |47|25.5|21.5|104 |M4|4|95|48| 11 111 312 31.8 43 45 -
[&d|EE| 100-013-957 HH-P130 |130/98|92|86 |69|43.5|28 |110|M5|5|99|71|12 460 47 100 | 30 -

Load capacity is for the direction of 3 marked on above drawings.

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

RECESSED PULL AT-100 Quick Installation

AT-100-B

®Easy installation by snap-in.

©

AT-100-BR %
. AT100- - 00 Lo 4ere22e _
91 o i Panel thickness t
e — )
/JI \\ Y
! 1 o
| |5 ¢ i
[Cut Out Dimensions] == l
e—96.37% =
1l
! <
| ¥
W CAD Item Code Item Name Material Colour Panel Thickness t| Weight (g) | Box (pcs) | Carton (pcs)
©d|EE8| 100-017-625 | AT-100-1 Ivory 250 -
d|EE| 100-017-626 | AT-100-BR Brown 0.8 23 250 -
©d|EE| 100-019-414 | AT-100-B Black 250 -
d|EE| 100-013-211 | AT-100-10I Ivory 250 -
i |EEl| 100-013-212 | AT-100-10BR Brown 1.0 22.6 250 -
©d|EE8| 100-013-213 | AT-100-10B Black 250 -
ABS
©d|EE| 100-013-214 | AT-100-12I Ivory 250 -
i |EE| 100-013-215 | AT-100-12BR Brown 1.2 22.4 250 -
©d|EE| 100-013-216 | AT-100-12B Black 250 -
i |EE| 100-013-217 | AT-100-16l Ivory 500 -
[cd|EE| 100-013-218 | AT-100-16BR Brown 1.6 22.3 250 -
©d|EE| 100-013-219 | AT-100-16B Black 250 -
RECESSED PULL AT-70 Quick Installation @
®Easy installation by snap-in.
AT-70-B
fe———65.5———
AT-70-BR
E 3|
T AT70-
70 4 17
62 ™ i Panel thickness t
L Y T
—— \ : anil
[Cut Out Dimensions] \._ - 9
' H © @
! 1 Ll bl
65.7'9" : | < l
! ! J
1 N P Y
[aY
[}
Y
E CAD Item Code Item Name Material Colour Panel Thickness t | Weight (g) | Box (pcs) Carton (pcs)
©d|EJ| 100-015-001 | AT-70-I Ivory 550 -
d|EE| 100-017-627 | AT-70-BR Brown 0.8 12 550 -
[cd|EE| 100-015-000 | AT-70-B Black 550 -
©d|EE| 100-013-220 | AT-70-12I Ivory 1100 -
©d|EE| 100-013-221 | AT-70-12BR ABS Brown 1.2 1100 -
d|EE| 100-013-222 | AT-70-12B Black 128 1100 -
©d|E3| 100-013-223 | AT-70-16l Ivory ' 1100 -
cd|EE| 100-013-224 | AT-70-16BR Brown 1.6 1100 -
d|EE| 100-013-225 | AT-70-16B Black 1100 -

7

R ST11Nd ‘SITANVH

LARGE
HANDLES

HANDLES

(FRONT
SCREW
MOUNT)

HANDLES

(BACK
SCREW
MOUNT)

PULLS
&

KNOBS

LATCH
HANDLES

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

X
> . .
z RECESSED PULL ATS-100 Quick Installation @
m
o ®Easy installation by snap-in.
e
S ATS-100-B
-
(7]
Qo
ATS-100-BR
97
LARGE
HANDLES ATS-100-I L Ll
HANDLES
(Fﬂé)é\lvz 100 3.2 17
a%UNT) 93.5 ™ Panel thickness t
HANDLES . Al
(BACK P — = -, ﬁ,
SCREW . . ! ! 0 S
MOUNT) [Cut Out Dimensions] i : ‘ g
|ttt Pt il P sttt }
RECESSED 97.2+%1 ~
PULLS ‘
PULLS __—_4““—_—__' f
& i (\I
KNOBS
LATCH
HANDLES
E CAD Item Code Item Name Material Colour Panel Thickness t | Weight (g) | Box (pcs) | Carton (pcs)
[cd|EE| 100-019-180 ATS-100-1 Ivory 550 -
[cd|EE| 100-015-002 ATS-100-BR Brown 0.8 125 50 -
[cd|EE| 100-019-476 ATS-100-B ABS Black 550 -
i |Ed| 100-013-226 | ATS-100-16l Ivory 1100 -
[&d|EE| 100-013-227 ATS-100-16BR Brown 1.6 12 1100 -
[cd|EE| 100-013-228 ATS-100-16B Black 1100 -

RECESSED PULL HH-PS99

®Designed to install from the back side of cabinet with screws (see
below).Pull and screws do not appear on the panel surface for clean
appearance.

@Finger hooking part inclined upwards allows for easy holding.

[Applications]

® Amusement equipment, PA (for carrying music apparatus), and furniture, etc.
[Parts Included]

@Binding head tapping screw 4 x 12

w
& 2x¢5.2
&Y

o [~ 351 ¢

=
mgT

[Application Example] [Enlarged View of A]

LI
I

«36*\

[Cut Out Dimensions]

:

Screw centre

< /
. 123
[52]
Lz/ Yt
! o
N
<
J
&
le——— 995 ———
E CAD Item Code Item Name Material Colour Panel Thickness | Weight (g) | Box (pcs) Carton (pcs)
- |EE| 100-010-343 HH-PS99 PP Black 15 41 200 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

9

RECESSED PULL WITH VENTILATOR UTA-105

®With finger hooking part.

@®With ventilator function.

® Ventilating area is invisible from the front.
@®Excellent chemical resistance.

2 UTA-105BL

W

R ST11Nd ‘SITANVH

[Parts Included]
®Countersunk head tapping screw 4 X 20 (SUS)

LARGE
HANDLES

HANDLES
(FRONT
SCREW
MOUNT)

HANDLES
(BACK
SCREW
MOUNT)

[Cut Out Dimensions]

[Installation]

UTA-1051V

=325~

RECESSED
PULLS

PULLS
&

KNOBS

LATCH
HANDLES

105
86

40

/‘N

,/"\.\®

«—31.9—»

L A
Qy | a0
r |

T
\ Ventilator

—+13.7+—=-7.3

99
105
No. Material Finish
@ | Stainless Steel (SUS304) Satin
— ABS -
®
W CAD Item Code Item Name Colour Max. Exhaust Area mm? | Door Thickness Weight (g) Box (pcs) Carton (pcs)
i |EE| 100-026-733 | UTA-105BL Black 15 150
i |EE| 100-026-734 UTA-105GR | Light Grey 136 18~25 40 15 150
i |EE| 100-026-735 UTA-1051V Ivory 15 150

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

10

RECESSED PULL UP-600

R STINd ‘S3TANVH

LARGE
HANDLES

100

HANDLES
(FRONT
SCREW
MOUNT)

HANDLES

ﬁSBéngW [Cut Out Dimensions]

MOUNT)

e

[

22—

I 94

—e 14

PULLS
&

|

KNOBS ‘ N
- -
LATCH P

HANDLES Dep‘h:!” /

~—33.3—*

W CAD Item Code Item Name Material Finish / Colour Weight (g) Box (pcs) Carton (pcs)
ci |EEl| 100-010-236 UP-600 ABS Chrome, Black 25 50 300

RECESSED PULL XLA-HHA

@®Two types of total lengths available: 300mm and 600mm.

H__q ®Can be cut into appropriate length.
P ®Beautiful design based on lines and faces.
" "':__: " XLA-HHA600 ®Size can also be made to order. For further details, please contact
/ local representatives.
[Remarks]

@For lateral use, check if the door is strong enough before use.
®Use 4 brackets (sold separately) for one pull.

XLA-HHA300 [Parts Included]

@ Truss head screw M4 X 10 (SUS)

[Sold Separately]

@ Bracket for sheet metal XLA-HHA40B

2 p 4xM4 Depth 5 1.51@

[
1 - -3 D \\ ‘P/ &
7+,9 L
(sold separately) e—C3* ®

[Installation] [Cut Out Dimensions]

-

8
.5

o

O

&)

®

i i

T

L33
[o
i
—39.5—

=—31*3%

- 2)((1)4.2

Bracket for sheet metal

Bracket for sheet metal (sold separately)

+I+ Metal sheet thickness|

1.6-3 No. Part Name Material Finish
©) Body Aluminium Alloy | Silver Anodised
@ Cover Zinc Alloy (ZDC) Chrome
@ |  Countersunk Head Screw M4 x 10 Stainless Steel -
@ |Bracket for Sheet Metal (Sold Separately) | Stainless Steel (SUS430)| Barrel Polished
[Body]
TN item Code ltemName | L | A | B | C |Weight(g)|Box(pcs)| Carton(pcs) [Bracket for Sheet Metal] Sold Separately
[ |E3| 100-010-190 | XLA-HHA300 |300|100| 50|297| 140 | 100 | — s CAD Item Name | Weigh(g)| Box (pes) | Carto (es)
[c1|EE| 100-010-191 XLA-HHAB00 | 600|200 |150 |597 | 245 50 - €1 |EE| 100-010-189 XLA-HHA40B | 330 | 500 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

11

LARGE RECESSED PULL HH-M

®Large type allows for easy handling with glove on.

@®Handlebar does not protrude from the face of the handle.
OAIl stainless steel pull with handlebar length 200mm and 400mm.

[Applications]
® Special vehicles, containers, large doors and ships, etc.
[Remarks]
®Load capacity represents the strength of the pull itself. Actual load capacity

R ST11Nd ‘SITANVH

LARGE
i 3 . may vary depending on wall and cabinet materials. Please install the pull at ~ HANDLES
.
—-— places with sufficient strength or places reinforced.
Parts Included HANDLES
HH-M400 [ ! (FRONT
@ Truss head screw M6 x 16 (SUS) SCREW
®Nut M6 (SUS) _MOUNT)
[Application Example] [Cut Out Dimensions] L HANDLES
N1x6.5 b (BACK
S I i
Po—t—Po—= || N
P2+«sz ‘ .GN} o
— —— 1 E3 I T RECESSED
2 T 2x¢7 2 ' PULLS
s e Nk
- T Lo e PULLS
—— e | i ? l ﬁNOBS
-6 - &
& LQR ke : ¢ _kNoBS
N2x¢7.5 @5 @ GS No. Part Name Material Finish LATCH
- ) - @ Cup Stainless Steel HANDLES
‘ <« © Bar (SUS304) | Polished
b [©) Cover Stainless Steel (SCS13)
' ) Countersunk Head Screw ’
L @ MBX15 Stainless Steel -
#SCS13 is equivalent of SUS304.
W CAD Item Code ltem Name| L1 | L2 | Ls | P1 | P2 | N1 |Holes N2|Load Capacity N|Load Capacity kgf | Weight (kg) | Box (pcs) | Carton (pcs)
Gll=0] 100-012-306 HH-M200 |260|215|218|235|87.5| 6 8 4500 459 2.6 1 4
G i=0] 100-012-305 HH-M400 |460|415|418|435|125 | 8 10 2200 224 3.7 1 2
t_- — - e ——— — 102
= 90 *k
{ se
1 i 5
1
121
ch N & =
/ N\
— e, p— —
- — & N "= )
ET IT
(*Male Studs / Copper (¥*Female Studs / Copper
M5x0.8 Depth 10) M4x0.7 Depth 6)
RoH$ | CAD Item Code Item Name Material Finish Weight (g) Box (pcs) Carton (pcs)
- | - 100-017-659 ES-611/ET Stainless Steel . 68
t 1 2 2
= 100-012:957 | ESIIT (SUS304) Satin 60 0 00

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

1

2
I
>
=
=}
-
m
(2

STAINLESS STEEL RECESSED PULL HH

®Simple design.

®Satin and polished finish available.

®HH-FB-1, HH-FC-1, HH-FB-1M and HH-FC-1M are compliant with
SEMI standard (SEMI S8-0308).

R STINd

[Parts Included]
®Only for M4 bolt type: Hexagon nut M4 (SUS), washer 4, spring washer 4
[Cut Out Dimensions]

LARGE .
HANDLES 1 (L) (L1
D - | a -l |2
- h - (Pa) T P 115 (Pa) T P1 115
HANDLES . i 4k : ‘ o : a1
(FRONT Polished | j:l- * m( - ':'E“\@ % R ) qr{ - ——3—"\| % 1
SCREW ) o ] &5 2 &F
MOUNT) 4x44.5 L = Ls! =
O vl St T I gl v I ¥l C 4@,,J ]
HANDLES F
(BACK ; -
SCREW No. Part Name Material .F|n|s!1 o
MOUNT) ® Front Plate Satin, Polished '
@ Back Cover Stainless Steel|  Barrel Polished
GR0ERl| (3) | Hexagon Head Bolt M4x 10|  (SUS304) )
PULS @ Hexagon Nut M4 Plain
4 HH-FB, HH-FBM HH-FC, HH-FCM
EU'-'-S CAD [l 0 Item Name |Bolt/Nut| Material | Finish | L1 |L2|Ls|Ls|Hi|H2| Hs [Ha|Hs| P+ |[P2| Ps | Pa |Weight(g)| Box(pcs) | Carton (pcs)
kNoBs ~ [@d|EE| 100-010-090 | HH-FB-1 | M4 Bolt 10 50
138 |96(95/99|88|62|21 |35(64|110(65|14 11.5] 170 —
[l | EB 100-010-091 HH-FC-1 M4 Nut 10 50
LATCH [Gi=0) 100-010-092 HH-FB-2 M4 Bolt 10 100
Satin  |109.5|71|70|73|64|40|14.5 42|88 |38(10.75|13 100 —
HANDLES E&| 100-010-093 | HH-FC-2 | M4 Nut 2 10 | 100
€1 |E&| 100-010-094 HH-FB-3 M4 Bolt 10 100
i 94 161/60|63|60(43|12 45|76 (32| 9 14 80 Y
G |E2| 100-010-095 | HH-FC-3 | M4 Nut St;'t';':fs' 10 | 100
1 | EB 100-012-104 HH-FB-1M | M4 Bolt 10 50
SUS304 138 |96|95(99(88|62|21 |35|64|110(65|14 11.5] 170
€1 |ER 100-012-105 HH-FC-1M | M4 Nut ¢ ) 10 50
ER® 100-012-106 HH-FB-2M | M4 Bolt 10 100
Polished |109.5 |71|70|73|64 (40| 14.5 4288 |38|10.75|13 100 Y
1 |E3| 100-012-107 HH-FC-2M | M4 Nut : 25 10 100
G']]=0] 100-012-108 HH-FB-3M | M4 Bolt 94 |61l60/63]60]43]12 45076 32| o 14 80 10 100
G]=0) 100-012-109 HH-FC-3M | M4 Nut 10 100
120 @ 15 [Parts Included]
86 Vi ‘ (1.8)-»= @®M4 nut, washer 4 (both clear zinc chromate)
©
‘ !
~ jo ix < [Cut Out Dimensions]
N © <
| 100 0
T l 91 [
| o
| ¥
I o T
T D - - -6 Q
o |
100 x4 2x46
No. | Part Name Material Finish
©) Body Stainless Steel (SUS304) Satin RoHS | CAD Item Code Item Name Weight (g) Box (pcs) Carton (pcs)
@ | Thread Part | Stainless Steel (SUS304) |  Plain €1 |Ed|  100-019-030 HH-AS2 50 12 240
@ [Parts Included]
18270 ®MS nut (clear zinc chromate)
o
R 5!
o [Cut Out Dimensions]
&% 1905
—— n 90
‘ . 21
\ L Ty T
=t of g ts
i — 4 | i
S 2xM5 T
100.5 2x$7
No. | Part Name Material Finish _
@ Body Stainless Steel (SUS304) Satin RoHS | CAD Item Code Item Name Weight (g) Box (pcs) | Carton (pcs)
2 | Thread Part Steel Copper Plating - |EE| 100-010-008 HH-AS3 50 12 240

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

513

STAINLESS STEEL RECESSED PULL HH-KL160 SEMI Compliance @ @

®All-metal material suitable for equipment with electromagnetic
shielding requirements.

©®Compliant with SEMI standard (SEMI S8-0600).

@®Use optional spacer when installing to sheet metal.

R ST11Nd ‘SITANVH

[Parts Included]
@ Truss head screw M4 x 8 (SUS)

[Sold Separately] LARGE
®Spacer BSP-8 HANDLES
HANDLES
[Cut Out Dimensions] ggggWT
- 160 _MOWND)
HANDLES
110 2x48 . 103 . 5 21.8 gé%w
~Ra 4 i I R \ ot ( i MOUNT)
ot—————¢ 8§ e sy M o
| P ( @Fa’) : O | RECESSED
A 7 ) T I k J i PULLS
[Installation] . @ ‘;’ PULLS
=y v v “ KnoBs
Spacer L ﬂ il 105 = ¢7.5 AR
L 4.4+He
(sold separately) $12 g g 130 2xM4 Depth 8 LATCH
- HANDLES
Truss head screw M4x8 Spacer (sold separately)
[Body]
oS | CAD Item Code Item Name Weight (g) Box (pcs) Carton (pcs) No. | Part Name Material Finish
<3 100-012-959 HH-KL160 260 8 48 [©) Pull Stainless Steel (SCS13) Satin
| | @ Cup Stainless Steel (SUS304)
[S_pacer] Sold Separately ¥SCS13 is equivalent of SUS304.
oS | CAD Item Code Item Name | Material Finish Weight (g) | Box (pcs) | Carton (pcs)
[d|EE| 100-019-635 BSP-8  |Steel (SUM) | Coloured Zinc Chromate 6 - 4000
STAINLESS STEEL RECESSED PULL HH-KP150 SEMI Compliance (st Jsus
®All-metal material suitable for equipment with electromagnetic
~—152 . 5 +150.5= shielding requirements.
- v'T l J ®Compliant with SEMI standard (SEMI S8-0600).
oi el 3L P
T 38
AL LM sﬂ_ 1y [Parts Included] . .
1114  joulle\ 4xm5  ®MS Hexagon nut (SUS) [Cut Out Dimensions]

132—-‘

< i
| L

32 P e

-—

140135

|t
—

No. | Part Name Material Finish _
@ Body Stainless Steel (SUS304) Satin RoHS | CAD Item Code Item Name Weight (g) Box (pcs) | Carton (pcs)
@ | Thread Part Steel Copper Plating EE| 100-012-960 HH-KP150 390 5 50
120 _— .
~86——={17 *l @ 8)::414_5 ®Ideal for places with light weight and rust
‘ © T ' resistance requirements.
‘ 040 I8 l @Titanium pull hardly causes metal allergy.
1ID <$l © T < @Titanium mounting screws also available.
e
,_m 1 [Cut Out Dimensions]
| ! T ~100—~ ©
‘ 90 2xM4 ~—91 H‘ N
100 S
Bk
ty
2x$6
Thots | CAD Item Code Item Name Material Finish Weight (g) Box (pcs) Carton (pcs)
a0} 100-010-582 HH-AS2-T| Titanium Blast 30 12 240

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
>
z RECESSED PULL UTZ-130
=
‘rg [Parts Included]
o - ®Truss head screw M4 x 8
c
= ®Spacer
-
(7]
Qo
UTZ-130CR
LARGE : = —A
HANDLES - )
UTZ-130WB %, ‘e = [ SNeeooemeeomeeoo Sosooerooor
HANDLES i s { (7 o
(FRONT bt | ( ) i< 3 ;
SCREW _ H
MOUNT) UTZ-130SCP o =N
HANDLES ; ; A f
gB (ﬁ%(w [Cut Out Dimensions] By AA Cutaway view
MOUNT) e 130
| o
A b 0
RECESSED o o g < 3 > | © 7
PULLS ' | | v ’[ I i r— 3
o7 T ‘ J \ — © L
< 99 2x¢8 b
PULLS - 475 | pro———--
& 99 P
KNOBS  [Installation] 116
2xM4 Depth 8
$12 \2
LATCH 077
HANDLES I *-/E No. | Part Name Material Finish/Colour
] (— | @ Body Zinc Alloy (ZDC) Chrome, Satin Nickel, Bronze
Spacer /& [E @ Cup Plastic (HIPS) Black
Truss head screw Mdx8 ©) Spacer Steel (SUM) Coloured Zinc Chromate
E CAD Item Code Item Name Finish Weight (g) Box (pcs) Carton (pcs)
[ |EB 100-010-225 UTZ-130WB Satin Nickel 10 60
[c1|EE| 100-010-226 UTZ-130CR Chrome 105 10 60
i |EE| 100-010-717 UTZ-130SCP Bronze 10 60

RECESSED PULL SD-160

[Parts Included]

@Truss head screw M4 x 28 (for wood)
[Sold Separately]

@ Spacer BSP-8

[Recommended Screws]

®Truss head screw M4 x 8

SD-160WB
164
SD-160CR ; Vo
s ]
L — < = o2
e T B
[Installation] [Cut Out Dimensions] ; T l 1
»12 112 -
e (7.7 [ 3
“) ‘ * | © G
f T ‘ [ 1 ¥ ¢Z7
N Il _ | — — !. o ko
| T e 975 T 4.4
| i a . S
Aruss head screw M4 x 8 \ ' }gg 912 oS
‘ Spacer (sold separatel
Spacer (sold separately) 2x¢8 2x\M4 Depth 8 p ( p y)

[Body]

Weight | Box | Carton
(9) | (pcs) | (pcs)

RoHS

CAD Item Code Item Name Finish

[cd|EE| 100-010-194 SD-160WB White Bronze Plating 184 10 60
[cd|EE| 100-010-181 SD-160CR Chrome 176 10 60
[S_pacer] Sold Separately No. | Part Name Material Finish / Colour

) . Weight| Box |Carton White Bronze Plating
RoHS Item Code Item Name | Material Finish i ’
o (@ |(pcs)| (pes) | Body |ZincAlloy (ZDC) Chrome
[e1|EE| 100-019-635 BSP-8 |Steel (SUM) | Coloured Zinc Chromate| 6 - | 4000 @ Cup ABS Black

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

515

STAINLESS STEEL RECESSED PULL HH-KS114

[Parts Included]

®Space

@ For sheet metal t = 2: truss head tapping screw M4 x 8 (SUS)
®For wood panel t = 20: truss head tapping screw M4 x 15 (SUS)

r

R ST11Nd ‘SITANVH

% & M
P R — . { LARGE
) L \E . 5 HANDLES
I e [OR P _—
i [ al HANDLES
N J (FRONT
; SCREW
83 © _MOUND)
: : HANDLES
[Cut Out Dimensions] BACK
g 0 o SCREl
) MOUNT)
I i Ds T @)\\ =
1 Il
‘ = — | RECESSED
—————D 13 ; _J ‘ L * ¢ PULLS
‘ J‘ [} L g : T ' 010>
‘ = 86 0 R PULLS
87 ?9 2o ¥ &
96 5 2xM4 Depth 8 KNOBS
LATCH
HANDLES
No. | Part Name Material Finish
©O) Body Stainless Steel (SCS14) Polished/Satin
i
@ | CUp  |ginless Steel (SUS304) Satin
Truss head screw M4 x 8 ® | Spacer -
3 SCS14 is equivalent of SUS316.
M CAD Item Code Item Name Finish Weight (g) Box (pcs) | Carton (pcs)
| R 100-010-583 HH-KS114M Polished 110 10 60
| BB 100-010-584 HH-KS114S Satin 10 60

STAINLESS STEEL RECESSED PULL HH-DS114

[Parts Included]
®Spacer

@ For sheet metal t = 2: truss head tapping screw M4 x 8 (SUS)

@ For wood panel t = 20: truss head tapping screw M4 x 15 (SUS)

[Cut Out Dimensions]

foo)
)
A
[9)

1.5

I , : _ g
H I | I 1
! T
87 ) S o © 010 L«
96 = - 2
o <
2xM4 Depth 8
No. | Part Name Material Finish
® Body Stainless Steel (SCS14) Polished/Satin
"
% SC”p Stainless Steel (SUS304) Satin
Truss head screw M4 x 8 pacer -
#%SCS14 is equivalent of SUS316.
ALY item Code ltem Name Finish Weight (9) | Box (pcs) | Carton (pcs)
IG1l=0) 100-010-585 HH-DS114M Polished 105 10 60
G l=0] 100-010-586 HH-DS114S Satin 10 60

SUGHTSUNE



1

6
I
>
=
=}
-
m
(2

R STINd

LARGE
HANDLES

HANDLES

(FRONT
SCREW
MOUNT)

HANDLES

(BACK
SCREW
MOUNT)

RECESSED
PULLS

PULLS
&
KNOBS

LATCH
HANDLES

MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL RECESSED PULL HH-K

[How to Install]

[Cut Out Dimensions]

i Jsusaie

®Designed to install by pinching the door with body and cup. (Sheet
metal thickness: Max. 2mm).

[Parts Included]
@For sheet metal t = 2: truss head tapping screw M4 X 10 (SUS)
@ For wood panel t = 20: truss head tapping screw M4 x 15 (SUS)

114

26 4 +15-4=

| ] f
fandl I | b~ ©
A\ i "‘iff’,' NI 3

I |
. | *
8 o
2

E CAD Item Code
[e1|EE| 100-012-952

$4.5
107.6
No. Part Name Material Finish / Colour
©) Body Stainless Steel (SCS14) Polished
@ Cup ABS Black
3% SCS14 is equivalent of SUS316.
Item Name Door Thickness Weight (g) Box (pcs) Carton (pcs)
HH-K Max. 2 90 10 60

STAINLESS STEEL RECESSED PULL HH-D

é

[How to Install]

[Cut Out Dimensions]

i Jsusaie

®Designed to install by pinching the door with body and cup. (Sheet
metal thickness: Max. 2mm).

[Parts Included]
@For sheet metal t = 2: truss head tapping screw M4 x 10 (SUS)
@®For wood panel t = 20: truss head tapping screw M4 x 15 (SUS)

14 At A5e
* 96
<& t
| / g | N T '
—r Jr 0 $ i ! ‘63)‘3 (tl oy ﬁ
- , - N : | J g l ®
I\ | N ' i ' I 1
2 83 © (5/
86 N
96 ©
<
2xM4 Depth 8
No. Part Name Material Finish / Colour
[O) Body Stainless Steel (SCS14) Polished
@ Cup ABS Black
% SCS14 is equivalent of SUS316.
E CAD Item Code Item Name Door Thickness Weight (g) Box (pcs) Carton (pcs)
[cd|EE| 100-012-951 HH-D Max. 2 85 10 60

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

1

z
>
z
=]
-
m
&
T
c
-
-
»
2

RECESSED PULL 5103

[Remarks]

@ Bracket for sheet metal not included.
[Parts Included]

@®Truss head screw M4 x 12

LARGE
HANDLES

.~ Mo —
Hi

HANDLES

(FRONT

SCREW
L —— MOUNT)

Ly HANDLES
(BACK
SCREW
MOUNT)

[Cut Out Dimensions]

h e

> ha —<—

| )
4.3 ! 7
2 <& 2xM4 Depth 5,/ | b, b
'\ I T PULLS
Depth: hs [Bracket for Sheet Metal] Example (for 5103-80) &

-~ KNOBS
80 2x¢4.5 14.5
60 +f+15

P P | LATCH
Ls ﬂ HANDLES

RoHS | CAD Item Code ltem Name | Material Finish Li| L [Hi| Hz2 | h1 | h2 |P1|P2|Ls|Hs| Ps |R1|Rz2| hs |Weight(g)|Box (pcs)|Carton (pcs)
EE| 100-014-085 5103-55 |Zinc Alloy| White Bronze |55|31.5|40|31.5|15.5|12.5|32|16|46|35|10 |2 |18|12.5| 42 40 160
EE| 100-014-084 5103-80 (ZDC) Plating 80(42 |50(40 |18 |14 |60(10|70|44| 45| 3 |22|14 88 20 80

QYR

RECESSED PULL HH'UD Under Development @

@ Grips on both sides allow the door to be moved in either direction.

®Solid grip interior with rounded edges for optimum comfort.

©®SEMI-compliant large size (SEMI S8-0915) and mini size with clean
appearance are available.

B8

Toughness & Beautility

HANDLE

HH-UD120SH

HH-UD156SH
~B
~A -+
— al
<
t _ i I T {978 29.5 ¥
<A + i 1 l i
80— ~B «
120 245 le—— 100 — 5.5 26
Cutaway view A-A 156 8 315
- v 3 . cE Cutaway view B-B
e I v 5 g‘
% £ “7 g
5! 10 [=F<]
105 82 129
E CAD Item Code ltem Name Material Finish Load Capacity N | Load Capacity kgf | Weight (g) | Box (pcs) | Carton (pcs)
©d|E8| 100-037-024 HH-UD120SH Staint ol Satin - - -
©d|EE| 100-037-025 | HH-UD120SM ?2;;?;/66 Mirror - - -
d|EE| 100-037-026 HH-UD156SH ABS+PC Satin - - -
i |EE| 100-037-027 | HH-UD156SM Mirror - - -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

18
I
’g STAINLESS STEEL TRUNK HANDLE HCT-150 High Load Capacity m
=
EIJ ®The handle retracts automatically by a spring.
e
= [Parts Included]
® @ Truss head screw M5x12 (SUS)
o @ Bracket for sheet metal (SUS)
%6 [Cut Out Dimensions]
TN I
LARGE ’ @\ M | T T |
HANDLES — | T | ©© T |
4 8 8 J 1 © o 0 I
_ [ | "% & T—- T
BaF ol
gCREW B l
__ WouNm = |
HANDLES z a2 146
(BACK
a%%!ml) [Installation]
>'24L Screw (included) Bracket (included)
RECESSED
PULLS , Bracket

\—|—/
PULLS
& 150 @ 1
KNOBS 127 (23) 144 \ ‘\.
— Ll 13 - \ 135 Recommended thickness 0.5~3.2 mm
LATCH \
HANDLES 7 1 ‘/® " No. Part Name Material Finish / Colour
= = ) = T p—— _ N
1] 1 T B R E RN B O] Body Stainless Steel '
g @ 3 @ Handle (SCS14) Polished
i ©) Bumper EPDM Black
\ : <\ l | @ Spring Stainless Steel -
4XM5' Depth 12 [ ® | Bracket for Sheet Metal (SUS316) Barrel Polished
%SCS14 is equivalent of SUS316.
E CAD Item Code Item Name Load Capacity N | Load Capacity kgf Weight (g) Box (pcs) Carton (pcs)
[cd|EE| 100-017-557 HCT-150 980 100 990 1 1
®The handle retracts automatically by a spring.
X - .
[Parts Included] [Cut Out Dimensions]
®Truss head screw M5x8 185.9
®Bracket for sheet metal i e _|
l q el 4|
| o |
1 ~ !
e |
[Installation]
{8 -
T ——— Screw (included)
VAl %
Bracket (included)
==
!

No. | Part Name Material Finish / Colour
140 @ Body Zinc Alloy
115 N o @ | Handle (ZDC) Chrome
i ! Elastomer
I | 1 ® Grip (TPE) Dark Blue
& @ |Back Cover Szt?i(i\ﬁlz C) Coloured Zinc
l ® Shaft (ZDC) ¥ Chromate
- (Trivalent)
@ ® | Spring Steel (SWP)
A-A Cutaway view @ | Screw | Steel (SWCH) — —d -
oloured Zinc
Bracket | Steel (SPCC) | o e (rvalen
©) Screw | Stainless Steel Black
E CAD Item Code Item Name Load Capacity N Load Capacity kgf Weight (g) Box (pcs) Carton (pcs)
[cd|EE| 100-901-272 MUD-140 294 30 620 5 20

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

1

I
>
=z
=]
-
m
@
)
c
-
[
»
2

TRUNK HANDLE TMU-115

®Both back screw mount and front screw mount is available.

®Spring loaded trunk handle.

®Small type (TMU-100) also available. For further details, please
contact local representatives.

[Parts Included]

@ For back screw mount: Truss head screw M5 x 6

@For front screw mount: Countersunk head wood screw 4.8 x25 and LARGE
4.8x20 HANDLES

HANDLES
(FRONT
SCREW
MOUNT)

HANDLES
(BACK
SCREW
‘ MOUNT)
S —
( ] 4x¢5.1 4102 4xM5 Depth 8

RECESSED
S 2 15 PULLS
©
No.| Part Name Material Finish / Colour EUU—S
— @® | Body i KNOBS
o} 2 Handle Zinc Alloy (ZDC) Chrome
o .
=4 ©)] Grip LATCH
@ |Case Cover 1 |Elastomer (TPE) Dark Blue HANDLES
® |Case Cover 2
® | Back Cover | Steel (SPCC) |Coloured Zinc Chromate
@ Shaft Zinc Alloy (ZDC) Nickel
Spring Steel SWP | Coloured Zinc Chromate
© | Pivot Ring - 5103-31
Screw Steel (SWCH) | Coloured Zinc Chromate
E CAD Item Code Item Name Load Capacity N Load Capacity kgf Weight (g) Box (pcs) Carton (pcs)
- |EEl| 100-901-273 TMU-115 392 40 460 10 40
TRUNK HANDLE PT-148 TEST
METHOD 1

®Spring loaded trunk handle.

[Cut Out Dimensions]

110 120

80—
80—

119
; View from B '%, View from C
1‘3‘2 4x4.4 ¢12 Depth 0.5 No.| Part Name |Material | Finish / Colour
20 >
103 g,,4 [©) Body Zinc Alloy Grey.E'nameI
. g peain @ Handle (z0) Finish
- / ® Shaft Plain
[ ' Ra =3 == 8 i
T f F > ?} H @ Spring | Steel (SW) Clear ZIIl’]C Chromate
i oo (Trivalent)
R 3 ©& "
© ¢ ® | Back Cover Steel Coloured Zinc
l L!@ i y @'7 L A 4 (SPCC) | Chromate (Trivalent)
A
109 £ 17 A-A Cutaway view 119 ® | Bumper PUR Clear
o) Countersunk | Steel Coloured Zinc
Head Screw | (SWCH) | Chromate (Trivalent)
E CAD Item Code Item Name Load Capacity N Load Capacity kgf Weight (g) Box (pcs) Carton (pcs)
G l=0] 100-019-183 PT-148 490 50 645 20 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

52
2%
58 STAINLESS STEEL RING PULL 980643 TEST @
@O METHOD 2
f}‘, @®The handle retracts automatically by a spring when not in use.
e
F [Parts Included]
g o o @ Tapping screw 3.5% 16 (SUS)
6 [Cut Out Dimensions] [For Sheet Metal]
1 |
(7 = ¢9 Depth 4 Spacer and M3
LARGE | &_; © © T ~— 43—~ countersunk
HANDLES (o) = o] /) ) ) : head screw not
- - k_/ 8 0 ; f _ ///] included.
HADLES @\)J%J { 0 I\ M3 countersunk
K1

SCREW NS i R 33\ | | head screw
MOUNT) 60 | Spacer

HANDLES 2 @ @) R1s
(BACK A /)
SCREW 44 §7 R40
MOUNT) -
v bl 2e

RECESSED
PULLS

CAD Item Code Item Name Material Finish |Load Capacity N | Load Capacity kgf | Weight (g) | Box (pcs) | Carton (pcs)
QU'-'-S EE| 100-011-739 980643 | Stainless Steel (SUS304) | Polished 245 25 51 10 200
KNOBS
e STAINLESS STEEL RING PULL 980641, 980642 w2 fsus
HANDLES

@®The handle retracts automatically by a spring when not in use.

[Parts Included]
©980641: Tapping screw 3x 16 (SUS)
©980642: Tapping screw 3.5 X 16 (SUS)

[Cut Out Dimensions] [For Sheet Metal]
Y $8.2 Depth 3 Spacer and M3
\ (€} = @’T Ls—» countersunk
b . head screw not
/3 A - 45 (/4] included.
&%J £ | & ‘ 7 M3 countersunk
% \ head screw
980642 980641 1 i y /)
“:Lzﬂ 4xpdi 2 N ‘ | Spacer
P1 \$de

fos | CAD [ Lo ] item Name|  Material | Finish |Li|Le| Ls |Hi|He| Hs | D | t |Pi|Pa|ds | a |02 Capoly | Load Capacity Weight) Box |Carton
| N kf () |(pes)| (pes)
[&d|EE| 100-011-737 980641 |Stainless Steel Polished 38|18 (24.5/44|19|19.5/31 |10 |28|34(4 |6.2 196 20 21 | 10 | 500
[cd|EE| 100-011-738 980642 (SUS304) 50|27|25 |60(25|25 |41| 9.5/35(45|4.4|7 245 25 36 | 10 | 200
STAINLESS STEEL RING PULL 980640 TEST
METHOD 2

@®The handle retracts automatically by a spring when not in use.

[Parts Included]

@ Tapping screw 3 X 16 (SUS)

[Cut Out Dimensions] [For Sheet Metal]
3x¢8.2 Depth 3 Spacer and M3
. o ucg countersunk
\ g I head screw not
oo = (L4 included.
M3 countersunk
3xd4 ¢7 head screw
Spacer
=

ECAD Item Code Item Name Material Finish |Load Capacity N | Load Capacity kgf | Weight (g) | Box (pcs) | Carton (pcs)
[e1|EE| 100-011-740 980640 | Stainless Steel (SUS304)| Polished 196 20 23 10 300

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

—

STAINLESS STEEL RING PULL 26700

CAD
30)

[Remarks]

@ Please install the top and bottom correctly to prevent handle from hanging out.

[Recommended Screws]

@ Countersunk head tapping screw 3.5

[Cut Out Dimensions]

|

~
n

e

4x¢4.2 68

I
>
=z
=]
-
m

@
)
c
-
[
»
2

6.5

LARGE
HANDLES

42—~

HANDLES
(FRONT
SCREW
MOUNT)

HANDLES

(BACK
SCREW
MOUNT)

Item Code

Item Name

Material

Finish

Weight (g)

Box (pcs)

RECESSED
Carton (pcs) PULLS

100-096-011

26700

Stainless Steel (SCS14)

Polished

120

10

100

%SCS14 is equivalent of SUS316.

PULLS
&
KNOBS

STAINLESS STEEL RING PULL 26901

[Remarks]

@ Please install the top and bottom correctly to prevent handle from hanging out.

[Recommended Screws]

@®Countersunk head tapping screw 3.5

LATCH
HANDLES

44
[Cut Out Dimensions]
‘ﬁma 3—>+9
- 16— o
¥ i
0
o o
<t © 0
['2)
BN
] {3} /
- ¥
4x94.5 08
CAD Item Code Item Name Material Finish Weight (g) Box (pcs) Carton (pcs)
B3| 100-096-010 | 26901 Stainless Steel (SCS14) Polished 85 20 100

¥SCS14 is equivalent of SUS316.

STAINLESS STEEL RING PULL 26900

@[z|

[Remarks]

@Please install the top and bottom correctly to prevent handle from hanging out.

[Recommended Screws]

@®Countersunk head tapping screw 3.5

le—— 38 —

[Cut Out Dimensions]

—+ 15 =

/ TZBIST S 27+ 9
| |
® O Jcell
O
4x$4.3 ¢8
CAD Item Code Item Name Material Finish Weight (g) Box (pcs) Carton (pcs)
EE| 100-096-009 26900 Stainless Steel (SCS14) Polished 45 20 100

X SCS14 is equivalent of SUS316.

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL HATCH PULL ST-90, ST-115 @ @

®Ildeal for use in places where projection from surface is not permitted,
9 such as switch boards and inspection ports.
®Built-in spring prevents handle from hanging out.
® Vertical use and ceiling mount are possible.

R STINd ‘S3TANVH

ST-115

[Applications]
®Control panels, switch boards, and inspection ports, etc.
[Remarks]

II:I/:\?I(E)EES @For vertical use and ceiling mount only. Do not use on the floor.
[ @For vertical use, please install the top and bottom correctly.

(rggn(%ss [Parts Included]

a%%lil\l}l) ®ST-90: Countersunk head wood screw 3.5 x 22 (SUS)

®ST-115: Countersunk head wood screw 3.5 x 25 (SUS)

HANDLES
SCREw |
MOUNT) [Application Example] I:Elzh S
had o —
- . Top o
RECESSED Ceiling mount Vertical \ B H1 H
PULLS use @ | N
o 1=
PULLS
&
KNOBS <> r J
\
LATCH 2o 3 3 I 3
HANDLES Q —*:\; W.//
\ I;
a r
Bottom\2%04.5 ¢7.5
E CAD Item Code ltem Name Material Finish| L | L1 | L2 |[Ls| H | Hi | H2 | J | B | B1 | t | P |Weight(g) Box (pcs)| Carton (pcs)
[ |EB 100-010-240 ST-90 Stainless Steel Satin 90 |66.2|30.2|57|35.5|23.2(10.5|2.2| 22 |18.5(3.8| 80 68 30 300
- |E® 100-010-241 ST-115 (SUS304) 115|86.2|140 |67|42 |26 |13 |25|25|20 (4 (102 102 20 200
STAINLESS STEEL HATCH PULL ST-80, ST-100 (sEJsus

®Ideal for use in places where projection from surface is not permitted,
such as switch boards and inspection ports.
@Thick and smooth handle.

[Applications]

®Control panels, switch boards, and inspection ports, etc.
[Remarks]

@For vertical use only.Do not use on the ceiling and floor.
®Please install the top and bottom correctly.

[Parts Included]

®ST-80: Countersunk head wood screw 3.5 16 (SUS)
@®ST-100: Countersunk head wood screw 3.5 % 20 (SUS)

[Application Example] B 4P 1.8

[ﬁH1
i )
0 a9 ! \g?fTw : 1
1 d
(b
& I

Bottom\ 2x¢4.5 ¢7.5

ECAD Item Code Item Name Material Finish L L1 L2 H | Hi | B | P |Weight (g) | Box (pcs) | Carton (pcs)
[c1|EE| 100-010-244 ST-80 80 | 50 | 45 18 | 25 | 18 | 68 48 30 300

Stainless Steel (SUS304) Satin

[ed|Ed|  100-010-245 ST-100 100 | 63| 55.2 | 2132|2085 66 20 200

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

3

STAINLESS STEEL HATCH PULL HR m @

®ldeal for use in places where projection from
surface is not permitted, such as switch
boards and inspection ports.

R ST11Nd ‘SITANVH

TEP [Applications]
| | 1.5~ @Control panels, switch boards, and inspection
| € s ) \@ ports, etc.
5L o _ —1F [Remarks] LARGE
, @For vertical use, please install the top and bottom
HR-90S  HR-110S HR-1355 ; | P P HANDLES
Lo [ ] correctly.
] [Parts Included] wcl)%TES
@®HR-908S: Countersunk head wood screw 3.5 X 22 gCREW
T (8US) _MOUNT)
@ ®HR-110S & HR-135S: Countersunk head wood ~ HANDLES
(BACK
T screw 3.5x 25 (SUS) SCREW
Bottom MOUNT)
E CAD Item Code Item Name | Material |Finish| L |[Li| P |[H|D| A |E| F |G |Load Capacity N | Load Capacity kgf | Weight (g) | Box (pcs) | Carton (pcs)
©d|EE| 100-012-614 HR-90S | Stainless 90|52| 76|32|36| |, |, |4 127 13 49 30 300
| EB 100-012-615 HR-110S Steel Satin [110 |64| 94 |38|42 98 10 59 20 200
G l=0] 100-012-817 HR-135S | (SUS304) 135|90|115|50(55(1.2(25| 12.2|12 74 7.5 88 15 150
STAINLESS STEEL HATCH PULL HR-RS a2 Jsusies

HANDLES

®Ildeal for use in places where projection from
surface is not permitted, such as switch
boards and inspection ports.

18.5

V el I 2445

l./ 24> [Applications]
L-! 2 Top » ®Control panels, switch boards, and inspection
r =N ports, etc.
HR-110RS HR-90RS e [Remarks]
1] @For vertical use, please install the top and bottom
| correctly.
-0 [Parts Included]
@ Countersunk head wood screw 3.5 x 22 (SUS)
D
A,
Bottom
W CAD Item Code Item Name Material Finish| L1 |L2| P | H | D | Load Capacity N | Load Capacity kgf | Weight (g) | Box (pcs) | Carton (pcs)
& |EE| 100-019-058 HR-90RS |Stainless Steel Satin 90 |52|76|32|36 127 13 46 30 300
[d|EE| 100-019-059 HR-110RS (SUS304) 110 |64 | 94 | 38| 42 98 10 55 20 200

[Parts Included]
@Truss head screw M4 x 25

21
2 eple M4 Depth 10
<
=
19
: CAD Item Code Item Name Material Colour Weight (g) Box (pcs) Carton (pcs)
@|E| 100-012-074 | GD-20 ABS Black 5 50 500

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

STAINLESS STEEL PULL HS @

' g ©Elastomer material provides soft and comfortable
T 7 touch feeling.
t

i

®Stainless steel is used for the base part.
®Stainless steel pull US P also available.

2x3.3 (6.6

R STINd ‘S3TANVH

[Parts Included]

-
j . a5 T [_‘ @®Raised Countersunk head wood screw 3.1 x20 (SUS)
LARGE o 3 )
HANDLES HS-70S L
HANDLES 41
(FRONT e
SCREW
MOUNT) 1
HANDLES No. | Part Name Material Finish / Colour
gBéFC{JgW ©) Base Stainless Steel (SUS304) Satin
MOUNT) @ Knob Elastomer (TPE) Black
RECESSED E CAD Item Code Item Name L1 L2 P B1 B2 H t Weight (g) Box (pcs) | Carton (pcs)
PULLS i |EJ| 100-012-192 | HS-60S 60 30 44 16 9 25 5 13 40 400
[cd |EB 100-012-193 HS-70S 70 38 53 17 11 30 6 20 30 300
EULLS Refer to I : P477
KNOBS
o STAINLESS STEEL KNOB RS-38S (e Jsus
HANDLES
[Parts Included]
26 ®Truss head screw M4 x 30 (SUS)
% |
(52
E=d
E CAD Item Code Item Name Material Finish Weight (g) Box (pcs) Carton (pcs)
[G]=0) 100-011-198 RS-38S Stainless Steel (SUS304) Satin 20 20 200
[Parts Included]
@Truss head screw M4 x 25
£ *
- L
cl c
I
\/ *
M4 Depth 12
ot f -
fe—H—!
Tt [ a0 [T L Item Name Material Finish Di | D:]| H t | Weight(g) | Box (pcs) | Carton (pcs)
a0} 100-012-080 EXSEL20 20| 10| 18 4 5 48 1152
IG1i=0 100-012-081 EXSEL25 . . 25| 11 18,5 | 4.5 8.5 48 1152
Aluminium Alloy Anodised
[cd|EE| 100-012-082 | EXSEL30 30| 12 19 5 15 48 1152
[ci | EB 100-012-083 EXSEL35 35| 13 16.5 24 576

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

5

STAINLESS STEEL KNOB RSS

N

st Jous

®Hollow and light.

[Applications]
®Medical/professional sinks, cars, and ships, etc.

R ST11Nd ‘SITANVH

el [Parts Included]
= ®RSS-255, RSS-25M, RSS-30S, RSS-30M: Truss head screw M4 x 30
(SUS)
. ®RSS-38S, RSS-38M, RSS-50S8, RSS-50M: Truss head screw M5 x 30
Satin (SUS) LARGE
HANDLES
H HANDLES
(FRONT
| SCREW
777N d MOUNT)
/ = HANDLES
| i (BACK
| F;: S%REW
I O 5 MOUNT)
2 i}
\ i RECESSED
| == PULLS
\\ y
- LATCH
oS | CAD Item Code Item Name Material Finish H | D | Di| d |Weight(g)| Box (pcs) | Carton (pcs) HANDLES
G 100-011-194 RSS-2 ti 2 2
Gi=0] 00-011-19. SS-258 S.a in 2 | 25 | 18 85 0 00
| R 100-011-190 RSS-25M Polished Ma 20 200
G ]=0] 100-011-195 RSS-30S Satin 23 | 30 | 20 1 20 200
< |E3 100-011-191 RSS-30M Stainless Steel (SUS304) Polished 20 200
< | ER 100-011-196 RSS-38S Satin o7 | a8 | 25 16 20 200
i |EE| 100-011-192 | RSS-38M Polished M5 20 200
Gll=0] 100-011-197 RSS-50S Satin 34 | 50 | 35 30 20 200
G i=0] 100-011-193 RSS-50M Polished 20 200
21 45 [Remarks]
: @Pin position and size may vary.
2 [Parts Included]
- § * ®Truss head screw M4 X 25
= i o
~ a — — |
- : +
N
! M4 Depth 10
ot [ a0 [N T Item Name | Material Finish D P Weight (9) | Box (pcs) | Carton (pcs)
- |EE 100-010-721 MRB-18 18 5 38 30 300
Brass White Bronze Platin:
—|E| 100-010-722 | MRB-24 ' ze Flaiing 24 | 55 70 30 300
H 45 [Remarks]
- @ Pin position and size may vary.
= [Parts Included]
/\ [ - 1 T ®GLA-12: Truss head screw M3x 25
N | a ®GLA-16, GLA-20: Truss head screw
\J T i ! M4 x 25
d Depth S
3.5
W CAD Item Code Item Name | Material Finish D H T P d S | Weight (g) | Box (pcs) | Carton (pcs)
- |EEJ| 100-010-718 GLA-12 12 | 18 | 85| 35 | M3 8 14 50 -
- |E&| 100-012-323 GLA-16 Brass White Bronze Plating 16 | 22 | 11 4 va | 10 29 40 400
- B8 100-010-720 GLA-20 20 | 25 | 14 4.5 52 40 400

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
>
z KNOB SGL
m
w H R ® Compliant with flame retardancy standard
- p . UL94-HB.
< & =) e
- = F vy}
(7 = | /- \ i o [Remarks]
e | \J L} ¢ @Pin position and size may vary.
l d Depth S [Parts Included]
J Slleg @®SGL-12: Truss head screw M3 x 28
w ©®SGL-16, SGL-20: Truss head screw M4 x 28
LARGE
HANDLES
GAF\{’\(‘)EI)\}'FS E Item Code Item Name | Material| Finish | D H T P| B R d S Weight (g) Box (pcs) | Carton (pcs)
SCREW [cd|EE| 100-012-016 SGL-12 Satin 12 | 18 85 |3 5 2 M3 9.5 1 60 1800
__ MouNT) [Gli=0] 100-012-017 SGL-16 ABS 16 | 22 11 4 13.5 2 40 1200
HANDLES Chrome 2.5 M4
BACK [cd|Ed| 100-012-018 SGL-20 20 | 25 | 135 |5 25 15.5 3.5 30 900
SCREW
MOUNT)
" e STAINLESS STEEL PULL SD sus|
PULLS
H [Parts Included]
/4 /j. y ; - @®Truss head screw M4 x 25
2 A
LATCH — ”E// J
HANDLE! —
s Polished Satin |
2xM4 Depth S
ot [ a0 TN L Item Name Material Finish L | H |[t] D [P]s][weight(g)|Box (pcs)|cCarton (pcs)
100-015-022 SD-24S Sati 80 800
i |EN ain 245 | 25 |55| 165 18] 5 10
€1 |EB 100-015-023 SD-24M i Polished 80 800
Stainless Steel (SCS13) -
[cd |EB 100-015-020 SD-30S Satin 305 | 315 |65| 205 |21 6 o0 50 500
G li=0] 100-015-021 SD-30M Polished ’ ’ ’ ’ 50 500
%SCS13 is equivalent of SUS304.
[Remarks]
- - ®Pin position and size may vary.
[Parts Included]
' b, @Truss head screw M4 x 25
c M4 Depth S
!
o
4 o
T
d
=g
MCAD Item Code ltem Name | Material Finish D| A [B|C/H| h P | P1 |S| Weight (g) | Box (pcs) | Carton (pcs)
- |EE| 100-018-042 | MKZ-15PB Brass/Clear 50 500
[=0] 100-018-043 MKZ-15CR Chrome 50 500
- |EE 100-018-044 MKZ-15BNI Black Nickel 16| 8 [15(2|20(135| 8 |55 |6 11 50 500
[Gli=0] 100-018-045 MKZ-15WB White Bronze Plating 50 500
— |EEl| 100-018-046 MKZ-15SB | Zinc Alloy Satin Gold 50 500
- |E3 100-018-047 MKZ-21PB (ZDC) Brass/Clear 50 500
[=0] 100-018-048 MKZ-21CR Chrome 50 500
- |E& 100-018-049 MKZ-21BNI Black Nickel 21|125|20|3|26 (17 |12 |45]|7 29 50 500
[Gli=0] 100-018-050 MKZ-21WB White Bronze Plating 50 500
4 |E8| 100-018-051 | MKZ-21SB Satin Gold 50 500

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
STAINLESS STEEL KNOB CU-L-35 susll &2
(=]
m
Satin -~ o5 45 5 @Finish: Combination of polished and satin. (72
¥ Y g
ul \1 L T 8 | po [Remarks] =
o | ‘4 @Pin position and size may vary. ::
© | \@> 2 [Parts Included]
i \® M4 Depth 10 @Truss head screw M4 X 25 (SUS)
No. | Part Name Material Finish
e T1%" @ | Body 1 |Stiness Stel (SU5303)| Poished and Satin Combinaion  LARCE
@ | Body2 |Stainless Steel (SUS304) Polished
"y ® Pin _|Stainless Steel (SUS303) HANDLES
(FRONT
SCREW
RoHS | CAD Item Code Item Name Weight (g) Box (pcs) Carton (pcs) _MoNT)
i |EE] 100-012-824 CU-L-35 60 10 - :’éﬁ“cﬁ’('fs
SCREW
MOUNT)
STAINLESS STEEL PULL RD sUs316 [
PULLS
| @®Easy to grasp.
-
_ y [Parts Included]
- B ®Truss head screw M4 x 25 (SUS)
LATCH
HANDLES
< |—.2xM4 Depth S
RD-55SM o (o
H—
RoS | CAD Item Code ltem Name Material Finish L H B P S Weight (g) Box (pcs) | Carton (pcs)
i | BB 100-901-049 RD-55SM | Stainless Steel Polished 55 23 9.5 42 8 50 30 360
G 1l=o) 100-901-050 RD-90SM (SCS14) 90 25.5 10.5 74 | 10 80 20 240
%SCS14 is equivalent of SUS316.
®Easy to grasp.
RD-90BN [Parts Included]
©®Truss head screw
44—+
2xd Depth S
RD-45SL
H
E CAD Item Code Item Name | Material Finish L|P H B d | S | Weight(g) | Screw | Box (pcs) | Carton (pcs)
i |EE| 100-012-331 RD-45CR Chrome 40 480
100-012-333 RD-45WB White B Plati 40 480
Gi=0) e ronz.e 2ng 45132 | 19 82 | M3 |7 22 M3 x 28
- B8 100-012-330 RD-45BN Black Nickel 40 480
< |EB 100-012-387 RD-45SL Paint/Silver 40 480
G 1l=0) 100-012-335 RD-55CR | Zinc Alloy Chrome 30 360
[d|EE| 100-012-337 RD-55WB | (ZDC) |White Bronze Plating | 55 | 42 | 23 9.5 8 35 30 360
100-012-334 RD-55BN Black Nickel 30 360
Gli-o ack Jicre M4 M4 x 28
i |EE| 100-012-162 | RD-90CR Chrome 20 240
< |E3 100-012-341 RD-90WB White Bronze Plating| 90 | 74 | 25.5 | 10.5 9.5 63 20 240
G l=0] 100-012-338 RD-90BN Black Nickel 20 240

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

PUSH KNOB PK04

@®Knob can be pushed in when not in use. And no projection from the
door surface.

®Able to install to door thickness 15~35mm with cap included, 29~39mm
with PKO4VB (sold separately).

R STINd ‘S3TANVH

[Remarks]
®When processing the mounting holes on wooden door, please clear wood

LARGE

\_.-w'} /

Nt scraps before installation.

HANDLES ®When installing knob body and supplied screws, do not tighten with
excessive force. (Recommended tightening torque: 4kgf - cm)

ryﬁ’\(l)%fs ®Bracket for sheet metal not included.
SCREW [Parts Included]
MOUNT) ®Truss head screw M3 x 20
HANDLES [Sold Separately]

BACK
gCREW @ Cap for thick door (PK04VB)

MOUNT)

RECESSED
PULLS

[Cut Out Dimensions]

LATCH
HANDLES

BN CR GA

- ¢28+32 -
~— ¢40"§% —~

SR =
\ . Rotation stop hole /
\-._____./ (door back side) 25 H
$2.1 Depth 2.5
DN PKO4VB (sold separately) LDOC" surface

[Door Thickness 15~25] [Door Thickness 26~35] [Door Thickness 29~39] [Bracket for Sheet Metal] Example
|
Truss head screw Cap for thick door PK04VB (A0 |
(sold separately) © | | e
~—¢38 ! \q/ !
! : y! I
== = v Pl
= o ¥ =) ! @l l
5 2 '4‘ HE (/1)4/-0/8%/// LN | 7 & i i &
8¢ e (Counterboring) 3 § 4 / | 22 ]
N AP Y- o s 2 X 428732
8< W Hole diling) |~ % QE (Hd%;min& 53 4x93.5
N =i = 63
Door surface  $19771= ‘ =
~— 63— @ SE E—
44
No.| Part Name Material Finish / Colour o L:')
0 Body ABS See Below ! !
@ Knob I L:::::J +
% Gu(iszvslrate Zinc Alloy (ZDC) chc;::;i?ainc
® Rotor
® Spring Stainless Steel Plain
@ Cap ABS Black
- Spring Pin Stainless Steel -
[Body]
RoHS | CAD Item Code Item Name Finish Door Thickness (DT) Bore Depth H Weight (g) | Box (pcs) | Carton (pcs)
- B8 100-015-025 PKO4GA Gold 20 200
[€1|EE| 100-015-024 PKO4CR Chrome 15-35 DT 15~25 : H = None (¢ 28 Hole), 76 20 200
- |E3 100-015-026 PKO04BN | Black Nickel DT 26~35:H =DT - 25 20 200
[1 | EB 100-012-554 PK04DN Nickel 20 200
3 When using the supplied cap.
[Cap for Thick Doors] Option
RoHS | CAD Item Code Item Name | Door Thickness | Bore Depth H Material Finish | Weight (g) | Box (pcs) |Carton (pcs)
| - 100-910-039 PK04VB 29~39 None (¢ 28 Hole) | Stainless Steel (SUS430) | Plain 13 100 800

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

9

zweiL STAINLESS STEEL PUSH KNOB ZL-1908 @

@®Knob can be pushed in when not in use. And no projection from the
door surface.

@ Superior “Zwei L Finish” .
Zwei L represents the very pinnacle of ultra-premium Japanese
hardware design. Contrasting bands of mirror finish and lustrous
satin on a faceted profile give jewel like highlights which flatter any
architectural space.

R ST11Nd ‘SITANVH

LARGE
[Parts Included] HANDLES
T h M3 x 2 T —
@ Truss head screw M3 x 25 (SUS) ANDLES
[Cut Out Dimensions] g@é’é‘vﬁ
// MOUNT)
HANDLES
[Door Thickness 13~23 mm] [Door Thickness 24~23 mm)] g@ggw
Truss head screw ; T MOUNT)
) o o
@\ t_ﬁ N S % RECESSED
) [a) ST T 19 PULLS
[ I S 18 “f’ s
R  hnenlZh = ||
- =
/ﬁ//( u_l 2 Rotation stop hole
) | § (door back side)
= i < : [a} $2.1 Depth 2.5
a Gj' ‘ e d ‘ T I3 25 H
< S LATCH
g PT‘»—} ] 1 % HANDLES
£ L 19 ] L J Door front side _
= — $32 —! P $19 =
§ - $32—
No Part Name Material Finish / Colour
) Body Stainless Steel (SUS316) Zwei L Finish
@ Cap ABS Black
E CAD Item Code Item Name | Door Thickness DT Bore Depth H Weight (g) | Box (pcs) | Carton (pcs)
IG’]i=0) 100-011-033 ZL-1908 13~33 DT 13~23 : H = None (¢ 28 Hole), DT 24~33 : H = DT - 23 134 1 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

X
>
=8 KNOB (SMALL) 117
(=]
rC
m . .
(% 5¢5=—L—= [Applications]
b M6 5 ®Medical equipment, OA equipment, and
S / © testing equipment, etc.
[ | |- o<
- N
: D@
’@ No. | Part Name Material Finish / Colour
LARGE ) Knob PP White, Black
HANDLES @ | Screw Steel (SWCH) Clear Zinc Chromate
;AF‘{’\(‘)[I)\}'FS e E CAD Item Code Item Name | Colour| L |Weight (g)| Box (pcs) | Carton (pcs)
SCREW - |E3 100-932-007 117-10110 | White | 10 7 200 -
___ MOUNT) - |E8| 100-906-561 | 117-10108 | Black 8 100 -
HANDLES —|E8| 100-048-063 | 117-10102 | White | 0| 8 200 -
(BACK
o
)
s KNOB (MEDIUM) 117
PULLS
10 11{=—25—» [Applications]
PULLS = d ®Medical equipment, OA equipment, and
& Y testing equipment, etc.
KNOBS / ) / @
/ | Qo q
' = L og = =}
< 2
LATCH L LY !
HANDLES —|_ @@
No. | Part Name Material Finish / Colour
@ Knob PA Black
@ Screw Steel (SWCH) Clear Zinc Chromate
E CAD Item Code ltem Name | d | Weight (g) | Box (pcs) | Carton (pcs)
- |EE 100-048-053 117-10701 | M8 27 200 -
- B2 100-048-052 117-10702 | M10 39 100 -
[Applications]
®Medical equipment, OA equipment, and
testing equipment, etc.
Y
™~
©
=
'
1

No. | Part Name Material Finish / Colour
@ Knob PE Black
@ Screw Steel (SWCH) Clear Zinc Chromate
ﬂ ltem Name | d |Weight (g) | Box (pcs) | Carton (pcs)
- |E&| 100-014-103 | 117-10313 | M6 10 100 -
[e3|EE| 100-022-300 117-10327 | M8 15 100 -

KNOB (MEDIUM) 117

[Applications]
8-48.7=L— ©®Medical equipment, OA equipment, and
testing equipment, etc.

//
.
\\\;
- i
ol I
14

No. | Part Name Material Finish / Colour
) Knob ABS Black
@ | Screw Steel (SWCH) Clear Zinc Chromate

RoHS | CAD Item Code Item Name | L |Weight (g) | Box (pcs) | Carton (pcs)
[ |EB 100-022-049 117-11707 | 12 10 200 -
- |E8| 100-014-104 117-11703 | 15 11 200 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

1

FLUSH SLAM LATCH P10-55H

®Low profile allows for directly installing to panel surface.
@Pull lever to open.
- ®Lever can be held in the raised state.
@ Latch bolt comes out when lever is pushed down.
®Lever snaps to the end when slightly pushed down.

R ST11Nd ‘SITANVH

Stroke (5.5) »— 5
3 ° LARGE

HANDLES

HANDLES
(FRONT
SCREW
MOUNT)

HANDLES
(BACK
SCREW
MOUNT)

11.5

S

e 32 .

[Cut Out Dimensions]

4x¢3
RECESSED

4x$3.5 PULLS

PULLS
&
KNOBS

LATCH

»He1.2

HANDLES

{}J

5
5

2.5 30

Part Name Material Finish
) Body

@ Lever

(4]
=z
°

»

Brass Nickel

CAD Item Code
EE| 140-049-306

Item Name | Weight (g)
P10-55H 40

Box (pcs) | Carton (pcs)
500 -

FLUSH SLAM LATCH LJ-61

@ Suitable for various door thicknesses.

®Can also be installed to a thin panel by changing the installation
position of back plate.

®Recessed latch with little projection from door surface.

®Can be released from inside.

[Parts Included]
®Pan head screw M5x 12 (SUS316)
®Pan head screw M5 x 18 (SUS316)

-

- ]
F s ~ F Fa
i ) o — [Cut Out Dimensions]
7 L-e1-WT " LJ-61-BL
No. | Part Name Material Finish / Colour
@ Cup PC ;\":’,\ ™
@| Lever Black, White 85
® Latch POM ’ E‘ —l Y
@ | Back Plate PC [
(® |Counter Plate| Stainless Steel (SUS316) Barrel Polished | ’P:?SX N g
[Screws] 3 marked part on the drawings Pan head screw M5 Pan head tapping screw 5
T D Thick s (Not included) = (Not included)
ype oor Thickness crew Type A @ Type B
Tvoe A 0.8~7.5 Pan Head Tapping Screw M5 X 12 5) T~ ]
¥p 8~12 Pan Head Tapping Screw M5X 18 Fq‘m
12.5~18.5 Pan Head Tapping Screw M5 x 12 Q1
Type B -
19~22 Pan Head Tapping Screw M5 X 18 18 2x8.6x5.5 Oval
»32- <
_RoHS | CAD Item Code Item Name Colour | Retaining Force N | Retaining Force kgf | Weight (g) Box (pcs) Carton (pcs)
[Cd|EZ| 140-050-031 LJ-61-BL Black 15 60 10 120
Gl=0] 140-059-200 LJ-61-WT White 10 120

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

FLUSH SLAM LATCH LC-65A

©Pull paddle handle to open.

®Door will be latched when closed.

®Mounting screws are invisible from door surface.

@Easy installation. Insert the latch body through cut out section and
simply screw-on the back plate.

®Latching margin: 5mm (Small R is required at the corners on the

R STINd ‘S3TANVH

frame side)
LARGE
HANDLES [Remarks]
T ANDLES ®Please contact us when using other than the recommended door thickness.
(FRONT [Parts Included]
ﬁ%ﬁ') @®Pan head screw M4 X 8 (SUS)
HANDLES . .
(BACK [Application Example] [Installation] [Cut Out Dimensions]
SCREW —— 4
MOUNT) ] ~5gl5—— )
. ‘ !
A :
RECESSED - ‘
PULLS <;'J 3
] "C’
PULLS l 185 g
& - 5
KNOBS | g S i - o B ‘
¥:N <+ ev (&)

LATCH

2
]
2
g
’23\1
o
-
®
3
=
|
u

HANDLES
~A45—»
No. | Part Name Material Finish / Colour ?
©) Body Aluminium Alloy Silver R - 3
@ | Latch Bolt POM White 9 ‘;"I
® Cover ) i
@ | Back plate Stainless Steel (SUS304) Barrel Polished .7354.
RoHS | CAD Item Code Item Name Door Thickness Weight (g) Box (pcs) Carton (pcs)
1 |EE| 140-050-206 LC-65A 2~3.2 108 10 100

FLUSH SLAM LATCH LC-48

®Door will be latched when closed.

®Low profile eliminates worries about protruding to the inside of
equipment.

®Mounting screws are invisible from door surface.

®UL94V-0 rated flame retardant material.

®Non-Handed. Can be installed on left or right side.

@Easy installation. Insert the latch body through cut out section and
simply screw-on the back plate.

[Parts Included]

[Installation] [Cut Out Dimensions] @®Pan head screw M4 x 10 (SUS)
~—— 42,543 ——»
' | |
Y] | @ ]@% 3
b |
3 | ® o
1 5 2
T 7] g
k S 3
Back plate S =
S o5
L 3
fod—n :
No.| Part Name Material Finish / Colour +—=Stroke (5) i
@ Body . . <
Stainless Steel (SUS304) Barrel Polished o
@ Handle =
[©) Latch PBT (Glass Reinforced) White
@ | Back Plate Stainless Steel (SUS304) Barrel Polished
RoS | CAD Item Code Item Name A Total Catch Size B Door Thickness C Weight (g) | Box (pcs) Carton (pcs)
i |EE| 140-021-199 LC-48-3 3.5 3.2 1~1.6 35 40 400
[€1|EE| 140-021-200 LC-48-5 5.1 4.6 1~2.3 40 400

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

3

SNAP LOCK SX-48 Quick Installation & Temporary Holding

@®Door or lid can be opened/closed with a single touch.

@Easy installation by one-touch.

® With temporary holding function.
Even if multiple latches are installed, door can also be opened at
once by keeping all of them temporarily held.

@ Compliant with flame retardancy standards and UL94 standard.

R ST11Nd ‘SITANVH

[Remarks] LARGE
®If the door may fall off like a ceiling door, please fix it separately with screws. ~ HANDLES
HANDLES
(FRONT
SCREW
MOUNT)
- . Cut Out Dimensi HANDLES
[Application Example] [Installation] [Cut Out Dimensions] (BACK
SCREW
MOUNT)
1 = == 2
‘ Q HqH=7 2 8 RECESSED
Y ~dz 7 £ . PULLS
"% < Tk
13 ; < 8 9 PULLS
_ S} 48 «v) é’ I 38+g.5 o &
b 7 @ — 5 KNOBS
[How to Operate] 8* ™ o ™ Stopper
- LATCH
! 2 8 I HANDLES
L=l " T3 i
A
No. |Part Name Material
The door will be To temporarily hold The lever and latch 2
latched when closed. the door, slide the return to their original % II_B Od:/] PPANfULf“Vﬁé
lever to the end. positions when the atc OM (UL94HB)
door is opened. - Spring Stainless Steel (SUS304)

CAD
30)

Item Code
140-050-037

Item Name

Door thickness

Colour

Retaining Force N/pc

Retaining Force kgf/pc

Weight (g)

Box (pcs)

Carton (pcs)

SX-48

0.8~2.3

Black

49

5

11

40

400

PULL ATL-64 Quick Installation

®Easy installation by one-touch.

@Pull lever to open.

@®Door will be latched when closed.

@ Suitable for thin sheet metal (thickness: 0.7~1mm) with types for
inset and overlay doors available.

’ ﬁ [Applications]
.;l’ =] h'- @ Storage cabinets, lockers, small article cases, and dust boxes, etc.
= ! = -~ 52— -~ 64—
27 =
t ;i 1)
ATL-64-IN ATL-64-OT o {
22 = o3
ProR ([ Y L ¥ o
[Cut Out Dimensions] i w | ' l
Te]
)
= < )
!
I
T 13 64
o$ ~ e 13 ™
. - !y
| RN bl
EENSE i N
=
—57.8,— -
2
No. |Part Name Material Finish / Colour ATL-64-IN ATL-64-OT
@ Body ABS Dark Ivory
@ | Latch PA Natural
[©) Spring | Stainless Steel (SUS304) Plain
RoHS | CAD Item Code Item Name Description Door thickness Weight (g) Box (pcs) Carton (pcs)
G]l=0] 140-012-014 ATL-64-IN For Inset Door 0.7-1 445 175 -
i |EE| 140-012-019 | ATL-64-OT For Overlay Door ) ) 175 -

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

PANEL LATCH LC-PK32, LC-PL32 Quick Installation

@®Two types of lock/unlock methods available: lever type and key type.

®Lever and key are compatible.

@Turning the lever or key 90° counterclockwise to unlock the latch.

®With temporary holding function that holds the latch in unlocked
| state. Even if multiple latches are installed, door can also be opened
' at once by keeping all of them temporarily held.

LC-PL32-L-GR ©Key type prevents the door from opening unexpectedly.

(sold separately) @ compliant with flame retardancy standard UL94 V-0.Built-in spring is

T

R STINd ‘S3TANVH

LARGE LC-PK32-L-BL LC-PL32-GR
HANDLES made of stainless steel (SUS304).
HANDLES ( (W
— ;
(FRONT T 2| [Product Ordering]
SCREW S 24—
MOUNT) N e E}_ﬁ&\) ®Lock/unlock with key: Order body (without lever) + key.
T HANDLES l L Lever position T‘ ®Lock/unlock with lever: Order body (with lever).
(BACK 32 when unlocked ®Change from key to lever: Order lever.
a%%%lv}l) LC-PK32-K [Remarks]
0 o @g— (sold separately) ®Do not use the lever or key as a knob. It may cause damage.
RECESSED ~ ;;\‘ ®Do not reuse the lever once removed from the body.
PULLS r—Ei w 7 [Sold Separately]
\ © i L ®Lever (attached to LC-PL32)
PULLS P \® OKey
& '; o N
KNOBS o = \@>
~-13.6—1= 6 25.8—=
LATCH @
DL LC-PL32 type shown.
~14.5> 6.7
f No. |Part Name Material
® | Body PP
L @ | Latch PBT
q @ | Spring | Stainless Steel (SUS304)
@ | Lever PBT
% The lever attached to LC-PL32 is the same as
A the optional lever.

s [Quick Installation] [How to Install the Lever] [How to Unlock with Key]
S 1. When inserting the body in | 1. Insert the lever straight. 1. Insert the key.
the mounting hole, the hook R

la-26+0.1-»

is stored inside the body.
] ; Door {
R ‘-
I =\ Hook

Body

2. Until it snaps, check if the lever
tip completely protrudes the

2. After installing, the hook
body bottom.

returns to its original position.

:ﬁ?..

Door thickness ++=

3. The latch is stored in the body.
At this moment, the latch will
not return to its original position
even if you release the key.

Key can not
be removed

Lever closed| |Lever opened

(locked) (unlocked)
[Body]
_RoltS | CAD Item Code Item Name Colour Door thickness Description Weight (g) Box (pcs) | Carton (pcs)
G0 140-020-694 LC-PK32-L-BL Black . 6 75 750
Without Lever

i |E2| 140-020-695 | LC-PK32-L-GR | Grey 121516 6 75 750
[ |EB 140-023-570 LC-PL32-BL Black R With Lever 7 72 720

I Ve
[ci | EB 140-023-569 LC-PL32-GR Grey 7 72 720
[Lever] Sold Separately [Key] Sold Separately
RoHS | CAD Item Code Item Name | Colour | Weight (g) | Box (pcs) | Carton (pcs) . . |Weight| Box | Carton
— RoHS Item Code Item Name | Material | Finish
[cd|EE| 140-023-568 LC-PL32-L-BL | Black 1 200 | 2000 (@) |[(pcs)| (pcs)
[Gli=0] 140-023-567 LC-PL32-L-GR | Grey 1 200 | 2000 G 140-020-696 LC-PK32-K | ZincAlloy (0C) | Nickel | 7 | 200 | 2000

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I
LATCH HANDLE LH-203 2
(=]
m
®Handle with latch. 0
®Suitable for sliding covers. g
=
-
(72}
R
Qq
33
QA LARGE
HANDLES
[} 1
3
> 50 HANDLES
(FRONT
— 4 SCREW
imensi _MOUNT)
[Cut Out Dimensions] 'ﬂ‘mc HANDLES
P.C.D.¢42 [‘\ Angular misalignment : g@%w
\ between handle and e = MOUNT)
. mounting base within " 3 ——
£2° [}
) 2 RECESSED
A-A Cutaway view =~ PULLS
,—// p
" R PULLS
- ~ 920
-~ &
' N KNOBS
f $ %,,
A LATCH
HANDLES
50 19+
No. | Part Name Material Finish
O] Handle Aluminium Alloy -
?) Bracket Brass Black Enamel Finish
©) Body
e S 4.
_ @ Shaft Steel (S45C) Coloured Zinc
oS | CAD Item Code Item Name Weight (g) Box (pcs) | Carton (pcs) ® Plate A Steel (SPHC) Chromate
IGll=o) 140-010-223 LH-203 500 2 24 ® Plate B Steel (SPCC)
. Z
zweiL STAINLESS STEEL DOOR HANDLE ZL-1506 DIGEST sus316 JrrEgis

@ Superior “Zwei L Finish” .
Zwei L represents the very pinnacle of ultra-premium Japanese
z . hardware design. Contrasting bands of mirror finish and lustrous
& "T'\ satin on a faceted profile give jewel like highlights which flatter any
g architectural space.
@ Suitable for double-sided mount for glass/wooden/metal doors and
single-sided mount for wooden/glass doors.

G
E uﬁ-"

151

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

I

>

8 LATCH HANDLE MDHL @
=

f}‘, ®Latch handle for sliding doors of machine tools, etc.

el ®Latch is released when pulling the handle.

Cc [B l - . .

F -_ﬁ ®Brackets and pipes can be combined freely.

» Toughness & Beautiity 8Ll @®Two types of brackets available: In-line type and offset type.

R HANDLE

©Pipes are made of stainless steel or carbon fibre reinforced plastic,
either has 6 lengths available. By cutting the pipe, the total length
can be changed freely.

LARGE L @Carbon fibre reinforced plastic pipes are subject to UV-cut treatment
HANDLES |- to prevent discoloration.
A Y What is carbon fibre reinforced plastic?
(FRONT It is a light weight, high-strength materials also widely used for
a%ﬁv}’) aircraft, etc., contributing to the weight reduction of structure. Also,
T HANDLES the delicate mesh pattern brings a unique texture and high-quality
gB(?FEgW feeling.
MOUNT) @®Pipes may be sold separately.
®Linear rail for sliding doors with latch handles also available.
Eﬁffss S ®Design door handle MDH of the same appearance without latch
[ also available.
PULLS 1
iNOBS ﬁ - [Remarks]

®Brackets and pipes have separate item numbers. Please order together by
indicating each specification.
@Bracket is sold by piece.
& ®Hold the centre of handle for operation. Otherwise, the latch may not
'ﬁ 1 — operate properly.

LATCH
HANDLES

[Bracket] [How to Install]
1 Size 6 X
. Appropriate screw tightening
torque: 12.5 N+ m (127 kgf - cm)
Fixing parts
Pipe
| Fixing parts
g = / Insert the fixing parts (attached to the bracket) into both ends of the pipe until
N " ' \ their flanges contact the pipe ends, and then tighten the screws with a hex
| sl key size 6 (not included).
2. Bracket
MDHL-BSTL MDHL-BFTL Bracket MDHL-BSTR

MDHL-BSNL
Bracket
MDHL-BFTR

Bracket
MDHL-BFNL

VSize 4
Appropriate screw tightening torque: 12.5 N - m (127 kgf - cm)
*¢Please use screw adhesive.

Insert the brackets on both sides into the pipe, and tighten the set screws
(attached to the bracket) with a hex key size 4 (not included).

DESIGN DOOR HANDLE MDH [EIp

[Installation Direction of Bracket]

3.
[With Hook] [With Hook]
MDHL-BSTL MDHL-BSTR
MDHL-BFTL MDHL-BFTR
- [Without Hook] [Without Hook] -
Opening MDHL-BSNL MDHL-BSNR Opening Mounting
direction MDHL-BFNL MDHL-BFNR direction surface
h ﬁ
[With Hook] [With Hook]

MDHL-BSTR MDHL-BSTL
MDHL-BFTR MDHL-BFTL

[Without Hook] [Without Hook]
MDHL-BSNR MDHL-BSNL
MDHL-BFNR MDHL-BFNL

Fix on the mounting surface with M6 screws (not included).

Refer to I : P462

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

[Installation of Bracket and Pipe] §
Bracket MDHL-BS (in-line type) Bracket MDHL-BF (offset type) Door  Frame =
= = =)
= = =
o % o2 {/":
~68> o @ -~68> £ £ 5
5157« © % 5157 £ % =
_ -5 = i IR O I Cc
44, 44 M = =
r —— I — N (2
ey 'r—! - A ¥ v r—! [ b R
i o & i i
[T0) ™ ww( 6 1) 8
oal ,c\> N
~ ‘ 4 4
B-B Cutaway view C-C Cutaway view
2 y VI Depth 10 2) Tes u y VISl Depth 10 h’;ﬁg&s
<50 50+ )
= ! _'_&_ [ - ! HANDLES
A - E% El E (FRONT
T 7 — 7 { ¥ /| b SCREW
=% Bracket Bracket [ J:< 175 _MOUNT)
MDHL-BSNL _, MDHL-BENL —! pithd HANDLES
! = (BACK
| Pipe Pipe 2 532 S%REW
— S i ¢ MOUNT)
< < 8
Bracket ‘ Bracket | RECESSED
| | MDHLBSTR MDHL-BFTR @ PULLS
L { 4 o,
B[+ B c i col| &= I
~ 1 1 *‘ v 1 | 11 3 PULLS
an 4 |_ 2 A
[Bracket] + @ oo KNOBS
No. Part Name Material Finish / Colour LATCH
©) Base Zinc Alloy HANDLES
@) Arm (ZDC) [Cut Out Dimensions for Door] [Cut Out Dimensions for Frame]
Matte Chrome
® Hook Steel (SPHC) Min, 25-=——= 7
@ Rotating Parts Zinc Alloy I~ yDoor | I Frame
® Fixing Parts (ZDC) Blain St <2b_’front side i | front side
® | Hexagon Socket Set Screw 188 | Stainless Steel _'" , g% | |
@ Cap POM Black o | i
] : 445+85 i 1
[Bracket] < 4'>,| i |
—_— ! o | o
RoHS | CAD Item Code Item Name |Hook|Weight (g) | Box (pcs) | Carton (pcs) s ! o . 4¢8: o
— l - | |~
i |Ed| 140-025-544 | MDHL-BSTL | w/ 1004 1 1 : vl f 1y
G |E3| 140025545 | MDHL-BSNL | wio | 940 1 1 i vl ! |
i |E8| 140-025-546 | MDHL-BSTR | w/ 999 1 1 g A e 51 e
0 2 Q
[EH || 140-025-547 | MDHL-BSNR | wo | 935 1 1 Door front side 108 oin (welding)/ ~a1el " ©
EE| 140-025-548 | MDHL-BFTL | w/ 1091 1 1 In the above drawings, the upper parts are for MDHL-BSNL or
(| EE| 140025549 | MDHL-BFNL | wio | 1026 1 1 MDHL-BFNL, and the lower parts are for MDHL-BSTR or MDHL-
[cd |EB| 140-025-550 | MDHL-BFTR | w/ | 1095 1 1 BETR.
[ |EE| 140-025-551 | MDHL-BFNR | w/o | 1028 1 1 When processing 3¢ marked part, noted to align it with the centre
[Pipe] of hook @ of bracket.
et | cap ltem Code ltem Name Bracket| Material | Finish Pipe Length | Mounting Hole Pitch .Plpe Load capacity | Load capacity | Weight | Box | Carton
| L A Thickness N kgt (9) |[(pes)| (pes)
€1 |EE| 140-025-552 MDHL-SPS240 200 240 285| 1| 10
[€d |EE| 140-025-553 MDHL-SPS340 Staint 300 340 430 1| 10
Ei|EE| 140-025-554 MDHL-SPS440 g't';zlss Satin 490 440 ) 566| 1| 10
i |EE| 140-025-555 MDHL-SPS540 (SUS304) 500 540 712 1| 10
EE| 140-025-556 MDHL-SPS640 600 640 845| 1| 10
€1 |Ed|  140-025-557 MDHL-SPS740 | MDHL- 700 740 997 | 1| 10
i |Ed| 140-025-558 | %MDHL-SPC240 | BS 200 240 - |25 | -
Ei|EE| 140-025-559 MDHL-SPC340 C;Lb"“ 300 340 107 | 25 | -
Ei|E| 140-025-560 MDHL-SPC440 T painy | 400 440 142 25| —
Reinforced 2.5
EEl| 140-025-561 | 3MDHL-SPC540 Polymer Clear| 500 540 - |25| -
[€H |EEl| 140-025-562 | 3MDHL-SPC640 (CFRP) 600 640 - 13| -
1 |Ed|  140-025-563 | MDHL-SPC740 700 740 490 50 - | 13| -
[Ed |EE|  140-025-564 MDHL-FPS240 225 240 318 1| 10
[Ed |EEB| 140-025-565 MDHL-FPS340 Staint 325 340 465| 1| 10
B8] 140-025-566 MDHL-FPS440 g'tr;:lss Satin 425 440 ) 603| 1| 10
[ |EE| 140-025-567 MDHL-FPS540 525 540 749 | 1| 10
(SUS304)
[€d |EE| 140-025-568 MDHL-FPS640 625 640 883| 1| 10
[EH|EE|  140-025-569 MDHL-FPS740 | MDHL- 725 740 1032 1| 10
€1 |EE| 140-025-570 | ¥MDHL-FPC240 | BF 225 240 - |25 | -
E8| 140-025-571 | MDHL-FPC340 C;Lbon 325 340 - |o2s] -
Gi|Ea| 140025572 | MDHL-FPC440 Reir:fo'::e | Painy | 425 440 ”s -~ Jes| -
[€d|EB| 140-025-573 | 3MDHL-FPC540 Polymer Clear| 525 540 : - |25| -
[EH|EE| 140-025-574 | 3MDHL-FPC640 (CFRP) 625 640 - 13| -
€1 |EE|  140-025-575 | ¥MDHL-FPC740 725 740 - 18| -

¥Made to order.

SUGHTSUNE



MAREK Industrial a.s. ** marek.eu ** +420541420811**180227

X
>
P4
(=]
-
m
»
)
c
-
r
(2]
Q0

LARGE
HANDLES
HANDLES
e
MOUNT)
== Understandable! Selectable! Usable!
- Sugatsune Website
http://www.sugatsune-intl.com
KNOBS
L
HANDLES

4 )

You can visit the website to
NEW . icr)lroercr::ar:ieovr\: product ’ . \\Zijg\:)product introduction
- Browse digtalweb  Uso productseecton ol
catalogue A
[]:] [T] Refer to Back Cover [T] Refer to Back Cover
— * Download installation
instructions
SUGATSUNE | Search |
\_ J

SUGHTSUNE



